Smooth/Low Speed Cylinders

CLY/CU1X series

Reducing stick-slip in a low speedirange
Smooth Cylinders' CLC1Y Series
Stable operation possible even at

a |OW Speed Of 5 mm/S (Measurement based on JIS B 8377)
| Low sliding possible even in Lightweight/Improved functions

r=

s EH

()

bi-directional operation (New structure equivalent to the standard models)

Can be operated regardless of the direction of pressure. - Better visibility for auto switches i
(only when the D-M9[J/A901 are used in the CJ2Y, CM2Y, CG1Y)

Interchangeable with the standard models ¥ - Female rod end available as standard (CG1Y, CM2Y, CQSY, CQ2Y) |RH
(CJ2Y, CM2Y, MBY, CA2Y, CS2Y)

RzQ
cJ2y cmMm2y = CG1Y MBY
(210, 216) (220 to 040) A i (220 to @100) 2 (232 to 2100)
"_ Y, - = |
- = B ' e .

A ‘B = =
CA2Y cs2y cQsy cQzy

(912 to ©25) (932 to 2100)

(240 to 8100) (9125 to 160)

= =
= e

Reducing adhesion/quick extension:

Low Speed Cylinders CIX Series
Smooth operation possible even at 0.5 mm/s

(1 mm/s for 16 or smaller)

Minimum operating pressure is reduced in half. § Improved functions

(Compared to previous version) (New structure equivalent to the standard models)
The new structure has improved low friction characteristics. - Better visibility for auto switches
(CM2X, CQSX, CQ2X) (only when the D-M90/A90 are used in the CJ2X, CM2X)

. QE le rod end ilabl tandard (CM2X, CQSX, CQ2X)
I Interchangeable with the standard models — o o e

CJ2X cmMm2X cQasx cQ2x
(210, 016) =" (020 to 240) . (212 to 025) (232 to 8100)
¢‘\‘53:)‘V
Clean room specification Low-Speed Rotary Actuators oo fhe Best Preumatics

10-/11- Series

Low-speed compact rotary actuator  Low-speed rotary table _

CRQ2X series MSQX series i
L ‘%;J D0
AF, ¢

3 S = X0

135

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Smooth/Low Speed Cylinders

| 1] || | L |||
0.07 Large
N[ T N
- ow speed cylinder \ N
© 006 Currentmodel: r i *)
o Standard cylinder
s | XBY, XB13 g o yander |1y
[~
© o005/ 00 d D JH‘/ 8
7 Tt 1] <
@ T — g
8 o004 Replaceab | %
o O peed a ~~~\ e
£ \\ >
§ 0.03 E
o / ‘\ (/2]
€ oo02 4
2 /|
£ - — ]
E 0.01 2 U DE U U 0]0(s
: i : ' S ”
mal
o1 10 100 1000

Piston speed (mm/s)

_“ Smooth cylinder

I Low speed operation (from 5 mm/s)
I Low pressure operation
[ Pressure on both sides

- Pressing force control

- Balance control of winders etc.

- General low-speed operating applications
- Tension control

_g Low speed cylinder (New model)

W Low speed operation (from 0.5 mm/s)
M Low pressure operation

M Pressure on both sides

M Reducing adhesion

- Load transfer without a lateral load (Lightweight trays etc.)
- Transfer with less adhesion (Wafers etc.)
- Higher-accuracy pressing force control

_6 Low speed cylinder

(Current model: -XB9, XB13)

I Low speed operation

Function

@ Smooth cylinder

@ Low speed cylinder

_G Standard non-lube cylinder

¥ General applications

© Low speed cylinder| @ Standard non-lube

(New model) (Current model: -XB9, XB13) cylinder

g CUX10: x
@ Low pressure operation (@) Others: O A A
@ Low speed operation O © O A
© Reducing adhesion O [©) @) A
O Reducing quick extension O o o A

CUX10: x
@ Pressing force control (@] Others: © (@] A
O Low sliding ©) [©) ®) A

©: Excellent O: Good A:Usable x: Handle with caution.
136

% S\VC

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



COY/CUX series

[l Selection Procedures (Reference Example)

Transfer Thrust control, Handling, Pressing

Purposes

. Thrust control length 2 mm or longer
< .
Less than the minimum

operatng pessure

Low pressure, low thrust|

The minimum operating
ressure or more
50 mm/s ! 500 mm/s
ormore ﬂ or more
Less than

Without bal Thrust onirol length Less than the minimum
thout balancer or
thrust control 500 mm/s 100 mm/s less than 2 mm operating pressure

[P ——— or more S I
Low sliding fe====) @)@ E) Follow-up speed ) ©) Low pressure, low thrustfrs)y. )
With balancer or Less than ‘The minimum operating
thrust control 100 mm/s pressure or more

Required
2]

Piston speed Piston speed Control stroke

Less than
50 mm/s

Required Required

= |[= B ERIERES
=9 H m m m

Low adhesion Low adhesion Low adhesion

Not required Not required Not required (Except CUX10) RZO
@ Consider using the smooth cylinder. @ Consider using the low speed cylinder (New model).
© Consider using the low speed cylinder (Current model: -XB9, XB13).
O Consider using the standard non-lube cylinder. @ Please consult with SMC.
B Glossary Explanation
Average piston speed Cylinder full stroke (length) divided by air pressure operating time.
Adhesive phenomenon Quick extension or delay occurs when cylinders are not operated for long hours.
Thrust control Control the pressing force by controlling air pressure in the cylinder.
Balancer Cylinders move along with the moving workpiece.
Balancer follow-up speed The speed of an air cylinder moving along with the workpiece at a small stroke.
| BV LRGTTE X {GIELR Calculate the cylinder thrust multiplying piston area by pressure. Piston area varies depending on models and bore sizes.
l Applicable Model/Bore Size
o (2] @ Smooth cylinder @ Low speed cylinder (New model)
Low speed .
Type Smooth cylinder cylinder Tie-rod ¢
cylinder Current model: ie-rof ompact
(New e | Cuen mocet
Small [ ] [ ] [ ] CJ2 Model | CJ2Y |CM2Y|CG1Y|CA2Y|CS2Y|MBY |CQSY|CQ2Y | CJ2X | CM2X |CQSX|CQ2X | CUX
Round [ ] [ ] [ ] CMm2 210 | © [ ] [ ]
[ ] [ ] CG1 012 [ ] [ ]
[ ] (] MB 016 | ® [ ] [ ] [ ] [ ]
Tie-rod [ CA2 220 [ K ) [ ] [ N ) [ ]
[ ] Cs2 025 [ K ) [ ] [ N ) [ ]
c [ ] [ ] [ ] CcQs 032 [ K ) ° ° [ ] [ N )
b [ ] [ ] [ ] CcQ2 040 [ ] [ ] [ ] [ ] [ ] [ ] [ ]
Free mount [ ] [ ] Ccu 250 [ ] [ ] [ ] [ ] [ ]
O: Standard 263 L] ° L] ®
280 [ N ) ° (] [ ]
2100 [ N ) ° (] [ ]
0125 [ ]
2140 [ ]
2160 D D-J
P.141|P.155|P. 172 P. 198|P.212|P. 183|P. 225 |P. 233 | P. 251 | P. 265 | P. 285| P. 294 | P. 309
-XO
137
ZSVC 3

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Smooth/Low Speed Cylinders CQUY/CQLIX series

Added compact foot brackets.

B Compact foot bracket has the same width as the
cylinder. Overall width reduced by up to 43% (¢12)

Overall width \_Compact foot bracket

shortened

B More compact installation space possible
¢ Short pitch mounting is possible.
¢ Allows installation close against a wall.

Installed state Shortened
installation width
|(— Bore Compact Current | Reduced width for short
size foot type foot type pitch mounting (mm)
(mm) | width A (mm) |width B (mm)[ 3 unit T2 units |3 units
12 25 44 19 38 57
16 29 48 19 38 57
20 36 62 26 52 78
25 40 66 26 52 78
32 45 71 26 52 78
40 52 78 26 52 78
50 64 95 31 62 93
63 77 113 36 72 108
80 98 140 42 84 | 126
100 117 162 45 90 135
+ Short pitch mounting is possible only without auto switch.
Please consult with SMC for mounting with auto switch.

H Height from the bottom of brackets to the center of
a cylinder is the same as the current model.

Compact foot bracket Current foot bracket

gmp

—_— - -

LH2' Ditﬂ Lﬂ LH1' lﬁj

Applicable Cylinders: CQSY (P. 225), CQ2Y (P. 233) (Smooth Cylinders), CQSX (P. 285), CQ2X (P. 294) (Low Speed Cylinders)

138

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Smooth Cylinders CLY series

Part numbers with rod end bracket and/or pivot bracket available

Not necessary to order a bracket for the applicable cylinder separately
Note) Mounting bracket is shipped together with the product, but not assembled.

For CM2Y

=)
m
=

=)
m
(]

Example) CDM2Y [C]20-50Z- N W -m9oBwW vt
Mounting T T Low
Speed
Pivot bracket Rod end bracket MaQ
Nil |None Nil |None
N | Pivot bracket is shipped together with the product, but not assembled. V | Single knuckle joint RHC
# Applicable to only mounting C, T, U, E, V, and UZ. W | Double knuckle joint
RzZQ
Kit of pivot bracket | Kit of pivot bracket With rod end bracket
and single clevis i and trunnion V: Single knuckle joint  W: Double knuckle joint
\ ‘ —
=G - Afe =
G ).
- 3 \/’Lk - 155 .
) | -«
For CA2Y
Example) CDA2Y [D]40-100Z- N W -m9oBwW
Mounting T
Pivot bracket Rod end bracket
Nil |None Nil |None
N Pivot bracket is shipped together with the product, but not assembled. v Single knuckle joint
* Applicable to only mounting D (Double clevis) and T (Center trunnion). W | Double knuckle joint
Kit of pivot bracket | Kit of pivot bracket With rod end bracket
and double clevis | and trunnion V: Single knuckle joint ~ W: Double knuckle
P— 3 joint
‘ Applicable Cylinders: CJ2Y (P. 141), CM2Y (P. 155), CG1Y (P. 172), CA2Y (P. 198), MBY (P. 183) (Smooth Cylinders) ‘
D-1
=X

139

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



cJj2y

cm2y

CG1Y

mBY

CA2Y

csz2y

casy

cQzy

140

cJ2y/cmzy/cGg1Y/mMBY/
CA2Y/CS2Y/CQSY/CQ2Y series

) Minimum operatini

Double
acting

10, 16

20, 25, 32, 40

20, 25, 32, 40
50, 63, 80, 100
32,40
50, 63, 80, 100
40

50, 63, 80, 100

125, 140, 160

12,16
20, 25
32, 40

50, 63, 80, 100

% S\VC

0.03

0.02

0.01

0.005

141

155

172

183

198

212

225

233

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Smooth Cylinder
Double Acting, Single Rod

J2Y Series

210, 216

How to Order

] cJ2yBIi6 -L ]
e

Smooth cylmder

|| N
m|m
W | =

)
m
(]

=13
S|E=

“ Mounting 9 Bore size o Head cover port location 9 Pivot bracket
B Basic [10] 10 mm | Nil None
E Double-side bossed ‘ 16 ‘ 16 mm ‘ Nil | Perpendicular to axis § o N Pivot bracket is shipped RHC
D Double clevis - together with the product.
Single foot : * Only for CJ2D (double clevis,
y e ool gele‘[g?:nr standar stoke (mm) A poial R |- Pt bracket s shipped toganerwin |RZQ
page [y the product, but not assembled.
F Rod flange 142. _
G Head flange * For double clevis, the product is
+ FootFlange brackets are shipped togeher ithte product but not assembled perpendicular to the cylinder axis.
+ For double-side bossed, the product is
6 Rod end bracket o Auto switch perpendicularto the cylinder axs. e Number of auto switches
Nil None [ Nil_| Withoutauto switch | Nil 2 pcs.
) Single knuckle joint * For applicable auto switches, refer to the table below. S 1pc.
W Double knuckle joint n “n” pes.
T Rod end cap (Flat type) 9 Auto switch mounting type
1] Rod end cap (Round type) [A] Rail mounting | @ Made to Order
# Rod end bracket is shipped together with the product, but ‘ B ‘ Band mounting ‘ Refer to page 142 for details.

not assembled.
* A knuckle joint pin is not provided with the single knuckle joint.
=+ Refer to page 148 for the double knuckle joint (with one-
touch connecting pin).

+ For rail mounting, screws and nuts for 2 auto switches come
with the rail.
= Refer to page 153 for auto switch mounting brackets.

= Refer to “Ordering Example of Cylinder Assembly” on page 142.
Applicable Auto Switches/Refer to pages 941 to 1067 for further information on auto switches.

. & o Load voltage Auto switch model Lead wire length (m) Preited | Applicabl
" 5 lectrical | 5 iring re-wire pplicable
Type| Special function 2 Band mounting Rall mounting 05| 1| 3|5 [None
ent g | (Output; " connector load
Y |g]emmy)  ee AC Indine |} Indine | (N | )| ©)| @) | )
3-wire (NPN) 5V12V MONV M9N M9INV M9N ® | ®@ ® O|—| O C ciruit
< Grommet -wire (PNP) ' M9PV M9P M9PV M9P ® | e/ O — O
=z X M9BV M9B M9BV M9B ® | ® @ O|—| O
H 2-wire 12V —
@ Connector — H7C J79C = o | — o0 0 —
-g o i indicat 3-yire (NPN) 5V12V MONWV | MONW | MONWV | MONW | @ (@ | @ O/ —| O IC circut| R
8 | " oolor mdaton) Yes | 3uire (PNP) [24 V| * — [ m9PWV | moPW | M9PWV [ M9PW | @ (@@ [O[—| © g
s 2-wire 12V M9BWV | MOBW |M9BWV | MOBW | @ (@ @ O —| O —
g w stant Grommet 3-wire (NPN) 5ViZV MONAV*' | MONA*! | MONAV*' | MONA*' | O |O |@|O|—| O C et
(2o oo Sire (PNP) ' M9PAV+| MOPA*" [MGPAV*'| MOPA*' | O [O |@ O [—| O
C 2-wire 12V M9BAV*! | M9BA*' |M9BAV*' | M9BA* | O |O | @ | O o —
Wi gposi put 2olr niatr 4-wire (NPN) 5V,12V — H7NF = F79F ® |— @ O|—| O |lCeiut
3-wire .
.:9 (g 5V — A9V A9 A9V A96 ® | —|®| —|—| — |[Ccirut|] —
= h — | 200v — — AT2 A72H (@ [—[@|—|—] —
o Grommet - —
° — L 100V | A93V#2 A93 A93V*2 A93 o o 00 — | —
g No ) 100 Vorless| A90V A90 A0V A90 ® |—|® | —|—| — |Coirut| Relay,
Nl 2-wire 12V '
k- Yes 24V — — C73C A73C = o | — o0 06 — — | PLC
2 Connector [No 24V or less — Cc8oC A80C = ® |—|®/® | ®  — |Coit
Diagnosicndcaon (oo indialo) | Grommet | Yes — — — — A79W = | —\e|—|—| — —
=1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.
=2 1 m type lead wire is only applicable to D-A93.
= Lead wire length symbols: 0.5 m Nil (Example) MONW 5m - Z (Example) MONWZ
im M (Example) MONWM None - N (Example) H7CN
3m L (Example) MONWL D'D

= Since there are other applicable auto switches than listed above, refer to page 154 for details.
= Solid state auto switches marked with “O” are produced upon receipt of order.
= The D-A90J/M9LI/A7J/A80L1/F701/J70] auto switches are shipped together, but not assembled. (For band mounting, only the auto switch mounting brackets are assembled before shipment.) .X|:|

141 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



CJ2Y Sseries

Specifications
—————
Bore size (mm) 10 \ 16
Action Double acting, Single rod
Fluid Air
Proof pressure 1.05 MPa
Maximum op ing pressure 0.7 MPa

Without auto switch: -10°C to 70°C

Ambient and fluid temperature With auto switch: —10°C to 60°C

(No freezing)

Symbol Cushion Rubber bumper (Standard equipment)
ymbol Lubrication Not required (Non-lube)
Rubber bumper Stroke length tolerance 5°
Piston speed 5 to 500 mm/s
. [ ot0 0.035J
Allowable kinetic energy ‘ 216 0.090J
Minimum Operating Pressure
Made t0 Unit: MPa
order | Made to Order \ Bore size (mm) \ 10 \ 16 \
Click here for details | Minimum operating pressure | 0.03 |
Symbol Specifications
-XAO | Change of rod end shape
-XC3 | Special port location Standard Strokes
-XC9 | Adjustable stroke cylinder/Adjustable retraction type
Bore size (mm) Standard stroke (mm) Maximum stroke (mm)
10 15, 80, 45, 60, 75, 100, 125, 150 400
Mounting Brackets/Part No. 16 15, 30, 45, 60, 75, 100, 125, 150, 175, 200 400

Note 1) Manufacture of intermediate strokes at 1 mm intervals is possible. (Spacers are not used.)

- n Note 2) Applicable strokes should be confirmed according to the usage. For details, refer to “Air
Mounting Bore size (mm) Cylinders Model Selection” on front matter pages of the Best Pneumatics No. 2-1. In
bracket 10 16 addition, the products that exceed the standard stroke might not be able to fulfill the
Foot CJ-Lo10C CJ-L016C specifications due to the deflection etc.
Flange CJ-Fo10C CJ-Fo16C
T-bracket* CJ-To10C CJ-To16C
* A T-bracket is used with double clevis (D). Mounting and Accessories/For details about accessories, refer to page 148.
—
@---Mounted on the product. O---Please order these separately. A---Order separately.
k1
Mounting Basic Foot Flange Doubl_e
clevis
2 |Mounting nut [ ] [ ] [ ] —
g Rod end nut [ ] [ ] [ ] [ ]
& | Clevis pin — — — [ )
Single knuckle joint o O O [©)
5 | Double knuckle joint*1 @) @) [¢) @)
5 | Double knuckle joint (With one-touch connecting pin) A A A A
© |Rod end cap (Flat/Round type) [e) [¢) o o
T-bracket — — — [e)
=1 A pin and retaining rings are included with double clevis and/or double knuckle joint.
=2 Stainless steel mounting brackets and accessories are also available.
Refer to page 148-1 for details.
Ordering Example of Cylinder Assembly
Cylinder model: CDJ2YD16-60Z-NW-M9BW-B Soublslcevs
Double knuckle joint
Mounting D: Double clevis
Pivot bracket N: Yes
Rod end bracket W: Double knuckle joint
Auto switch D-M9BW: 2 pcs.
Auto switch mounting B: Band mounting Pivot bracket
# Pivot bracket, double knuckle joint and auto switch are Auto switch
shipped together with the product, but not assembled. Band mounting
© 142

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com


http://www.smcworld.com/products/en/custom.do

Smooth Cylinder

Double Acting, Single Rod

A\Precautions

Ty Ty

1 Be sure to read this before handling the products.

I Refer to back page 50 for Safety Instructions and pages 3 to 12 for Actua- :

. tor and Auto Switch Precautions.

e A e e |

\ Mounting

A\Caution

1. During installation, secure the rod cover and tighten by applying an appropriate tightening

force to the retaining nut or to the rod cover body.

If the head cover is secured or the head cover is tightened, the cover could rotate, leading

to the deviation.

2. Tighten the retaining screws to an appropriate tightening torque within the range given be-

low. Apply a Loctite® (no. 242 Blue) for mounting thread.

Bore size | Proper tightening torque for mounting thread (N-m)
(mm) (Tightening torque for mounting nut)
10 3.0t03.2
16 5.4105.9

3. To remove and install the retaining ring for the knuckle pin or the clevis pin, use an appro-

priate pair of pliers (tool for installing a type C retaining ring).
Especially with 810, use ultra thin pliers.

4. In the case of auto switch rail mounting type, do not remove the rail that is mounted. Be-

cause retaining screws extend into the cylinder, this could lead to an air leak.

Weights
——
()
Bore size (mm) 10 16
Basic 22 46
Basic weight Axial piping 22 46
(When the stroke is zero) | Double clevis (including clevis pin) 24 54
Head-side bossed 23 48
Additional weight per 15 mm of stroke 4 7
Single foot 8 25
Mounting bracket | Double foot 16 50
weight Rod flange 5 13
Head flange 5 13
Single knuckle joint 17 23
Double knuckle joint (including knuckle pin) 25 21
Accessories Double knuckle joint (With one-touch connecting pin) 26 22
Rod end cap (Flat type) 1 2
Rod end cap (Round type) 1 2
T-bracket 32 50

# Mounting nut and rod end nut
are included in the basic weight.
Note) Mounting nut is not included
in the basic weight for the
double clevis.

Calculation: Example) CJ2YL10-45Z
® Basic weight---- -22 (910)
® Additional weigh - 4/15 stroke
® Cylinder stroke - 45 stroke
® Mounting bracket weight - 8 (Axial foot)
22 +4/15x45+8=42¢g

CJ2Y Series

|| N
m|m
W | =

= |5 -]
= m
o | o

D (| ]
N ([ X
oo

D-OJ

o
143 @

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



CJ2Y Sseries

Dimensions

Basic (B)
CJ2yYB ‘Bore size‘ - ‘Stroke‘ ‘ Head cover port location | Z

Section Y detail
Y Mounting nut

Rod end nut NN\ Y GA  Piping port 2 x M5 x 0.8 GB__
& wm\ 94 o
{6 2
1]
/ N,
B3s A F | NA NB
H S + Stroke
Z + Stroke
Piping port M5 x 0.8
g L INA
Head cover port location
Axial location (R)
+ The overall cylinder length does not change.
Y¢ Refer to page 148 for details of the mounting nut.
(mm)
Bore size A B C D F GA GB H MM NA NB NDh8 NN S 4
10 15 12 14 4 8 8 5 28 M4 x0.7 125 | 95 8002 M8 x 1.0 46 74
16 15 | 183 | 20 5 8 8 5 28 M5x08 | 125 | 95 10502 M10x1.0 | 47 | 75
Single foot (L)
CJ2yL ‘Bore size‘— ‘Stroke‘ ‘ Head cover port location | Z
¢ Mounting nut
Rod end nut NN \ F GA Piping port2 x M5 x 0.8 GB
Cover surface —
MM \ ()
4 (=) 'a O
E] i Hig
CNLE : i€
404 4]
+ + 0
B-o3
LX ‘ L
LZ A Piping port M5 x 0.8
2x0LC X|.Y_[.NA NB
Mounting hole H S + Stroke
Z + Stroke

¢ Refer to page 148 for details of the mounting nut.

Head cover port location

Axial location (R)

* The overall cylinder length does not change.

(mm)
Bore size A B C D F |GA|GB| H |LB|LC |LH|LT|LX|LY|LZ MM NA | NB NN S X Y ¥4
10 15 | 12 | 14 4 8 8 5 28 |15 (45| 9 | 16| 24 |165| 32 | M4x0.7 |125| 9.5 | M8x 1.0 | 46 5 7 |74
16 15 [18.3| 20 5] 8 8 5 28 | 283 (55| 14 |23 |33 | 25 | 42 | M5x0.8 |[125| 9.5 | M10x1.0 | 47 6 9 |75
144

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Smooth Cylinder .
Double Acting, Sing‘{e Rod CJ2Y Series

Dimensions
——
Double foot (M)
CJ2YM |Bore si p4
. ¥ Mounting nut ¢ Mounting nut REA
F |GA At UL 1Lt REB
Rod end nut .
_ Piping port 2 x M5 x 0.8 GB A F NN
Cover surface REC
/ MM / ﬁ / |:
i
il o
4 - .
" K/ , EI HJ - Low
i i Speed
L MQ
Lz
4xoLC
Mounting hole NA NB Y X RHC
S + Stroke
LS + Stroke RZQ
Z + Stroke
¢ Refer to page 148 for details of the mounting nut.
(mm)
Bore size A D F |GA|GB| H [LB|LC|LH|LS LT |LX|LY]|LZ MM NA | NB NN S X Y Y4
10 15 4 8 8 5 28 | 15 45| 9 60 | 1.6 | 24 |16.5] 32 | M4x 0.7 |125| 9.5 | M8x 1.0 | 46 5 7 86
16 15 | 5 8 8 5 | 28|23 |55| 14|65 |23|33 | 25| 42 | M5x0.8 |125| 9.5 | M10x1.0| 47 | 6 9 | 90
Rod flange (F)
CJ2YF ‘Bore size‘— ‘Stroke‘ ‘ Head cover port location | Z
Y¢ Mounting nut
Cover surface Rod end nut NN GA  Piping port 2 x M5 x 0.8 GB .
\ <
MM ﬂ s A 5
B w| > i e
& ee ks 5 11
FX FT B-o3
Fz 2% oFC A F | NA NB
Mounting hole H S + Stroke
Z + Stroke
Piping port M5 x 0.8
Head cover port location
Axial location (R)
Y¢ Refer to page 148 for details of the mounting nut. * The overall cylinder length does not change.
(mm)
Bore size A B [ D F FB | FC | FT | FX | FY | FZ |GA |GB | H MM NA | NB NN S z
10 15 12 14 4 8 13 | 45 | 16 | 24 14 | 32 8 5 28 M4x0.7 [125| 95 | M8x1.0 46 74
16 15 [18.3] 20 5 8 19 | 55|23 | 33 | 20 | 42 8 5 28 | M5x0.8 |125]| 9.5 | M1I0x1.0 | 47 | 75 D-D
145

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



CJ2Y Sseries

Dimensions
—

Head flange (G)
CJ2YG |Bore si

[Stroke| 2

Rod end nut GA  Pipingport2xM5x 0.8 GB_, ¥ Mounting nut Cover surface
NN NN
& MM
‘ﬂ Gl o
o3 (G Pl IIs WV fany o >
) J/ * 1l K ﬂ {\ wl i
B3 A F | NA NB|| |FT FX 2xoFC
H S + Stroke F FZ Mounting hole
Z + Stroke
Y¢ Refer to page 148 for details of the mounting nut.
(mm)
Bore size A B C D 7 FB | FC | FT | FX | FY | FZ |GA |GB | H MM NA | NB NN S z
10 15 12 14 4 8 13 | 45 | 16 | 24 14 32 8 5 28 M4x0.7 |125| 95 | M8x 1.0 46 82
16 15 [18.3] 20 5 8 19 | 55|23 | 33 | 20 | 42 8 5] 28 | M5x0.8 |125| 9.5 | M10x1.0 | 47 | 83

Double clevis (D)
CJ2YD

[Stroke| 2

0CDH9 5"
GA Piping port 2 x M5 x 0.8 NB Clevis pin (scdd9735%9)
Rod end nut GB
& MM a

/ °© i | ol

4 € 5]

[ )j b}

BSs A |NA, |
H S + Stroke U
Z + Stroke R
ZZ + Stroke
= A clevis pin and retaining rings are included.
(mm)

Bore size A B C |CD(cd)| CX CcZ D GA | GB H MM NA | NB R S U 4 Y24
10 15 12 14 3.3 3.2 12 4 8 18 28 M4x0.7 | 125|225 5 46 8 82 87
16 15 183 | 20 5 6.5 | 18.3 5 8 23 28 M5x0.8 | 125|275 8 47 10 85 93

146

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Dimensions
—

Double-side bossed (E)

C2YE Bore sie]— Sroke] 2

Section Y detail +r Mounting nut

Smooth Cylinder
Double Acting, Single Rod

CJ2Y Series

Rodendnut NN\ Y GA  Piping port2x M5 x 0.8 GB YY
NN
[ MM /
/ ¥ T Fii) L
3 ] T
o ﬂj
B-s A F.|.NA INB|
(=] n .
° Section YY detail
H S + Stroke F
Z + Stroke
¢ Refer to page 148 for details of the mounting nut.
(mm)
Bore size A B [ D F GA GB H MM NA NB NDh8 NN S 4
10 15 | 12 | 14 4 8 8 5 28 M4x07 | 125 | 95 8. 000 M8 x 1.0 46 | 82
16 15 | 183 | 20 5 8 8 5 28 M5 x 0.8 125 | 95 105020 M10x 1.0 47 83
147

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

)
m
>

=)
m
(=~}

= |5 -]
= m
o | o

D (| ]
N ([ X
oo



CJ2Y series
Dimensions of Accessories (options)

Single Knuckle Joint et roled st

Double Knuckle Joint ysea: roles see Knuckle Pin Material: Stainless steel

@NDrio MM L oND hole Hio MM
| Axis dg \
[ BRi_ miin @
o X == hel
! : i g
NX-8% Ui'8% |Ai] NX 8% U8 T
12 7 L1 12 7
(mm) (mm) (mm)
L Applicable
Aoplcable Partno. |'SfeSze | At | L | L+ | MM Aoplczble Incuded
Part no. || A1| L1| MM |NDxioNX| Ri | Uy Y-Joi0C | 10 8 |152] 21 |Maxo7 Partno.|r 6| Dd9 | d | L |Liim| t g g
1-J010C| 10 | 8 |21 |M4x07|3.3%9*°|3.1| 8 | 9 Y-J016C 16 11 |16.6] 21 | M5x0.8 CD-J010| 10 3.3£g§g\ 3 |162[122]1.2]0.3|TypeC32
1-J016C| 16 | 8 |25|M5x08) 50°° |6.4|12|14 Partno. | NDs | NDme | NX | Ry | Us IY-J015| 16 | 5:35% [4.8]166[122]1.5]0.7 [ TypeC5
Y-J010C |3.3355%3(3.3°0%¢| 3.2 8 10 # For @10, a clevis pin is diverted.
Y-J016C | 529 | 59% | 65 | 12 | 10 = Retaining rings are included with a knuckle pin.
B -0.060 o -

# A knuckle pin and retaining rings are included.

Double Knuckle Joint (With One-touch Connecting Pin)

One-touch Connecting Pin for Double Knuckle Joint materia: staintess steel

= -+ =N
x
@ @ ©
i M 3 ¢
] =|3 7 g
S|<< > Fyoo, oDd9 10
- & T =
S e 15 20.5 ~
+0.2 I 24 \ «
NX'o A1
146 ur's? — <N
o [
7 L1 {Q I\ ¥/ AN
I 4
(mm) (mm)
Applicable Applicable
Partno.|\ ' tze | A1| L1 | MM | NDd9 | NDH10 | NX| R1 | Ut Partno. | ‘f0 "Ge | D9
Y-J10| 10 8|21 | M4x07| 83980 | 833%™ 32| 8|10 1Y-J10 10 3.3:86
Y-J16 16 11|21 | M5x08| 5588 519048 6.5| 12 | 10 1Y-J16 16 ]

Mounting Nut

Material: Carbon steel

Rod End Nut

Material: Carbon steel

Q) s
B - H,
(mm) (mm)
Partno. [APIDe| By | i | g | Hy Partno. {16l B, | €, | g | H2
" | bore size " | bore size
SNJ-010C| 10 11 |12.7| M8x1.0 | 4 NTJ-010C| 10 7 | 81| M4x0.7 | 3.2
SNJ-016C| 16 | 14 |16.2| M10x10 | 4 NTJ-015C| 16 8 |92 |M5x08| 4
® 148

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Dimensions of Accessories (Options) CJ2 Y Series

Pivot Bracket (T-bracket) Clevis Pin Material: Stainless steel
——
(S + Stroke) _ (U) TDh1o L
R b mt L i
B g REA
_ | ° REB
12 4x0TC J 8
REC
E
ﬂ» (mm)
™
Applcable Included
Partno. || DA9 | d | L 1L im |t | é?l‘ged
(mm) CD-Jo10| 10 3.33:;23\ 3 |152122(1.2|0.3| TypeC32
Partno. |4PPI%20e| 7G| 7D, [TH|TK TN|TT [TU|TV|TW|TX[TY|TZ cozots| 16 | 5355 [48]27]tea[15]07] recs |MQ
o) * Retaining rings are included with a clevis pin.
CJ-T010C| 10 |45]3.3%9° |29[183.1| 2 | 9 |40[22|32]12[ 8 RHC
CJ-TO16C| 16 |55] 59 |35]|20|6.4]|2.3|14]48]28]38]16]10

# A T-bracket includes a T-bracket base, single knuckle joint, hexagon socket head bolt and spring RZQ
washer.
+ For dimensions of (U) and (S + Stroke), refer to the double clevis drawing on page 146.
One-touch Connecting Pin for Double Clevis  wawria: seinessseer ~~ ROd End Cap Material: Polyacetal
————
T E Flat type/CJ-CFOO0] Round type/CJ-CROCI
-
L A MM
_Jwl_
oDd9 W1
H W2
Part no. Applicable
Flat type |Round type | bore size A% Lilh b 83 |
CJ-CF010 | CJ-CRO10 10 8 |10 13| M4x0.7 | 6 |10] 8
B /?)%Egc;sge Dd9 H L w CJ-CF016 | CJ-CRO16 16 10 (12| 15| M5x0.8 | 7 |12 10
cD-J10| 10 33399 | 134 | 132 4
CD-J16 16 5088 18.2 19.5 5
Partno. | W1 | W2 Note
CD-J10 | 12 | 15 | Cannot be mounted on cylinders with air cushion,
CD-J16 | 15 | 18 | orrai mounting type auto switches.
« Please pay attention to the applicable cylinder.
Mounting Brackets, Rod End Brackets, and Nut Material: Stainless Steel
Part No. (Dimensions: Same as standard type)
Bore size Single Double Mounting Rod
(mm) IFet IFlER knuckle joint | knuckle joint* nut end nut
10 — — 1-J010SUS | Y-JO10SUS — NTJ-010SUS
16 CJ-L016SUS | CJ-FO16SUS| 1-J016SUS | Y-JO16SUS |SNJ-016SUS|NTJ-015SUS
* A knuckle pin and retaining rings are shipped together.
D-OI
-Xtd
148-1 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



CJ2Y Sseries

Precautions

Assembly Procedures

1. Double Clevis (With One-touch Connecting Pin) (CD-J[J)

Insert connecting pin through

the cylinder and pivot bracket.
=

= o 7>

CJ2 Air cylinder (Clevis type) =
N
[
Pivot bracket (T-bracket) =
e Rotate the connecting pin. ]

e Assembly completed without tools. >
'\\ @
a -
-9
:\:_
# The above mounting instructions are for downward-facing
ports. Refer to the following for upward-facing ports.

One-touch connecting pin

3

-~

9 Rotate the connecting pin.

9 Assembly completed without tools.

2. Double Knuckle Joint (With One-touch Connecting Pin) (Y-JOJ)

Insert the connecting pin
into the joint.

«s"\
! ‘g .
%Iejoimf( CJ2 Air cylinder

One-touch connecting pin </ 4

|

£

How to Mount the Double Clevis (With One-touch Connecting Pin)

When connecting a double clevis cylinder to a pivot bracket (T-bracket), it is recommended that the pivot bracket (T-bracket) and the cylinder
be connected with the one-touch connecting pin first, before fastening the pivot bracket.
When connecting the cylinder after the pivot bracket (T-bracket) has been fastened, mount the cylinder according to the following procedure.

AWarning

For assembling the clevis type to the pivot bracket,

refer to the figure below.

1. Insert the double clevis (One-touch connecting pin)

from the direction in the figure.

When port is facing upward ‘

Pivot bracket (T-bracket)

Double clevis
(With one-touch
connecting pin)

AWarning

+ Perform the mounting within the following range.

2. Push the one-touch connecting pin into the cylinder body
(Double clevis) until it clicks and is firmly fastened.

= Attach the double knuckle joint within 180° (+90° from center). Other mounting methods are the same as the above.

® 148-2

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



CJ2Y series

Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

Solid state auto switch
<Band mounting>

D-M9O
D-M9CIW
D-M9CIA
Auto switch
NI P

= - i
A.i_.ﬂ ‘ ,LE
(24)

(): Dimension of the D-M9OJA

A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.

D-M9CIV
D-M9IMV
D-M9TJAV
Auto switch
o A ot

h==i o
A 20 i B
A, B2
(22)
(): Dimension of the D-M9TJAV
A and B are the dimensions from the end of the

head cover/rod cover to the end of the auto switch.

D-H7O
D-H7OW
D-H7BA
D-H7NF
D-H7C
Auto switch
1 =—— ] ‘
Al LB

Reed auto switch
<Band mounting>

D-A90]

D-A90IV

D-C701/C80
D-C73CL1/C80C

)
m
>

=)
m
(=~}

Auto switch

L M o L

=

el T
A_|| 245 .L

(22)

f

(): Dimension of the D-A96
A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.

RHC

Auto switch
- 7] "mg et +
i T
a2l s
Al B2
A and B are the dimensions from the end of the
head cover/rod cover to the end of the auto switch.
Auto switch
|
[ j— ]
I = ]
A B
Sle -H
149

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



CJ2Y Sseries

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

<Rail mounting>

D-M9O]
D-M9OIW
D-M9LIA Auto switch
=
235 || B
(25.5)

( ): Dimension of the D-M9TJA

Auto switch

a

P [Gslle

(23.5)
( ): Dimension of the D-M9TJAV

D-F700/J79

D-F70O0W/J79W

D-F79F/F7BA Auto switch
‘—tu—ﬂﬂ% @

Al B

D-F7OV/F7TOWV
D-F7BAV
D-J79C

Auto switch

:
s
sz %
A B

150

<Rail mounting>

D-A9C]
Auto switch
=
T =l
(23.5)
(): Dimension of the D-A96
D-A9CIV
Auto switch
T EHES @
Ji 235 | B
D-A7C1/A80
D-A73C/A80C
D-A79W

Auto switch

{%% %ﬁg
AL 2

D-A7CH/A80H

Auto switch

é,f:t iﬁ

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Auto Switch Mounting CJ2Y Series

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

Auto Switch Proper Mounting Position (mm)
Auto switch Band mounting
model
D-M9C]
D-M9CIV D-C70] AL
D-MOCIW D-A9C] D-C80 RS REA
D-M9CIWV D-A9C1V D-C73C D-H7CW
D-M9CIA D-C80C D-H7BA REB
D-M9JAV
Bore size A B A B A B A B RE C
10 (5)6 (5)6 (1)2 (1)2 25 25 15 15
16 (5.5)6.5 | (5.5)6.5 | (1.5)2.5 | (1.5)2.5 3 3 2 2 m
* The values in ( ) are measured from the end of the auto switch mounting bracket.
(mm) |Low
Auto switch Rail mounting Speed
fece] D-A7CH/ABOH ma
D-MoC] D-A73C/A80C
D-MOClV D-F70/J79 RHC
D-F7O0WN79W
D-M9CIW D-A9] D-A70]
D-MOCWV D-ASCIV D-A80 D-F7OV/IF7TOWV D-F7NT D-A79W
D-F79F
DeCa, RZQ
D-F7BA
D-F7BAV
Bore size A B A B A B A B A B A B
10 4.5 4.5 0.5 0.5 3 3 3.5 3.5 8.5 8.5 0.5 0.5
16 5 5 1 1 3.5 3.5 4 4 9 9 1 1
+ Adjust the auto switch after confirming the operating condition in the actual setting.
Auto Switch Mounting Height (mm)
Auto switch Band mounting
model
D-M9C] D-MoCIV D-C7C1/C80
D-M9CIW D-M9CIWV D-H7C/H7OW D-C73C D-H7C D-A70]
D-M9CIA D-M9CIAV D-H7NF D-C80C D-A80
D-A9C] D-A9C1V D-H7BA
Bore size Hs Hs Hs Hs Hs Hs
10 17 18 17 19.5 20 16.5
16 20.5 21 20.5 23 23.5 19.5
(mm)
Auto switch Rail mounting
model
D-moC]
DMV D-A7CIH/A80H
D-MOCWV D-F7C1/J79 D-A73C D-F700V
D-MOCIA D-F700W/J79W D-A80C D-F7O0WV D-J79C D-A79W
D-F7BA/F79F D-F7BAV
D-MOCJAV D-F7NT
D-A9]
D-A9C1V
Bore size Hs Hs Hs Hs Hs Hs
10 175 17.5 23.5 20 23 19
16 21 20.5 26.5 23 26 22
D-0
X0
151

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



CJ2Y Sseries

Minimum Stroke for Auto Switch Mounting

(mm)
A itch Number of auto switches
U svx_ntc Auto switch model . With 2 pcs. With n pes. (n: Number of auto switches)
mounting With 1 pc. - -
Different surfaces| Same surface Different surfaces Same surface
g-mggw 15+350-2 45+15(n-2)
§ 10 15 Note 1) 45 Note 1) T + n-
g:'XIQQSA (n=2, 4, 6...) Note 3) (n=2,3,4,5-)
n-2
D-moCIV 5 15 Note 1) 35 15+35 2 35+25(n-2)
(N=2,4,6.)Note3) (n=2,3,4,5+)
D-M9CIWV 10 15Note 1) a5 15+ 35("2;2) 35+25(n-2)
DUEDRY (n=2, 4, 6.-) Note 3) (n=2,3,4,5)
i 10+3500=2 35425 (n-2)
Band mounting | p-A9CIV 5 10 35 >
(=2, 4, 6...) Note 3) (n=2,3,4,5-)
D-C70J 10 15 50 15+40(”;—2) 50 +20 (n-2)
D-c8o (n=2, 4, 6...)Note 3) (n=2,3,4,5)
D-H7L/H700W (n-2) -
D-H7BA 10 15 60 15+457— eojsz_ss 4(1n5 2)
D-H7NF (=2, 4, 6. Note 3) (n=2,3,4,5)
D-C73C (n-2) _
D-C80C 10 15 65 18+50775 B0+2750 -2
D-H7C (n=2, 4, 6...) Note 3) (n=2,3,4,5+)
10+10(n-2
D-MoLIV 5 - 5 - (n=4, 5..(.) Note)A)
10+15(n-2
REOY 5 - 10 - (n =t;, 6..(.31N0(e)4)
D-M9LC] 10 _ 10 _ 15 +15 (n - 2)
D-A9[] (n =4, 6...) Note 4)
D-M9CIWV 10 _ 15 _ 15+15(n-2)
D-M9CJIAV (n=4, 6-:) Note 4)
s s - s - 2503,
20+15(n-2
HIEDR 15 - 20 - (=4, e,.(.) No(e)A)
D-A7[J/A80
Rail mounting | D-A7CJH/ABOH 5 — 10 — oo e
D-A73C/A80C =40
D-A70H 5 _ 10 _ 15 +15 (n - 2)
D-A80H (n=4, 6-) Note 4)
10+15(n-2
D-A79W 10 — 15 - (n=4, 64-(-) Nots)Ah
D-F701 5 _ 5 _ 15+15(n—2)
D-J79 (n =4, 6...) Note 4)
D-F700V 5 B 5 B 10 +10 (n-2)
D-J79C (n =4, 6...) Note'4)
D-F7CIW/J79W 10 _ 15 _ 15+20 (n-2)
D-F7BA/F79F/F7NT (n=4, 6--) Note 4)
D-F700WV 10 _ 15 _ 10+15(n-2)
D-F7BAV (n =4, 6...) Note 4)

Note 3) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
Note 4) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
However, the minimum even number is 4. So, 4 is used for the calculation when “n” is 1 to 3.
Note 1) Auto switch mounting

With 2 auto switches

Different surfaces Note 1) Same surface Note 1)

Auto switch model

Auto switch

The proper auto switch mounting position is 5.5 mm inward The auto switch is mounted by slightly displacing it in a direction
from the switch holder edge. The above A and B indicate values (cylinder tube circumferential exterior) so that the auto switch

for band mounting in the table of page 151. and lead wire do not interfere with each other.

D-MOC/M/9CIW/MOLIA Less than 20 stroke Note 2) Less than 55 stroke Note 2)

D-A90/A93 — Less than 50 stroke Note 2)
Note 2) Minimum stroke for auto switch mounting in types other than those mentioned in Note 1.

152

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Auto Switch Mounting CJ2Y Series

Operating Range Auto Switch Mounting Brackets/Part No.
(mm)
Auto switch model Bore size PUIDELED Auto switch model Bore size (mm)
10 16 mounting 10 16
e
H 251 3 D-M9LIV
f=J
E|PREDNIEDRY D-M9CIW BJ6-010 BJ6-016 REA
3 |D-A90] 6 7 D-MoCIWV (Asetofa,b,c,d) (Asetofa,b,c,d)
E|p-c7tucsoic7acicsoc | 7 7 Fva REB
| D-H7C/H7OW 4 4
@ |D-H7BA/H7NF D-M9[JA Note2) BJ6-010S BJ6-016S REC
D-H7C 8 9 D-MO[IAV Note 2) (Asetofa, b, d, e) (Asetofa, b, d, e)
D-MOCIW/MILIWV 3 35 Band Switch bracket (Resin) %
D-M9LCIA/MILCIAV mounting ¢ Trapsparent (Nylon) Nete 1) o A Low
e [White (PBT) [PS Speed
o|D-A9LVA9LIV 6 6.5 2
Z | D-A7[/AB0/ATH/ABOH MQ
3 8 9 d
RIBATSC/ASUC Switch holder
=|D- Zinc die-casted
s D-A79W 11 13 (Zinc die-casted) RHC
D-F700/J79/F7CIW/J79W
D-F70IVIF7C0WV/F79F 5 5 RZQ
D-J79C/F7BA/F7BAV
D-F7NT
* Values which include hysteresis are for guideline
Fatoiming Bporoxmately 2305 dispérsion) and Dyeielee
+30%
may change substantially depending on the Ealcg DCISC/CE0G BJ2:010 BJ2-016
ambient environment. mounting | D-H7C/H7COW (A set of band and screw) (A set of band and screw)
D-H7BA/H7NF
BQ2-012(S) BQ2-012(S)
(A set of a and b) (A set of aand b)
D-mo] fet screw
D-MoCIV (Accessory)
otoy | D-MOCIW %
Rail D-M9CIWV BQ2-012
: D-M9LJA Note5) o
mounting D-MOLJAV Notes)
D-A9C]
mounting bracket]
Nut (Cylinder accessory)
Note 1) Since the switch bracket (made from nylon) are affected in an environment where alcohol,
chloroform, methylamines, hydrochloric acid or sulfuric acid is splashed over, so it cannot
be used. Please contact SMC regarding other chemicals.
Note 2) Avoid the indicator LED for mounting the switch bracket. As the indicator LED is projected
from the switch unit, indicator LED may be damaged if the switch bracket is fixed on the
indicator LED.
Note 3) When the cylinder is shipped, the auto switch mounting bracket and the auto switch will
be included.
Note 4) For the D-M9LIA(V), order the BQ2-012S, which uses stainless steel mounting screws.
Band Mounting Brackets Set Part No.
Set part no. Contents
g * Auto switch mounting band (a)
BJ2-000 * Auto switch mounting screw (b)
* Switch bracket (White/PBT) (e)
BJ4-1 « Switch holder (d)
* Switch bracket (Transparent/Nylon) (c)
BJ5-1 « Switch holder (d)
[Stainless Steel Mounting Screw]
The following stainless steel mounting screw kit is available. Use it in accordance with the operating
environment. (Since the auto switch mounting bracket is not included, order it separately.)
BBA4: For D-C7/C8/H7 types
Note 5) Refer to page 1048 for details on the BBA4.
When the D-H7BA type auto switch is shipped independently, the BBA4 is attached.
D-0

153
Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



CJ2Y Sseries

i e e e

Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable.

Refer to pages 941 to 1067 for the detailed specifications.

= With pre-wired connector is also available for solid state auto switches. For details, refer to pages 1014 and 1015.

1 1
1 1
: Type Model Electrical entry Features :
1 D-H7A1/H7A2/H7B —

Band g - —— — 1

D-H7NW/H7PW/H7BW . Diagnostic indication (2-color indicator)
1 Grommet (In-line) 1
1 Sold state D-F79/F7P/J79 — 1
1 Rail D-F79W/F7PW/J79W Diagnostic indication (2-color indicator) 1
1 D-F7NV/F7PV/F7BY Grommet (Perpendicular) — 1
1 D-F7NWV/F7BWV P Diagnostic indication (2-color indicator) 1
1 Band ) D-C73/C76 — 1
1 9 D-C80 Grommet (In-line) Without indicator light 1
1 Reed D-A73H/A76H — I
. D-A80H Without indicator light

1 Rail 1
1 D-A73 Grommet (Perpendicular) = 1
I D-A80 P Without indicator light I
1 1

« Normally closed (NC = b contact) solid state auto switches (D-FOG/F9H) are also available. For details, refer to page 959.

154

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

J



Smooth Cylinder

CM?2Y series

220, 025, 332, 040

How to Order

BN cv2vB %
With auto switch [o10] Y PAYT=J PT0)

With auto switch 1
(Built-in magnet) Made to Ordgr
. Male rod end Refer to page 156 for details.
-1
Mounting “ Female rod end
B Basic (Double-side bossed) Bore size }
L Axial foot 20 [ 20 mm Pivot bracket Number of auto switches
F Rod flange 25 [ 25 mm Nil None Nil 2 pes.
G Head flange 32 [32mm N | Pivot bracket is shipped ) 1 pe.
c Single clevis 20 [ 20 mm together with the product. n__ |“n"pes.
D Double clevis = Only for C, T, U, E, V, UZ mounting types
- = Pivot bracket is shipped together with .
U Rod trunnl?n Port thread type the product, but not assembled. A"fto switch
T Head 1runn|or! Nil Rc Rod end bracket ‘ Nil ‘ Without auto switch ‘
E Integrated clevis TN NPT Nil N = For applicable auto switches,
v Integrated clevis (90°) TF [ ! . one refer to the table below.
- ) Single knuckle joint
BZ Boss-cut/Basic ) — —_ .
FZ|  Bossculfiod fange Cylinder stroke (Mm)S | teaciars rvies o v oy oin Magnet Gylinder Model
uz Boss-cut/Rod trunnion Refer to “Standard Sgg;zsﬁ"g rod ond type. If a built-in magnet cylinder without an
- " " ’ * A knuckle joint pin is not provided with  auto switch is required, there is no need
® i N
i 2efer kl))l (Brderlng E;(;r,nple of Cylinder g‘oeds‘é‘g('f ;paﬁ(el? {g”:f.]ipped together to enter the symbol for the auto switch.
ssem on page . *
v pag with the product, but not assembled. (Example) CDM2YB20-100Z
Applicable Auto Switches/Refer to pages 941 to 1067 for further information on auto switches.
. S - Load voltage " Lead wire length (m) . .
; ; Electrical |TE Wiring Auto switch model Pre-wired Applicable
Type| Special function ents 99 (Output 05| 1| 3|5 [None
= " I
Y |2 (Output) DC AC 7 e (Nil || © | @) | | connector load
3-wire (NPN) M9NV M9N ®  —|@® O|— o ]
Grommet 3-wire (PNP) 5v.12v M9PV M9P ® —|@® O|— o (C oircuit
S . M9BV M9B ® |— 1@ 0 |— o
o —_ X J—
'§ Connector 2-wire 12V = H7C o — o 0 o —
3 Terminal 3-wire (NPN) 5V, 12V — G39A —|—=——]@® — IC circuit
.g conduit w” 2-wire 12V — K39A | — |—|—|—|® — —— Relay,
© O | 3-wire (NPN) | 24 V — MONWV | MONW | @ (@ @ O |— o . '
@ | Diagnostic indication > 5V,12V IC circuit | PLC
s (2color ndicator) 3-wire (PNP) MOPWV | MOPW | @ (@ |® | O |— o
g 2-wire 12V MOBWV | MOBW | @ (@ @ O |— o —
= . Grommet 3-wire (NPN) MONAV*'| MONA*' | O |O | @ | O |— @] .
‘g (;/X:a;grl}i(s‘;;t:&lr) Fwire (PNP) 5V, 12V MOPAVF | MOPA* | O O @ O | — o IC circuit
2-wire 12V M9BAV*' | M9BA*!' | O |O | @ |O |— O —
4-wire (NPN) 5V, 12V — H7NF ®  —|® O|— o IC circuit
@ | S (NPNeqivelent) | — 5V — A96V A96 o — 0| — | — — IC circuit —
> 100V A93V+#2 A93 o o 0 0 — — —
= Grommet | 2 | 12V 100 Vorless| A90V A90 o | —| 0 —|— — IC circuit
£ Kl 100V,200V]  — B54 | @ oo — — Relay,
g 200 V or less = B64 o —| 0| —|— — — PLC
] 2] - — = C73C [ B X BK ] —
3 Connector Zwire | 24V 24Vorless] — C80C |® |—|@|@|® — |Comt
8 Terminal 12V — — A33A | — [—|—[—|® — PLC
o« conduit | @ 100V, — AdA [ — [—|—|—]e@ — — | Rel
DIN terminal | > 200V — AdAA [ — [—[—|— (@] — oy
o] Grommet — — — B59W | e |[— e |—|— —
=1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.
%2 1 m type lead wire is only applicable to D-A93.
= Lead wire length symbols: 0.5 m Nil (Example) MONW = Solid state auto switches marked with “O” are produced upon receipt of order.
im M (Example) MONWM = Do not indicate suffix “N” for no lead wire on the D-A3[JA/A44A/G39A/K39A models.
3m L (Example) MONWL
5m Z (Example) MONWZ
None N (Example) H7CN

= Since there are other applicable auto switches than listed above, refer to page 171 for details.

= For details about auto switches with pre-wired connector, refer to pages 1014 and 1015.

* The D-A900/M9IOO auto switches are shipped together, (but not assembled). (However, only the auto switch mounting brackets are assembled before shipment.)
= The D-C700/C8001/H700 auto switches are assembled before shipment.

Low
Speed

Mo
RHC
R0

D-O
o

155 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



CM2Y series

Integrated clevis

Symbol
Double acting, Single rod, Rubber bumper

Specifications

Bore size (mm) 20

25 I 32 I 40

Action Double acting, Single rod

Piston speed 5 to 500 mm/s

Fluid Air

Proof pressure 1.05 MPa
operating pressure 0.7 MPa

Ambient and fluid temperature

Without auto switch: —10°C to 70°C (
With auto switch: —10°C to 60°C

No freezing)

Lubrication Not required (Non-lube)
Stroke length tolerance “4mm

Cushion Rubber bumper

All bl rate 0.5 L/min (ANR) or less

Minimum Operating Pressure

Unit: MPa
\ Bore size (mm) \ 20 \ 25 32 40
‘ Minimum operating pressure ‘ 0.02 ‘
de 10 .
Made to Order Mountlng Brackets/Part No.
Click here for details
Symbol Specifications et e Min. Bore size (mm) Contents (for minimum
-XAO | Change of rod end shape - RN G 20 25 ‘ 32 40 orderquanmy).
-XC3 | Special port location Axial foot 2 CM-L020B | CM-L032B | CM-L040B | 2 foots, 1 mounting nut
XC6 | Made of stainless steel Flange 1 CM-F020B | CM-F032B | CM-F040B | 1 flange
- . - Single clevis™* 1 CM-C020B | CM-C032B | CM-C040B | 1 single clevis, 3 liners
-XC9 A?Jus:?blet stroke cylinder/Adjustable Double clevis 1 double clevis, 3 liners
refraction ype. (with pin)jiis. 1 CM-D020B | CM-D032B | CM-DO40B | 4 115, pin, 2 retaining rings
-XC10 | Dual stroke cylinder/Double rod type Trunnion (with nut) 1 | CM-T020B | CM-T032B | CM-T040B | 1 trunnion, 1 trunnion nut
-XC13 | Auto switch rail mounting « Order 2 foots per cylinder
-XC20 | Head cover axial port 3 liners are included with a clevis bracket for adjusting the mounting angle.
-XC25 | No fixed throttle of connection port =+ A clevis pin and retaining rings (split pins for 40) are included.
_XC27 | Double clevis and double knuckle joint . -
pins made of stainless steel Mountlng and Accessories For details about accessories, refer to pages 165 to 167.
—
-XC29 | Double knuckle joint with spring pin _
-XC52 | Mounting nut with set screw Accessories Standard Option
— " " X | Single | Nowd [ Noted) | noeg) | Note?)
-X1854 | Low friction cylinder mounting Mounting [Rod end| Clevis Bk Double | Clevis | p;o: | Pivot
. Ref . . . nut nut pin | KNUCKIe lknuckle| pivot bracket
* Refer to page 157 for "-X1854". Mounting joint | joint | bracket |bracket| ™ pin
Basic (Double-side bossed) | @ (1 pc.) [ ) — () [ ] —
Axial foot ® (2 [ ] — [ J [ J .
Replacement Parts/Rod Seal Rod flange o (1) o | — o o e R
Head flange o (1) [ ] — [ ] [ ) —
Bore size (mm) Bartoy Integrated clevis — Note 1) [ ] — [ ] [ ] [ ]
Single clevis — Note 1) [J — [ ] [ — [ J [ ]
:g gmig;zz Double clevis Note 3) — Note 1) ® @\ @ [ ] — — —
32 CM32Z-PS Rod trunnion @ (1)Noe2)) @ — [ ] [ ] — ° _
. Head trunnion @ (1)Noe2)) @ — [ o —
40 CM40Z-PS Boss-cut/Basic o (1) [ — [ ) [ ] —
. Boss-cut/Flange o (1) [ J — [ J ] — — —
Grease Pack for Maintenance BossouTrumion (@ (2 @ | — | o | @ | —

When maintenance requires only grease, use the

following part numbers to order.

Grease pack part number: GR-L-005 (5 g)
GR-L-010 (10 g)
GR-L-150 (150 g)

® 156

Note 1) Mounting nuts are not attached to the integrated clevis, single clevis and double clevis types.
Note 2) Trunnion nuts are mounted on the rod trunnion and head trunnion types.

Note 3) A pin and retaining rings (split pins for 240) are included with the double clevis and double knuckle joint types.
Note 4) A pin and retaining rings are included with the clevis pivot bracket.

Note 5) Retaining rings (split pins for 840) are included with the clevis pin.

Note 6) A pin and retaining rings are included with the pivot bracket.

Note 7) Retaining rings are included with the pivot bracket pin.

* Stainless steel mounting brackets and accessories are also available.

Refer to page 166 for details.

Standard Strokes

Bore size (mm) I

Standard stroke (mm)

\
| 20, 25, 32, 40 |

25, 50, 75, 100, 125, 150, 200, 250, 300

Note 1) Manufacture of intermediate strokes in 1 mm increments is possible. (Spacers are not used.)

Note 2) Applicable strokes should be confirmed according to the usage. For details, refer to “Air Cylinders Model
Selection” on front matter pages of the Best Pneumatics No. 2-1. In addition, the products that exceed the
standard stroke might not be able to fulfill the specifications due to the deflection etc.

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com


http://www.smcworld.com/products/en/custom.do

Smooth Cylinder CMZ2Y series

Option: Ordering_j Example of Cylinder Assembly

A\Precautions

P e e e e e oy

Cylinder model: CDM2YC40-150Z-NV-M9BW 1 Be sure to read this before handling 1
I the products. I
Single clevis . . . 1
Mounting C: Single clevis Refer to back page 50 for Safety In-
:i":‘ b:,af,ketk tc= ;?5 e knuekle foint | Structions and pages 3 to 12 for Actu- |
od en racket V: Single knuckle join! . .
Auto switch D-M9BW: 2 pcs. In. ator and Auto Switch Precautions. ‘| REA
* Pivot bracket, single knuckle joint and auto - -
switch are shipped together with the product, ‘ Operatlng Precautions ‘ REB
but not assembled. R
AWarning REC
) 1. Do not rotate the cover.
Pivot bracket . piyot bracket is only applicable to mounting If a cover is rotated when installing a cylinder or m
C,T,U, E, Vand UZ screwing a fitting into the port, it is likely to
‘Auto switch + No rod end bracket is provided for the female damage the junction part with cover. Low
rod end type. : Speed
/ACaution
1. Not able to disassemble. MQ
Cover and cylinder tube are connected to each
other by caulking method, thus making it
- (k9) impossible to disassemble. Therefore, internal RHC
Bore size (mm) 20 25 32 40 parts of a cylinder other than rod seal are not
Basic (Double-side bossed) 0.14 0.21 0.28 0.56 replaceable. RZQ
Axial foot 0.29 037 0.44 0.83 2. Use caution to the popping of a retaining
ring.
Flange - 020 030 0.37 0.68 When replacing rod seals and removing and
Integrated clevis 0.12 0.19 0.27 0.52 mounting a retaining ring, use a proper tool
. . Single clevis 0.18 0.25 0.32 0.65 (retaining ring plier: tool for installing a type C
Basic weight Double clevis 0.19 027 0.33 0.69 retaining ring). Even if a proper tool is used, it is
Trunnion 018 | 028 | 034 | 066 likely to inflict damage to a human body or
- peripheral equipment, as a retaining ring may be
Boss-cut/Basic 0.13 0.19 0.26 0.53 flown out of the tip of a plier. Be much careful
Boss-cut/Flange 0.19 0.28 0.35 0.65 with the popping of a retaining ring. Besides, be
Boss-cut/Trunnion 047 0.26 0.32 0.63 certain that a retaining ring is placed firmly into
— - the groove of rod cover before supplying air at
Additional welght per 50 mm of slroke 0.04 0.06 0.08 0.13 the time of installment.
Clevis bracket (with pin) 0.07 0.07 0.14 0.14 3. Do not use an air cylinder as an air-
! Single knuckle joint 0.06 0.06 0.06 0.23 hydro cylinder.
ggglf; Double knuckle joint (with pin) 007 | 007 | 007 | 020 Itit uses turbine oil in place of fluids for cylinder,
Pivot bracket 0.06 | 006 | 006 | 0.06 it may result in oil leakage. )
- - 4. The oil stuck to the cylinder is grease.
Pivot bracket pin 0.02 0.02 0.02 0.03 5. The base oil of grease may seep out.
Calculation: Example) CM2YL32-100Z The base oil of grease in the cylinder may seep
* Basic weight--- .44 (Foot, 032) out of the tube, cover, crimped part or rod
* Additional weight- .08/50 stroke bushing depending on the operating conditions
* Cylinder stroke: 00 stroke (ambient temperature 40°C or more, pressurized
0.44 +0.08 x 100/50 = 0.60 kg condition, low frequency operation).
Same Mounting Dimensions as the Low Friction Cylinder
—
CM2Y [Mounting][Bore size|-[Stroke| Z —-X1854 Dimensions
Same mounting dimensions as the CM2Q @
In order to adjust the mounting dimensions of the low —
friction cylinder (CM2Q), extend the longitudinal dimension @
(S, Z2) by 3 mm. S + Stroke
Specifications | 2Z - Stroke |
Cylinder bore size (mm) 20 [ 25 | 32 | 40
Action Double acting, Single rod Bore size (mm) S 7z
Dlrt.echon of low friction Bl-dlref:tlonal 20 65 119
Fluid Air 25 65 123
Proof pressure 1.05 MPa 32 67 125
Maxu‘m‘|m operatlnq preséure 0.7 MPa 20 o1 157 D_D
* Low friction operates bi-directionally. # Add 3 mm to S and ZZ dimensions of the double acting, single rod type on pages
158 to 164 for the dimensions for each mounting bracket other than the basic type. -X|:|

157

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



CM2Y series

Basic (Double-side Bossed) (B)

CM2YB|Bore size| - stroke| [ ]2

Width across flats B2 Hz G~ 2xP 2x NN
Width across flats B1 H1 (Rc, NPT, G)
| Hl|l =1
a i/ R s
ai ‘E‘ ey (ZaN| = |
A=) ) oy
MM /| s Effective thread length
Width across flats KA /= A ‘K F = 2xFL
H | S + Stroke
[ ZZ + Stroke _
Boss-cut
Female rod end
Female thread MM
i Thread depth A1 i \
ZZ + Stroke 35
H
ZZ + Stroke
(mm)
Bore size A |AL | B1 | B2| D E F|FL| G| H |Hi |H| | K | KA MM NA NN P | S |zz
20 18 [15.5| 13 | 26 | 8 | 20033 | 13 |105| 8 | 41 | 5§ 8 |28 | 5 6 M8x1.25 | 24 | M20x1.5 |1/8| 62 |116
25 22 [19.5| 17 | 82 | 10 | 265033 | 13 [10.5| 8 | 45 | 6 8 |835/55| 8 | MI0x1.25 | 30 | M26x1.5 |1/8| 62 |120
32 22 |19.5( 17 | 32 | 12 | 269033 | 13 |105| 8 | 45 | 6 8 |37.5/55| 10 | M10x1.25 |345| M26x1.5 |1/8| 64 |122
40 24 |21 |22 | 41 | 14 | 32805 | 16 |13.5/ 11 | 50 | 8 | 10 |465| 7 | 12| M14x1.5 |425| M32x2 1/4 | 88 | 154
Boss-cut (mm) Female Rod End (mm)
Bore size Y44 Bore size A1 H MM zZ
20 103 20 8 20 M4 x 0.7 95
25 107 25 8 20 M5 x 0.8 95
32 109 32 12 20 M6 x 1 97
40 138 40 13 21 M8x1.25 | 125
+ When female thread is used, use a thin wrench
when tightening the piston rod.
+ When female thread is used, use a washer etc. to
prevent the contact part at the rod end from being
deformed depending on the material of the
workpiece.
158

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Axial Foot (L)

2xP
(R, NPT, G)

Width across flats B+

Smooth Cylinder CMZ2Y series

2x NN
(Effective thread length 2 x FL)

<o

Width across flats KA

ol

or N . .
S |
[
Width across flats B2 i
MM

x| N
m| m
W | >

- Width across flats ONA \__‘L_‘ s Fags +
- X S + Stroke X Y ﬂx REC
'z LS + Stroke LZ
ZZ + Stroke m
Female rod end 2Z + Stroke Female Rod End (mm) Low
H Bore size A1 | H MM 2z Speed
351 . 20 8 | 20 | M4x07 | 110 ma
Female thread MM 25 8 20 M5 x 0.8 110
Thread depth A1 32 12 20 M6 x 1 112 RHC
40 13 21 M8 x 1.25 142
+ When female thread is used, use a thin wrench when RZQ
tightening the piston rod.
= When female thread is used, use a washer etc. to prevent
g the contact part at the rod end from being deformed
depending on the material of the workpiece.
 Mounting bracket is shipped together with the product. (mm)
Boresize | A |AL| B |B1|B2| D |F |FL| G | H |H1|H2| | | K |KA|LC|LD|LH|LS|LT|LX|LZ MM NA NN P|S|X|Y|Z|zz
20 18(155(40|13|26| 8 |13|105( 8 |41| 5 |8 |28| 5 | 6 | 4 |6.8(25(102(3.2(40|55| M8x1.25 |24 | M20x 1.5 [1/8/62|20| 8 |21 |131
25 22(195(47|17 (32|10 |13|105| 8 |45| 6 | 8 |335(55| 8 | 4 |6.8|28|102|3.2|40|55| M10x1.25 |30 | M26 x 1.5|1/8/62|20| 8 | 25135
32 22(195(47|17 (32|12 |13|105| 8 |45| 6 | 8 |375(55|10| 4 |6.8|28|104|3.2|40|55| M10x 1.25 |345| M26 x 1.5 |1/8/64 |20 | 8 |25 (137
40 24|21 |54 (22|41 (14|16 (13511 (50| 8 (10 (465| 7 (12| 4 | 7 | 30| 134|32|55|75| M14x15 |425| M32x2 |1/4|88|23|10|27 171
Rod Flange (F)
———
- [z
Width fats B Width across flats B2
:/sznfilr?g hole Chacsetae S H H: G 2xP G 2x NN
[¢)7 (Rc, NPT, G) o
b J"l L
|| 2=
%I - : BER
i i
/! | T Effective
2xoFD m
240 Mounting MM AL | Width across flats ONA 15 L‘M
hole —FZ AT JF 2xFL
020 to 032 bz ‘ S+ Stok E
troke
Width across flats KA H ' 77 + Str;ke
Boss-cut Female rod end
Female thread MM
1R HE
‘ Female Rod End (mm)
: Boresize | At | H | MM | 2z
L 20 8 | 20 | M4x0.7 95
‘ 25 8 | 20 | M5x0.8 95
ZZ + Stroke 32 12 | 20 M6 x 1 97
Boss-cut (mm) 40 13 | 21 | M8x1.25 | 125
m 7z + When female t_hread _is used, use a thin
— 20 | 103 wrench when tightening the piston rod.
— = ZZ + Stroke « When female thread is used, use a washer
25 | 107 etc. to prevent the contact part at the rod
32 109 end from being deformed depending on
40 138 the material of the workpiece.
* Mounting bracket is shipped together with the product. (mm)
Boresize | A|AL| B |B1|B2|C2| D E F |FL|FD|FT|FX|FY|FZ| G | H |Hi|H2| | | K |KA MM NA NN P|Ss|zZ|zz
20 18 {155/ 3413|2630 | 8 | 2050 | 13[105) 7 | 4 |60|— 75| 8 |41| 5| 8 |28| 5 | 6 | M8x1.25|24| M20x 1.5 |1/8| 62|37 [116
25 2219540 (17 |32 |37 |10 | 26805 |13(10.5| 7 | 4 (60| —|75| 8 |45| 6 | 8 [335(5.5| 8 [M10x1.25/30 | M26x 1.5 |1/8| 62 | 41 | 120 D'D
32 22(195/40(17 |32 37 | 12| 2600, | 13]105] 7 | 4 |60 | — 75| 8 |45| 6 | 8 [37.5(5.5| 10 [M10x 1.25(34.5| M26x 1.5 |1/8| 64 | 41 |122
40 2421|5222 |41 (47.3] 14 | 3200 |16(135| 7 | 5 (66|36 |82|11|50| 8 |10 (465 7 |12 | M14x 1.5 |425] M32x 2 |1/4| 88|45 |154 -XD
159

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



CM2Y series

Head Flange (G)

CM2YG —[stroke|[ |Z

Effective thread length 2 x FL

H2  Width across flats B2 2xoFD 4 xoFD
. G Hz Vi across fats B2
Width across flats B1  H12x NN G ZRXc,PNPT, - r_ Py Mounting hole Mo‘unting hoie
=l Ul @ £ Iﬁ}ﬁv
2l af | = . i
4] 7 », W‘\ T s
; &
REs S
MM AL _l|15 \Width across flats ONA FX
Width across flats KA A K| |F FZ 040
H S + Stroke FT| 20 to 032
Z + Stroke o 00
ZZ -+ Stroke
Female rod end
Female thread MM
Thread depth A1
35
ZZ + Stroke
* Mounting bracket is shipped together with the product. (mm)
Bore size A |AL | B Bi | B2 | C2 D E F FL | FD | FT | FX | FY | FZ | G H Hi1 | H2 1
20 18 |155| 34 | 13 | 26 | 30 8 | 209033 | 13 |105] 7 4 60 | — | 75 8 41 5 8 28
25 22 |195| 40 | 17 | 32 | 37 | 10 | 265033 | 13 | 105 | 7 4 60 | — | 75 8 45 6 8 ]335
32 22 | 19.5| 40 17 32 37 12 | 265433 | 13 | 10.5 7 4 60 — 75 8 45 6 8 37.5
40 24 | 21 52 | 22 | 41 |473| 14 | 32449 | 16 | 135 | 7 5] 66 | 36 | 82 | 11 50 8 10 | 465
(mm) Female Rod End (mm)
Bore size KA MM NA NN P S Y4 zz Bore size A1 H MM zz
20 5 6 M8x1.25 | 24 |M20x1.5| 1/8 62 107 | 116 20 8 20 M4 x 0.7 95
25 5.5 8 |M10x125| 30 |M26x1.5]| 1/8 | 62 | 111 | 120 25 8 | 20 M5 x 0.8 95
32 55 | 10 |M10x1.25| 345 |M26x1.5| 1/8 | 64 | 113 | 122 32 12 | 20 M6 x 1 97
40 7 12 | M14x1.5 | 425 | M32x 2 1/4 88 | 143 | 154 40 13 21 M8x1.25 | 125

160

* When female thread is used, use a thin wrench
when tightening the piston rod.

+ When female thread is used, use a washer etc. to
prevent the contact part at the rod end from being
deformed depending on the material of the
workpiece.

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Smooth Cylinder CMZ2Y series

Single Clevis (C)

cm2ve ~[stroke[ ]z
Effective thread length FL 6CDw10'5*™
Width across flats Bt~ H1 NN G 2xP G
(Rc, NPT, G)
T FiT REA
A REB
MM/ /AL s
Width across flats KA AT K LE REC
H S + Stroke |
'5” + Stroke
ZZ'}* + Stroke
Low
Female rod end Female Rod End (mm) Speed
Female thread MM Bore size A1 H MM (v-#4) MQ
Thread depth A} m]@w—g 20 8 20 M4 x 0.7 121
25 8 20 M5 x 0.8 121
8 32 12 20 M6 x 1 123 RHC
40 13 21 M8 x 1.25 | 159 RZ
35 * When female thread is used, use a thin wrench when 0
H tightening the piston rod.

+ When female thread is used, use a washer etc. to prevent
the contact part at the rod end from being deformed
depending on the material of the workpiece.

ZZ'§* + Stroke

mm)
Boresize | A |[AL|B1| CI |[CD|CX| D E F|FL|G|H | Hi| I | K|KA|L MM NA NN P |[RR| S | U | (2 |(Z2)
20 18 |155/13 |24 | 9 | 10| 8 | 20805 |13 (105 8 |41| 5 |28 | 5 | 6 | 30| M8x1.25 |24 | M20x1.5|1/8| 9 |62 | 14 133|142
25 221195/ 17 | 30| 9 | 10 | 10 | 2600 | 13 [10.5| 8 |45 | 6 (335/55| 8 |30 | M10x1.25 |30 | M26x 1.5 |1/8| 9 |62 | 14 | 137 | 146
32 221195/ 17 | 30| 9 | 10 | 12 | 26805 | 13 [105| 8 | 45| 6 [37.5/5.5| 10 | 30 | M10x 1.25 [34.5| M26 x 1.5 | 1/8| 9 | 64 | 14 | 139|148
40 24|21|22|38|10| 15|14 | 3280 | 16 [135/11 |50 | 8 (465 7 |12 |39 | M14x 15 |425| M32x2 |1/4| 11 |88 |18 (177|188
Double Clevis (D)
—————————
~[stroke|[ ]z
., Effective thread length FL oCD hole H10'8%®
Width across flats B H1 NN G 2xP G Axis 09305 cL
™M= (Rc, NPT, G) >
. RN AR I M ‘ﬁ
3o 0 — — 4 §¥ Sl il \| <
w sI @ 3 T z
MM/ AL s u T exiss
Width across flats KA A K LF | ]
ey Ccz
H S + Stroke L NA
T Zésswke 0 RR
ZZ';° + Stroke . J‘
Female rod end Female Rod End (mm)
Female thread MM Bore size A1 H MM (Z22)
Thread depth A1 20 8 20 M4 x 0.7 121
25 8 20 M5 x 0.8 121
32 12 20 M6 x 1 123
40 13 21 M8x 1.25 | 159
3.5 + When female thread is used, use a thin wrench when
H tightening the piston rod.
E— 2 = When female thread is used, use a washer etc. to prevent
ZZ3’+ Stroke the contact part at the rod end from being deformed

depending on the material of the workpiece.
(mm)
Bore size | A |AL|B1|CD| CI |CL|CX|CZ| D E F |FL H|Hi| | |K|KA|L MM NA NN P |RR| S | U ((2)|(Z2

25 22(195/17| 9 |30|25|10|19|10| 26356 |13 [10.5 45 335/5.5| 8 {30 |M10x1.25/30 | M26x 1.5 |1/8| 9 |62 | 14 |137|146
32 22195/17| 9 [30]25|10[ 19|12 | 2650 |13]105 45 37.5/5.5| 10|30 [M10 x 1.25|34.5| M26 x 1.5 |1/8| 9 |64 | 14 (139|148

G

20 18155/ 13| 9 [24|25|10|19| 8 | 2040,s |13]105) 8 |41 28| 5|6 30| M8x1.25 |24 | M20x 1.5 |1/8| 9 |62 14 |133]|142
8
8

o o |o|o

40 242122 (10|38 (41.2|15|30| 14| 32500 |16(135/ 11|50 46.5) 7 (12|39 | M14x 1.5 |425| M32x2 |1/4|11|88|18|177(188
* A clevis pin and retaining rings (split pins for 240) are shipped together.

161
Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



CM2Y series

Rod Trunnion (U)

CM2YU

Boss-cut

Female rod end

e
S

N

z
g Width across flats B2
S Width across G 2xP G 2xNN
3 flats B1 H1 . (Rc, NPT, G)
g N TrE “ T
e o
Z %I T o i
o h
7

H{©

Width across flats KA ,+j’-
B

Width across flats CINA L__iEﬂectlve thread length
A K |TT 15 2xFL

S + Stroke F
ZZ -+ Stroke

T

ZZ + Stroke

Female thread MM
Thread depth A1

E»
ZZ + Stroke
* Mounting bracket is shipped together with the product. (mm)
Bore size A AL | B1 B2 D E F FL G H H1 1 K KA MM NA NN P
20 18 | 155| 13 26 8 203035 13 |105| 8 M 5 28 5 6 M8 x 1.25 24 M20 x 1.5 1/8
25 22 |195| 17 32 10 26303 13 [105] 8 45 6 |335]| 55 8 M10x1.25 | 30 M26 x 1.5 1/8
32 22 |195]| 17 32 12 2600 18 |105| 8 45 6 |375| 55 10 | M10x1.25 | 345 | M26x1.5 1/8
40 24 21 22 41 14 32303 16 | 135 | 11 50 8 |465 | 7 12 M14x15 | 425 M32 x 2 1/4
(mm) Boss-cut (mm) Female Rod End (mm)
Bore size S TD | TT | TX | TY | TZ Y4 Y24 Bore size Y24 Bore size A1 H MM zz
20 62 8 10 32 32 52 36 | 116 20 103 20 8 20 M4 x 0.7 95
25 62 9 10 40 40 60 40 | 120 25 107 25 8 20 M5 x 0.8 95
32 64 9 10 40 40 60 40 122 32 109 32 12 20 M6 x 1 97
40 88 10 11 53 53 77 | 445 | 154 40 138 40 13 21 M8x1.25 | 125
* When female thread is used, use a thin wrench
when tightening the piston rod.
= When female thread is used, use a washer etc.
to prevent the contact part at the rod end from
being deformed depending on the material of the
workpiece.
162

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Smooth Cylinder CMZ2Y series

Head Trunnion (T)

CM2YT —[stroke|][ |z

Effective thread length 2 x FL

)
m
>

=)
m
(-}

2xNN G  2xP G Width across flats B2 S5
Width across flats B1 _H17- \‘ (Re, NPT, G) g
o SR HIK S
MM AL | W 15 \ Width across flats CINA
Width across flats KA / A E
L H S + Stroke T hr
Z + Stroke
ZZ + Stroke
Female rod end
Female thread MM
Thread depth A1
35 |
ZZ + Stroke
* Mounting bracket is shipped together with the product. (mm)
Bore size A AL | B1 B2 D E F FL G H H1 I K KA MM NA NN P
20 18 |1565| 18 26 8 205035 13 | 105 8 41 5 28 5 6 M8 x 1.25 24 M20 x 1.5 1/8
25 22 |195| 17 32 10 26303 183 |105| 8 45 6 |335]| 55 8 M10x 1.25 | 30 M26 x 1.5 1/8
32 22 | 195 17 32 12 265035 13 |105| 8 45 6 |375]| 55 10 | M10x1.25 | 345 | M26x1.5 1/8
40 24 21 22 41 14 328030 16 (135 | 11 50 8 46.5 7 12 M14x1.5 | 425 M32 x 2 1/4
(mm) Female Rod End (mm)
Bore size S TD | TT | TX | TY | TZ Y4 zz Bore size A1 H MM zz
20 62 8 10 32 32 52 | 108 | 118 20 8 20 M4 x 0.7 97
25 62 9 10 40 40 60 | 112 | 122 25 8 20 M5 x 0.8 97
32 64 9 10 40 40 60 | 114 | 124 32 12 20 M6 x 1 99
40 88 10 11 53 53 77 | 1435 | 154 40 13 21 M8x1.25 | 125
# When female thread is used, use a thin wrench when
tightening the piston rod.
# When female thread is used, use a washer etc. to
prevent the contact part at the rod end from being
deformed depending on the material of the workpiece.
163

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

)
m
(]

= (g
S|E=

D (| N
N ([ X
oo



CM2Y series

Integrated Clevis (E)

CM2YE

~[stroke][ ]2

LZ + Stroke -
N ZZ + Stroke
Z + Stroke. | LP
S + Stroke I.LJ_'LRB{
2xP_ [ oCDH10'S™
(Re, N

Width across flats B1 NN/|

PT, G) \ 7

Effective thread length FL

Width across flats KA

Female rod end

3.5
Female thread MM
Thread depth A1

J
[ ]

Integrated clevis (90°) (V)

‘H@

Refer to page 166 for details
of clevis pivot bracket.

Port

H
ZZ + Stroke
+ The outer dimensions are the same as those for the integrated clevis (E).
(mm)
Bore size A |AL |B1 (CD| CI |CX| D E F FL | G H H1 I K |KA| L MM NA NN
20 18 |1565| 13 | 8 | 20 | 12 8 | 2080 | 13 |105| 8 | 41 5 | 28 5 6 12 M8 x 1.25 24 M20 x 1.5
25 22 |195| 17 | 8 | 22 | 12 | 10 | 2680 | 13 |10.5| 8 | 45 | 6 [335|565| 8 12 | M10x1.25 | 30 M26 x 1.5
32 22 [195) 17 | 10 | 27 | 20 | 12 | 2680 | 13 |10.5| 8 | 45 | 6 |375|55| 10 | 15 | M10x1.25 |345| M26x15
40 24 | 21 | 22 | 10 | 33 | 20 | 14 | 8254 | 16 |13.5| 11 | 50 8 [465| 7 12 | 15 M14x 1.5 |425 M32 x 2
(mm) Female Rod End (mm)
Bore size P |[RR| S u Z |2z Bore size A1 H MM zz
20 18| 9 62 [11.5|115| 124 20 8 20 M4 x 0.7 103
25 18] 9 62 |11.5] 119 | 128 25 8 20 M5 x 0.8 103
32 1/8 | 12 | 64 |14.5| 124 | 136 32 12 20 M6 x 1 111
40 1/4 | 12 | 88 |14.5| 153 | 165 40 13 21 M8x1.25 | 136
# When female thread is used, use a thin wrench
when tightening the piston rod.
+ When female thread is used, use a washer etc. to
prevent the contact part at the rod end from being
deformed depending on the material of the
workpiece.
164

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



CM2Y series

Dimensions of Accessories

With Single Knuckle Joint

Single Knuckle Joint

1-020B, 032B Material: Carbon steel ~ 1-040B Material: Free-cutting steel

Y(MAX;
oNDH10 MM oNDH10
ik MM o
'1‘ N / AN A L
G & : i c L (R
| w B | &/
NX1 A / HE
LUy H La] Lo
Rz Z (MIN) LB NX
A
(mm) mm)
Boresize| A | H MM NDuio | NX1 | Ui [Re | Y | Z Part no. | fepicatle | A | A¢| Es [LB| MM | NDwio | NX |Ri1 | Us
20 18 | 41 | M8x1.25 9% 9%, | 14 | 10 | 11 | 66 1-020B 20 46|16 |20 | 36 [M8x1.25| 99%° 52 |10 ] 14
25, 32 22 | 45 [M10x1.25] 979*° 9%, | 14 | 10 | 14 | 69 1-032B | 25,32 |48 | 18|20 | 38 [M10x1.25 9%™° 03 | 10 | 14
40 24 | 50 |M14x1.5| 12%°° | 1635 | 20 | 14 | 13 | 92 1-040B 40 69 | 22 | 24 | 55 |[M14x1.5]| 123" | 1635 |15.5] 20
With Double Knuckle Joint
oND hole H10 MM Y(MAX)
Axis d9 N i
- i 4
=+ /
—— {
A
Uz H
R2 Z (MIN)
(mm)
Boresize| A | H L MM ND [ NX2 | Rz | U2 | Y | Z
20 18 | 41 | 25 |M8x1.25 9 953110 | 14 | 11 | 66
25,32 | 22 | 45 | 25 [M10x1.25| 9 63| 10 | 14 | 14 | 69
40 24 | 50 (49.7|M14x15| 12 |16353| 13 | 25 | 13 | 92
Double Knuckle Joint
Y-020B, 032B Material: Carbon steel Y-040B Material: Cast iron
@Q&b g
oND hole H10
MM __oND hole H10 Axis d9
Axis d9 MM =
o N o NI«
s = s “E‘,]: I §|z =
LA L] A LU
LB Ll
A (mm)
Partno. | Pleae | A | A1 [ Er | LA [ LB MM ND | NX [ NZ [ Ri | Ui | peieedplh [ooline 9size
Y-020B 20 46 | 16 | 20 | 25 | 36 | M8x 1.25 9 6i| 18 | 5 14 CDP-1 Type C 9 for axis
Y-032B 25, 32 48 | 18 | 20 | 25 | 38 | M10x1.25 851 18 | 5 14 CDP-1 Type C 9 for axis
Y-040B 40 68 | 22 | 24 |49.7| 55 | M14x15 12 16167 | 38 | 13 | 25 | CDP-3 | o3x18L
# A knuckle pin and retaining rings (split pins for 840) are included.
Double Clevis Pinmateria: Carbon steel (mm) Double Knuckle Pinmaterial: Carbon steel (mm)
Bore size/220, 625, 332 Bore size/240 Bore size/220, 325, 332 Bore size/g40
CDP-1 CDP-2 CDP-1 CDP-3
2x03 2x03
Through hole ££ Through hole 8%
e 1 [ 1%
s 1 v i
4 332 | ® 1.75] 19.2 4 .LJ S
41.2 1.15 25 49.7
Retaining ring: Type C9 for axis Split pin: @3 x 18 L Retaining ring: Type C9 for axis Split pin: 83 x 18 L
* Retaining rings (split pins for 40) are included. * Retaining rings (split pins for 40) are included.
165

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

x| N
m| m
W | >

= |5 -]
= m
o\ o

D (| N
N ([ X
oo



CM2Y series

Rod End Nut Clevis Pivot Bracket (For CM2YE(V))

Material: Carbon steel Material: Carbon steel
‘@j
ul

(mm)
Partno. | fpleble | g | ¢ | p d H
NT-02 | 20 |13 [150[125[M8x125] 5
NT-03 | 25,32 | 17 |19.6]165|M10x125] 6
NT-04 | 40 |22 |254[21.0]M14x15] 8
(mm)
Mounting Nut Applicable Included
Mounting Nut Partno. | 4PPI0F | L | LC |LD|LE | LF |LG | LH|LR | LT |LX| LY |Lv | if0udeq

Material: Carbon steel CM-E020B| 20,25 |24.5| 8 [6.8] 22| 15|30 [ 30 [ 10 [3.2] 12 | 59 [18.4] CD-S02

&, CM-E032B| 32,40 34 |10| 9 (25 |15|40 |40 |13 | 4 |20 | 75 | 28 | CD-S03
Note 1) A clevis pivot bracket pin and retaining rings are included.
o Note 2) It cannot be used for the single clevis (CM2YC) and the double clevis (CM2YD).
S|
H mm  Clevis Pivot Bracket Pin (For CM2YE(V))
Partno. | tpleable | g | ¢ | p d H Material: Carbon steel
SN-020B 20 26 | 30 [25.5|M20x1.5| 8 3
SN-032B| 25,32 | 32 | 37 |31.5|M26x1.5| 8 K Q
SN-040B 40 41 |47.3|40.5|M32x2.0| 10 m L2 m

t A L1 Nt

. (mm)
Trunnion Nut Partno. | APPicable | p d | L | L | m t Included
H Material: Carbon steel bore size retaining ring
30° 8 CD-502 20, 25 330 76 | 245 | 195 | 16 | 09 | TypeC8forads
7 CD-S03 | 32,40 o5 96 34 20 | 1.35 | 115 |TypeC10foraxis
'_F T Note) Retaining rings are included.
Q9 £ i
=
= d
(mm)
Partno. | ipleable | g | ¢ | p d H

TN-020B 20 26 | 28 |255|M20x1.5| 10
TN-032B| 25,32 | 32 | 34 |31.5|M26x1.5| 10
TN-040B| 40 41|45 405/ M32x 2| 10

Mounting Brackets, Rod End Brackets, and Nut Material: Stainless Steel

Part No. (Dimensions: Same as standard type)

Bore size Single Double Mounting Rod
(mm) boot Flange knuckle joint | knuckle joint* nut end nut

20 CM-L020BSUS | CM-F020BSUS | 1-020BSUS | Y-020BSUS | SN-020BSUS | NT-02SUS
25,32 CM-L032BSUS | CM-F032BSUS | 1-032BSUS | Y-032BSUS | SN-032BSUS | NT-03SUS

40 CM-L040BSUS | CM-F040BSUS | 1-040BSUS | Y-040BSUS | SN-040BSUS | NT-04SUS
* A knuckle pin and retaining rings are shipped together. Refer to the XC27 for details on stainless

steel double clevis pins and double knuckle pins. The accessories need to be ordered separately
from the cylinder.

® 166

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



With Single Clevis

Dimensions of Accessories CM2Y Series

© Z + Stroke
B - oCD
kA jWJ
oL
1. 5o REA
I o
@
REB
068 17205
75 40 6.8x3.4
_ 0 REC
Rotation Angle (mm)
Bore size o o o o . Mounting Part no. Applicable bore size | CX Z + Stroke CD | LX | LZ m
A B A° +B° +90
(mm) e 20 188 Low
20 25 85 200 cm2yc CM-B032 25 10 137 9 44 60 Speed
25,32 21 81 192 (Single clevis) 32 139
40 26 | 86 202 CM-B040 40 15 177 10|49 | s (MQ
Note) A pivot bracket pin and retaining rings are not included with the pivot bracket.
RHC
With Rod Trunnion With Head Trunnion
X Z + Stroke Z + Stroke X
oCD oCD
S I ¥ & s
| EN
06.8 7505 6.8x 3.4 06.8 {7205 ¥
LX
7.5 40 75| [, 40 Iz
57 57
6.8x3.4
— (mm)
Mountin Part no. Applicable bore size | TX Rod trunnion Head trunnion cD LX Lz
o ) e Z + Stroke Z + Stroke
CM-B020 20 32 36 108 8 66 82
CM2YU/CM2YT 25 112
(Rod/Head trunnion) CN-B032 32 40 40 114 i 74 %
CM-B040 40 53 445 143.5 10 87 103
Note) A pivot bracket pin and retaining rings are not included with the pivot bracket.
Pivot Bracket Pivot Bracket Pin (For CM2YC)
—
* Pivot brackets consists of a set of two brackets.
75 40 40 75
.34 34 I
NS A, 2
e & L ©
’e 2 g Qg, )
QL
- f I 1,1 £
£ l 5 %I
oCDEE & &,  oCDER 1 Lz |(lm
t] L1 Nt
o o ® Sl
T T
28 ¥ ' 28
57 57 (mm)
(mm) Applicable Included
Barinol ) bore size Part no. Das d L+ L2 m t retrai\:‘r;ng
CM-B020 Note 2) 8 Mots 1) A pivot brackst pin and refalning 20to32 | CDP-1 | 93878 | 86 | 25 |19.2|1.75|1.15 | TypeCforais
x ote pivot bracket pin and retaining rings -
CM-B032 9 are not included with the pivot bracket. 40 CD-S03 | 10332 | 9.6 | 34 [29 [1.35]1.15 |TypeCi0forais
CM-B040 10 Note 2) Only for the trunnion Note) Retaining rings are included with the pivot bracket pin. D-O
167

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



CM2Y series

Auto Switch Mounting

Auto Switch Proper Mounting_; Position (Detection at stroke end) and Its Mounting Height

Solid state auto switch

D-M9O
D-M9CIW
D-M9CIA
=Hs
©f= =if 1
Allz| 8]
(24)
( ): Dimension of the D-M9CJA

A and B are the dimensions from the end of the head

cover/rod cover to the end of the auto switch.
D-M901V
D-

EA ] 8]
(22)

( ): Dimension of the D-M9TIAV
A and B are the dimensions from the end of the head
cover/rod cover to theend of the auto switch.

D-H70O/H7CW/H7NF/H7BA/H7C
=Hs

@ =if

D-G5NT

D-G39A/K39A

=Hs
A~

\ﬁ Q
Pl

T

168

Reed auto switch

D-A90]
~Hs
@ ={EEE-—RE
Allns]  B]
22)
(): Dimension of the D-A96
A and B are the dimensions from the end of the head
cover/rod cover to the end of the auto switch.
D-A90IV

-

A and B are the dimensions from the end of the head
cover/rod cover to the end of the auto switch.

2] B

D-C7/C8/C73C/C80C

iﬂ§
O =g
[ = ]
A

D-B5/B6/B59W

=Hs

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Auto Switch Mounting CMZY Series

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

Auto Switch Proper Mounting Position (mm)
A_uto
switch ST D-C70] D-A30A | D-H7O
D-B50] D-C80 D-G39A D-H7C
g:mgng((vv)) A () D-B64 D-C73C DHEERL D-K39A D-H7EW ECoNT
D-C80C D-A44A D-H7NF
Boresize\] A B A B A B A B A B A B A B A B
20 1 9.5 7 55 | 15 0 75 6 4 25 1 0 6.5 5 3 1.5
25 10 10 6 6 0.5 05 6.5 6.5 35 | 35 0 0 5.5 55 | 2 2
32 115 | 105 75 65 | 2 1 8 7 5 4 15 0.5 7 6 35 25
40 175 | 155 | 135 | 115 | 8 6 14 12 11 9 75 55 | 13 11 9.5 7.5
Note) Adjust the auto switch after confirming the operating condition in the actual setting.
Auto Switch Mounting Height (mm)
Auto D-M9C]
switch| D-M9LIV g'gg‘? B-MoEw D-A30A
del| D- - D-A9L] - g
model| D-MOLIWV/ 1y pegyy | B:62H | B-C73C | p.Gaga | D-Ad4A
D-M9CJIAV D-C80 D-C80C
D-A9LIV D-G5NT D:H;Ew D-K39A
D-H7C -H7NF
Bore size Hs Hs Hs Hs Hs Hs
20 23.5 25.5 225 25 60 69.5
25 26 28 25 27.5 62.5 72
32 20.5 31.5 285 31 66 755
40 335 35.5 32.5 35 70 79.5
169

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

x| N
m|m
W | =

= |[= |25 E]
B © [

=)
N
o



CM2Y series

Minimum Stroke for Auto Switch Mounting

(mm)
Number of auto switches
Auto switch model With 1 pc With 2 pcs. With n pcs. (n: Number of auto switches)
pe. Different surfaces Same surface Different surfaces Same surface
20+35(=2) 55+35(n-2)
- Note 1) Note 1)
D-MoOI 5 15 Note 4ot (n=2, 4, 6.-frote3) (n=2,3,4,5-)
20+35(N-2) 55 +35 (n—2)
- Note 1) Note 1)
D-moCIW 10 15 Nete 4ot (h=2, 4, 6. N0 (n=2,3,4,5-)
25 +35(0=2) 60 + 35 (n-2)
- Note 1)
D-M9CIA 10 25 40 Note (o2 4 6P (=2.3.45-)
15+3500-2) 50 + 35 (n —2)
D-A9C] 5 15 30 (n=2, 4, 6..) Note 3) (n=2,3,4,5-)
20+35(=-2) 35+35(n-2)
D-M9CIV 5 20 35 (n=2, 4, 6§ Note3) (n=2,3,4,5-)
15 +35(0=2) 25+35(n-2)
D-A9CIV 5 15 25 (n =2, 4, 6. Note3) (n=2,3,4,5.)
D-M9CIWV 10 20 35 20 + 351%1 35+ 35 (n—2)
D-M9IAV (n =2, 4, 6...) Note 3) (n=2,3,4,5-)
D-C70] 15+ 450 =2) 50 + 45 (n—-2)
D-C80 10 5 50 (n=24, 6...)2Note 3) (n=2,3,4,5-)
D-H7 15 4+ 45(0—=2) 60 + 45 (n—-2)
D-H7CwW 10 15 60
D-H7NF (n =2, 4, 6...) Note 3) (n=2,3,4,5)
D-C73C (n-2) _
D-C80C 10 15 65 15 + 50 65+50 (n-2)
D-H7C (n=2, 4, 6.)Noted) (n=2,3,4,5)
D-B501/B64 10 15 75 15 +50(N—2) 75+55 (n-2)
D-G5NT (n=2, 4, 6...) Note 3) n=2,3,4,5-)
20 + 50N =2 75+ 55 (n - 2)
D-B59W 15 20 5 (n=2,4, 6. Note3) (n=2,3,4,5-)
D-A3CIA/G39A 10 35 100 35+30(n-2) 100 + 100 (n—2)
D-K39A/A44A (n=2,3,4,5) (n=2,3,4,5)

Note 3) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
Note 1) Auto switch mounting

Auto switch model

With 2 auto switches

Different surfaces

Same surface

B
35

LN

]

T
=

The proper auto switch mounting position is 3.5 mm inward

from the switch holder edge.

7

‘B

The auto switch is mounted by slightly displacing it in a
direction (cylinder tube circumferential exterior) so that the auto
switch and lead wire do not interfere with each other.

D-m9O Note 2) Note 2)
D-MOOW Less than 20 stroke Less than 55 stroke

D-M9CIA Less than 25 stroke Note 2) Less than 60 stroke Note 2)
D-A90] - Less than 50 stroke Note 2)

Note 2) Minimum stroke for auto switch mounting in types other than those in Note 1.

Operating Range

(mm) (mm)
. Bore size . Bore size

Auto switch model 20 [ 25 | 32 | 40 Auto switch model 20 | 25 | 32 | 40
D-M9CI(V) D-B59W 12 |12 |13 13
D-M9CIW(V) 35| 3 | 35| 3 D-H7C/H7OW 4| 4 45| 5
D-M9TIA(V) D-G5NT/H7NF :
D-A9C1(V) 6 | 6|6 |6 D-H7C 7859 [ 10
D-C7C1/C80 7 8 8 8 D-G39A/K39A 819 9 9
D-C73C/C80C
D-B5C1/B64
D-ASCIA/A44A 8]8]°|°®

* Values which include hysteresis are for guideline purposes only, they are not a guarantee (a: ing app +30%

Note) The D-A90 and D-A901V cannot be mounted on 250.

170

and may change substantially depending on the ambient environment.

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Auto Switch Mounting Brackets/Part No.

Auto Switch Mounting CM2Y Series

" Bore size (mm)

Auto switch model 220 225 232 240
g:mggw()v) BM5-020 BM5-025 BM5-032 BM5-040
D-A9CI(V) (Asetofa,b,c,d) | (Asetofa b, c,d) | (Asetofa,b,c, d) | (Asetofa,b,c,d)

BM5-020S BM5-025S BM5-032S BM5-040S
D-M9LIA(V) (Asetofb,c,de) | (Asetofb,c,d,e) | (Asetofb,c,d e) | (Asetofb,c,d, e)

Switch bracket (Resin)

Auto switch

a| Transparent (Nylon) Note )
e|White (PBT) > %
B I
Switch holder Z
Z
D-C70/C80
g:ﬁ;éC/CBOC BM2-020A BM2-025A BM2-032A BM2-040A
D-H7OW (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw)
D-H7NF
D-H7BA BM2-020AS BM2-025AS BM2-032AS BM2-040AS
(A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw)
g:ggQDVIVBS4 BA2-020 BA2-025 BA2-032 BA2-040
(A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw)
D-G5NT
D-A3CIA/A44A Note 3) BM3-020 BM3-025 BM3-032 BM3-040
D-G39A/K39A (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw)

Note 1) Since the switch bracket (made from nylon) are affected in an environment where alcohol, chloroform,
methylamines, hydrochloric acid or sulfuric acid is splashed over, so it cannot be used. Please contact
SMC regarding other chemicals.

Note 2) Avoid the indicator LED for mounting the switch bracket. As the indicator LED is projected from the
switch unit, indicator LED may be damaged if the switch bracket is fixed on the indicator LED.

Note 3) The D-A3CIA/A44A/G39A/K39A cannot be mounted on the CDM2OIP series centralized piping type.

Band Mounting Brackets Set Part No.

Set part

no. Contents

BM2-000A(S)

+ S: Stainless steel screw

*Auto switch mounting band (c)
* Auto switch mounting screw (d)

*Switch bracket (White/PBT) (e)

)
m
>

0 (| [
m|m
Q|| =

=13
S|E=

D (| ]
N ([ X
oo

BJ4-1 *Switch holder (b)
BJ5-1 *Switch bracket (Transparent/Nylon) (a)
*Switch holder (b)

[P e e e e e e e e e e e e e e R e R e e e e e e e e e e e e e A e e e e e e ey

I Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable. |

: Refer to pages 941 to 1067 for the detailed specifications. :

1 Type Model Electrical entry Features 1

1 D-H7A1/H7A2/H7B — 1

1 N D-H7NW/H7PW/H7BW Diagnostic indication (2-color indicator) 1

1 Solid state - — 1

D-H7BA ) Water resistant (2-color indicator)

1 Grommet (In-line) — 1

1 D-G5NT With timer 1

1 D-B53/C73/C76 — 1

Reed " P "

1 D-C80 Without indicator light 1

1 = With pre-wired connector is also available for solid state auto switches. For details, refer to pages 1014 and 1015. 1 D'I:l
1 = Normally closed (NC = b contact) solid state auto switches (D-F9G/F9H) are also available. For details, refer to page 959. 1

B o e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e o |:

171 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Smooth Cylinder

G1Y Series
220, 025, 032, 240, 350, 363, 280, 3100

How to Order

B caGiy[Bl25 -[100[ ]z-
Mcgew -[A00] Jz-

With auto switch
(Built-in magnet) Bore size Rod end thread l\gafde to Ol;d;er
to page 17:
i 20 20 mm .i . Male rod end efer to
Mounting 25 | 25mm [F 1 Femsle roaenc | o detal
B Basic
o 2 " .
Z* |Basic (without trunnion mounting female thread) iﬁ il) 22 Pivot bracket Number of auto switches
L Axial foot 50 | 50 mm Nil 2 pcs.
Rod fl S 1 pc.
2 od flange 63 | 63mm e
G Head flange 80 | 80 s+ Onlyfo D, U, T mountng ypes n n” pcs.
u* Rod trunnion mm + Pivotbracket s sipped together with the product, but ot assembled
T Head trunnion 1007 100 mm Rod end bracket Auto switch
i oc end bracke
D Clevis Port thread type i Nomo [ Nil [ Without auto switch
* Not available for 680 or 100. Nil R 20 to 2100 * For applicable auto switches,
* Mounting bracket i i i ! c {020too Vv Single knuckle joint refer to the table below.
* g bracket is shipped together with ™ NPT 220 to 100 —
the product, but not assembled. w Double knuckle joint
* The cylinder for F, G, L, D mounting types is M5x0.8 | 220, 625 . . . _— .
Z: Basic (without trunnion mounting female TF G 232 to 9100 I’,\‘OZ Zr:gl:%: provided for the female - Built-in Magnet CVImder Model
thread). ) * Rod end bracket is shipped together If a built-in magnet cylinder without an
Cylinder stroke (mm) with the product, but not assembled.  auto switch is required, there is no need
+ Refer to “Ordering Example of Cylinder Refer to “Standard Strokes” on * A knuckle joint pin is not provided | .
Assembly” on page 173. page 173. with the single knuckle joint. to enter the symbol for the auto switch.

(Example) CDG1YB32-150Z

Ap licable Auto Switches/Refer to pages 941 to 1067 for further information on auto switches.
= Auto switch model .
ool Special  |Electiical S| Wiring peadiciaos Applicable bore size Lead wire length () (., ireq [ Applicable
» function entry | 8| (Output) be AC 220 to 963 80,2100 | 0.5 | 1 | 3 | 5 |None|connector load
= Perpendicular In-line In-line (Nil) [(M)] (L) [(Z) | (N)
. MONV M9ON = ® /0 O|—| O
Srwire (NPN) sV 12y — — G59 e [—[e@[O[—[ O | Ic
M9PV M9P = ® ®/® O|—| O |circuit
o Grommet 3-wire (PNP) — — G5P o — 0 0 — 6}
5 M9BV M9B — ® /0 O|—| O
:‘;’ 2-wire 12V — — K59 ® —|®O0|—| O —
H Connector| — H7C = e — o006 —
o . MONWV MONW — ® /0 O|—| O
2 ¥
3 e S-vire (NPN) oavlsv vl — = = G59W | e [—|e@|Oo|—| O IC | Relay,
© | Diagnostic indication 3-uire (PNP) ' MOPWV MOPW = ) /@ O O |circuit| PLC
g (2-color indicator) — = G5PW ) — @/ O|—| O
o 2-wire 12V MOBWV M9BW = ) /@ O|—| O _
5 Grommet = = K59W ) —|®@|O|—| O
0 3-wire (NPN) 5V 12V MONAV* | MINA* = O |0O|®@|O|— ] IC
Water resistant 3-wire (PNP) ' M9PAV*! | M9PA*! = O |Oo|@]O[—] O |circuit
(2-color indicator) " M9BAV*' | M9BA* = Oc|®@|O [¢) _
2-wire 12V = = G5BA" | @ [—[®[0[—| ©
4-wire (NPN) 5V,12V — H7NF G59F D — @O |— | O [ICcircuit
s PRETD (NPN equivalent) | — 5V — A9V A — — | ®|— — [[Ccircuit
£ ] 100V | A93V* Al — oo — | —
,% Grommet |No| 100 Vorless| A90V A90 = —|®|—|—| — [ICcircuit
<} — Yes| 100V, 200V = B54 — @ 0| —
5 W‘ 2wire |24V | 2V [200Vorless]  — B64 o —le[—[—[ — | — Rpell_?:y'
- Connector] Yes| — — C73C — o — o0 0 —
3 No 24V or less — Cc80C — e — ®|®| — [(Ccirui
O | Digrstc deatin (4l ndae) | Grommet [Yees| — — = B59W o —®|—|—| — —
+1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee the water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.
#2 1 m type lead wire is only applicable to D-A93.
Nil (Example) MONW + Solid state auto switches marked with “O” are produced upon receipt of order.

= Lead wire length symbols: 0.5 m--- ( )

im M (Example) MONWM
- L (Example) MONWL
Z )
)

Example) MONWZ

- N (Example) H7CN

# Since there are other applicable auto switches than listed, refer to page 182 for details.

* For details about auto switches with pre-wired connector, refer to pages 1014 and 1015.

+ The D-A90J0/M90ICIC] auto switches are shipped together, (but not assembled). (However, only the auto switch mounting brackets are assembled before shipment.)

® 172

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com




Specifications

Smooth Cylinder CG1 Y Series

Bore size (mm)

20 [ 25 | 32 | 40 | 50 | 63 | 80 | 100

Action Double acting, Single rod

Type Non-lube

Fluid Air

Proof pressure 1.05 MPa
operating pressure 0.7 MPa

Ambient and fluid temperature

Without auto switch: —10°C to 70°C

No freezi
With auto switch: —10°G to 60°C (© €629

Piston speed

5 to 500 mm/s

Stroke length tolerance

Up to 1000**mm, Up to 1500%® mm

Cushion

Rubber bumper

Basic, Basic (without trunnion mounting female thread),
Axial foot, Rod flange, Head flange,

=)
m
(=~}

)
m
(]

)
m
>

=13
S|E=

Mounting Rod trunnion, Head trunnion,
Clevis (used for changing the port location by 90°)
All bl rate 0.5 L/min (ANR) or less
Allowabl Male RHC
owable 0.28 | 0.41 | 0.66 | 1.20 | 2.00 | 3.40 | 5.90 | 9.90
Symbol kinetic Rubber | _rod end RZQ
Rubber bumper energy bumper
P o f:;":r:z 011 | 018 | 029 | 0.52 | 0.91 | 1.54 | 2.71 | 4.54
:S:@ # Cylinder sizes 880 and @100 do not have rod trunnion and head trunnion types.
Foot, flange and clevis types of cylinder sizes from @20 to 863 do not have trunnion mounting
female thread.
Operate the cylinder within the allowable kinetic energy.
de to . -
Wékier | Made to Order Minimum Operating Pressure
mgpe=l Click here for details - Unit: MPa
Symbol Specifications \ Bore size (mm) \ 20 \ 25 \ 32 \ 40 \ 50 \ 63 \ 80 \ 100 \
-XA[] | Change of rod end shape ‘ Minimum operating pressure ‘ 0.02 0.01
-XC6 | Made of stainless steel
Standard Strokes
————————
Replacement Parts/Seal Kit Bore size (mm) Standard stroke (mm) Note 1) | Max. manufacturable stroke (mm)
20 25, 50, 75, 100, 125, 150, 200 Up to 1500
Bore size . 25, 50, 75, 100, 125,
(mm) Kit no. 25, 32, 40, 50, 63, 80, 100 150, 200, 250, 300 Up to 1500
20 CG1Y20Z-PS | Piston seal 1pe. Note 1) Intermediate strokes not listed above are also available.
25 CG1Y25Z-PS | Rod seal 1pc. Note 2) Applicable strokes should be confirmed according to the usage. For details, refer to “Air
32 CG1Y32Z-PS | Tube gasket 1 pe. Cé/gq_tiers":\llodeldSelttec‘t'LOT” on irc:jn:hmat:erga%estofkthe I_Behstt Pr;et;.mm;:(:st Nfo'lfglnhln
% addition, the products that exceed the standard stroke might not be able to fulfill the
40 CG1Y40Z-PS | Grease pack (10g) 1 pe. specifications due to the deflection etc.
When maintenance requires only grease, use the
following part numbers to order. - .
Grease pack part number: GR-L-005 (5 g) Orderlng_; Example of Cyllnder Assembly
GR-L-010 (10 g)
GR-L-150 (150 g) Clevis
Cylinder model: CDG1YD20-100Z-NW-M9BW
Auto switch
Mounting D: Clevis
Pivot bracket  N: Yes
Rod end bracket W: Double knuckle joint Pivot bracket
Auto switch D-M9BW: 2 pcs.
* Pivot bracket, double knuckle joint and auto
switch are shipped together with the product,
but not assembled. Double knuckle joint
D-OI

o

173 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com


http://www.smcworld.com/products/en/custom.do

CG1Y series

Mounting Brackets/Part No.

’\{I)?:gligig Oc:’?yer 20 | 25 | 32 BO;%SIZG (lsnt;m) 63 | 80 | 100 CaEiis
Foot  [2%ie] G020 | CG-L025 | 0G-LO32 | CG-LO40 | CG-LOSD | CG-LOG3 | CG-LOBD | CG-L100 g:ﬁg‘j\mg bolts
Flange | 1 |CGF020 | CG-F025 | CG-F032 | CG-FO40 | CG-FO0 | CG-FO3 | CG-FOO | CG-F100 lk‘o"fne“ g bolts
Trunnion pin| 1| 0G-T020 | G-T025 | 0G-T032 | G-T040 | 0G-T050| 0G-T0g3| — | — g}m‘gggg}fs-yzﬂa‘washevs
Clevis | 1 |C6-D020 | C6-D025 | CG-D032 | C6-D040 | CG-D050 | CG-DOg3 | C6-D080 | CG-D100 }g:zx:z;n’”gﬂggg‘sg"jngs
Pivot bracket| 1 | 00020244 | 00025244 | 0GA0224A | 0G4402%4 | CG4502%4 | CG4832% | CGR02% | CG00% |1 pivot brracket

Mounting Procedure

Mounting procedure for trunnion
Follow the procedures below when mounting a
pivot bracket on the trunnion.

220 to 063 Trunnion bolt (With
scotch grip) 4 or 5
times femounting

Cylinder body possible
=i -
! | Flat washer
| Trunnion pin

(Put grease on the exterior.)
Pivot bracket

Note) Order two foots per cylinder.

Accessory

« For details about the single knuckle joint, double knuckle joint, knuckle pin, clevis pin, and rod

end nut, refer to page 178.
= Stainless steel mounting brackets and accessories are also available.
Refer to page 178-1 for details.

Mounting procedure for clevis
Follow the procedures below when mounting a
pivot bracket on the clevis.

20 to 063

Clevis pin
Retaing /(Put grease)

Cylnderbody Retaining

Weights 4
(mm) l_
Bore size (mm) 20 25 32 40 50 63 80 | 100
Basic 0.11 | 0.18 | 0.28 | 0.44 | 0.83 | 1.17 | 2.23 | 3.43 ot bracke
! Axial foot 022 | 0.31 | 0.44 | 0.66 | 1.31 | 1.89 | 3.19 | 5.18 L
v?;;'ﬁ‘ Flange 0.19 | 0.28 | 0.42 | 0.64 | 1.17 | 1.67 | 2.94 | 4.78
Trunnion 0.12 [ 020 | 0.31 | 049 | 097 [ 131 | — | —
Clevis 0.16 | 0.26 | 0.43 | 067 | 1.23 | 1.85 | 2.94 | 4.71 280, ’301' 00 )
Pivot bracket 0.08 | 0.09 | 0.17 | 0.25 | 0.44 | 0.80 | 0.98 | 1.75 e evase) pyindel Betaning
Single knuckle joint 0.05 | 0.09 | 0.09 | 0.10 | 0.22 | 0.22 | 0.39 | 057 - ,
Double knuckle joint (with pin) 0.05 | 0.09 | 0.09 | 0.13 | 0.26 | 0.26 | 0.64 | 1.31
Additional weight per 50 mm of stroke| 0.05 | 0.07 | 0.09 | 0.15 | 0.22 | 0.26 | 0.35 | 0.49
Weight reduction for female rod end | -0.01|-0.02|-0.02| —0.05|-0.10|-0.10|-0.18|-0.27

Calculation (Example) CG1YL20-100Z (Foot, 620, 100 st)
* Basic weight 0.22 (Foot, 820)
* Additional weight 0.05/50 stroke
® Air cylinder stroke 100 stroke
0.22 + 0.05 x 100/50 = 0.32 kg

Pivot bracket

| /APrecautions |

== e e - e - - ——————— = - — -

1 Be sure to read this before handling the products.
1 Refer to back page 50 for Safety Instructions and pages

| e e e e L L L T T

R e

1
3 to 12 for Actuator and Auto Switch Precautions. 1

- e e e

Operating Precautions

\ Disassembly/Replacement

/A Warning
. Operate within the specified cylinder speed.
Otherwise, cylinder and seal damage may occur.

. When the cylinder is used as mounted with a single
side fixed or free (basic, flange types), a bending
moment will be applied to the cylinder due to the
vibration generated at the stroke end, and the cylinder
may be damaged. In such a case, mount a bracket to
reduce the vibration of the cylinder or use the cylinder
at a piston speed low enough to prevent the cylinder
from vibrating at the stroke end.

A\ Caution

1. Tighten clevis bracket mounting bolts with the
following proper tightening torque.
©20: 1.5 N-m, 925 to 32: 2.9 N-m, 940: 4.9 N-m,
©50: 11.8 N-m, 963 to 80: 24.5 N-m, g100: 42.2 N-m

-

N

® 174
Courtesy of Steven Engineering, Inc - (800) 258-9200

A\ Caution
1. Do not replace the bushings.

The bushings are press-fit. To replace them, they must be replaced
together with the cover assembly.

2. To replace a seal, apply grease to the new seal before
installing it.
If the cylinder is put into operation without applying grease to the
seal, it could cause the seal to wear significantly, leading to
premature air leakage.

3. Cylinders with @50 or larger bore sizes cannot be
disassembled.
When disassembling cylinders with bore sizes of 20 through 240,
grip the double flat part of either the head cover or the rod cover
with a vise and loosen the other side with a wrench or a monkey
wrench etc., and then remove the cover. When retightening,
tighten approximately 2 degrees more than the original position.
(Cylinders with @50 or larger bore sizes are tightened with a large
tightening torque and cannot be di nbled. If di nbly is
required, please contact SMC.)

- sales@steveneng.com - www.stevenengineering.com



Dimensions: 220 to 100

Basic: CG1YB

Smooth Cylinder CG1 Y Series

Wit across flats KA~ F_GA 2x P GB Section TA/TB
MM Hi \ V(Rc, NPT, G) N 2xTC
ol e -?‘/
] ' _ L]
e s g
Ci =St £ y
) RS 2 t
;M:"'me AL |© 4xTC ] u
A | | K|[TA 18| TE
H S + Stroke F TG TF
ZZ + Stroke NA |
Female rod end
MM Section TA/TB (mm)
B"([ﬁrﬁ')ze *TC ™ TE | TF | TG
i 20 M5 x 0.8 8% 4 0.5 55
lm_[ ( 25 M6 x 0.75 10%3% 5 1 6.5
jﬂ_[ ) 32 M8 x 1.0 12+9% 55 | 1 7.5
40 M10x 1.25 14°3% 6 1.25 8.5
50 M12x 1.25 16'9% 75| 2 10
|H | 63 M14x 1.5 18%%® | 115 | 8 14.5
22 + Stroke * Cylinder sizes 280 and 6100 do not have trunnion mounting
female thread on the width across flats NA.
(mm)
Bore size |Strokerange| 5 | Al | By | ¢ | D | E | F | H | Hi | 1 J K | KA MM NA
(mm) (mm)
20 18 | 155 | 13 | 14 8 | 12 | 2 35 5 | 26 |[M4x0.7depth7| 5 6 | M8x125 | 24
25 22 [195| 17 |165| 10 | 14 | 2 40 6 | 31 |[M5x0.8depth7.5| 55| 8 | M10x1.25 | 29
32 22 [ 195 17 | 20 12 | 18 2 40 6 | 38 |M5x0.8depth8| 55| 10 | M10x1.25 | 35.5
40 Up to 1500 30 | 27 19 |26 16 | 25 | 2 50 8 | 47 [ M6x1depth12 | 6 14 | M14x15 | 44
50 35 | 32 27 | 32 20 | 30 | 2 58 | 11 58 |M8x1.25depth 16| 7 18 | M18x1.5 | 55
63 35 | 32 27 | 38 20 | 32 2 58 | 11 72 [M10x 1.5depth 16| 7 18 | M18x1.5 | 69
80 40 |37 32 |50 25 | 40 | 3 71 | 13 | 89 [M10x15depth22| 10 22 | M22x15 | 86
100 40 | 37 41 | 60 30 | 50 | 3 71 | 16 | 110 [M12x1.75depth22| 10 | 26 | M26x1.5 | 106
(mm)
i Rc, NPT port G port
B Prom ™ s [ [ ™ | = [ar e s e T o
20 77 | 11 1| 114 | 12 12 | 1/8 |12 12 |M5x0.8
25 77 | 11 1| 119 | 12 12 | 1/8 [125 | 125 |[M5x0.8
32 79 | 11 1| 121 | 12 12 | 1/8 [105 | 105 1/8
40 Up 1o 1500 87 | 12 12 | 139 | 13 13 | 1/8 |13 10 1/8
50 102 | 13 13 | 162 | 14 14 | 1/4 |14 14 1/4
63 102 | 13 13 | 162 | 14 14 | 1/4 |14 14 1/4
80 122 | — — | 196 | 20 | 20 | 38 |175 | 175 | 3/8
100 122 | — — | 196 | 20 | 20 | 1/2 [175 | 175 1/2
Female Rod End (mm)
E;’Zr: A | H MM 2z
20 8 | 13 | M4x07 92
25 8 | 14 | M5x0.8 93
32 [ 12 | 14 M6 x 1 95
40 [ 13 [ 15 [ M8x1.25 104
50 [ 18 | 16 | M10x15 120
63 | 18 | 16 | M10x15 120
80 | 21 | 19 | M14x15 144
100 | 25 [ 22 | M16x1.5 147

* When female thread is used, use a washer etc. to
prevent the contact part at the rod end from being
deformed depending on the material of the workpiece.

175

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

x| N
m|m
W | =

= |5 -]
= m
o | o

D (| =
N ([ X
oo



CG1Y series

Mounting Bracket
Axial foot: CG1YL

¥=Hﬁ'9w_£ 4
1] %
3 5| |
" T ==
T T
4xoLD w 2xeLC w
- X y (Knock pin position) y X M
r4 LS + Stroke
ZZ + Stroke
Axial Foot (mm)
Bore size (mm) B LC LD LH Ls LT LX Lz M w X Y z zz
20 34 4 6 20 53 3 32 44 3 10 15 7 47 118
25 38.5 4 6 22 53 3 36 49 35 10 15 7 52 123.5
32 45 4 7 25 53 3 44 58 3.5 10 16 8 53 125.5
40 54.5 4 7 30 60 3 54 71 4 10 16.5 8.5 63.5 144
50 70.5 5 10 40 67 4.5 66 86 5 17.5 22 1 755 | 169.5
63 82.5 5 12 45 67 4.5 82 106 5 17.5 22 13 75.5 | 169.5
80 101 6 ikl 55 74 4.5 100 125 5 20 28.5 14 95 | 202.5
100 121 6 14 65 74 6 120 150 7 20 30 16 95 206

= Other dimensions are the same as basic type.

# For female rod end, since the wrench flap (K and KA portions) will be inside of the bracket when the piston rod is retracted at the stroke end, extend
the piston rod to tighten the nut using a tool, and mount a workpiece on the rod end.

+ Refer to the basic type for the female rod end.

Rod flange: CG1YF

4xoFD F FT
i i
al 3 S f=ami
i “é[ i a—
FXz015 H
B
Head flange: CG1YG
9 4xoFD
i i ué %@5 T {3}
g LY
L ><« K v
(K O
FT F FX015
ZZ + Stroke B
Flange (mm)
Bore size (nm) | B E F | Fx | F0 | FT | n | Headfange
20 40 12 2 28 | 55 6 35 120
25 44 14 2 32 | 55 7 40 126
32 53 18 2 38 | 66 7 40 128
40 61 25 2 46 | 66 8 50 147
50 76 | 30 2 58 9 9 58 171
63 %2 | 3 2 70 11 9 58 171
80 104 | 40 3 82 11 11 71 207
100 128 | 50 3 100 | 14 14 | 7 210

Note) End boss is machined on the flange for oE.
# Other dimensions are the same as basic type.
* Refer to the basic type for the female rod end.

176

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Mounting Bracket

Rod trunnion: CG1YU

Smooth Cylinder CG1 Y Series

TR
TS | Bracket mounting range
ga . Trunnion (mm) REA
(=[] [ i
2E 67T / , ;Fvg\ i Boresre | Toes ™ ts  |REB
o)
: 4 7 = 20 838 39 28 REC
/ \ 25 10565 43 33
L, ,7A 32 12388 54.5 40 m
. 40 14388 65.5 49
z 50 16555 80 60 Low
63 187365 98 74 Speed
Bore size 1z Rod side | Head side MQ
(mm)
N z Y4
Head trunnion: CG1YT TR 2 76 s o1 ‘RH[;
at | i?l?:::\ range 25 58 ol 106
ga N 32 677 51 108 RzQ
S | /-’ 40 787 62 125
LA R T M LNl 50 98.6 7 147
i T [ AN
e 877 Van i 63 119.2 7 147
! NS J Y j o) 4 ®, ; = Constructed of a trunnion pin, flat washer and hexagon
{ i | socket head cap bolt.
| | | Note) Refer to page 178 for pivot bracket.
| 2 -4"7,‘ + Other dimensions are the same as basic type.
| ” + Refer to the basic type for the female rod end.
| Z + Stroke TZ
Clevis: CG1YD
020 to 063 cz
L _RR 8xd.
oCD hole H16\\ | o Clevis (mm)
Axis d9 A
| Bore size
3‘7_(” / L (mm) cD CX cz L RR Vv
| \
e -1+ f‘y—\ UL e 20 8 — [ 29 | 14 | 11 —
o ‘ 25 10 | — [ 3|16 | 138 | —
= i ] LAE J 32 12 | — | 40 | 20 | 15 | —
e e ‘:,Ly 20 14 | — | 49 | 22 | 18 | —
2+ Stroke | 50 16 [ — [ 60 | 25 [ 20 [ —
ZZ + Stroke ) - TZ 63 18 — 74 30 22 —
E 80 18 28 56 35 18 26
100 22 32 64 43 22 32
(The above shows the case port location is changed by 90°.)
Bore size Applicable pin
(mm) Tz z z part no.
80, 2100 L RR 20 434 | 126 | 137 CD-G02
AR oCD hole H10 25 48 133 | 146 CD-G25
| | Axis d9 32 59.4 | 139 | 154 CD-G03
40 714 | 159 | 177 CD-G04
50 86 185 | 205 CD-G05
63 105.4 | 190 | 212 CD-G06
80 64 228 246 1Y-G08
100 72 236 | 258 1Y-G10
Note) = Refer to page 178 for pivot bracket.
Z: Stioke B — * Other dimensions are the same as basic type.
ZZ + Stroke = Refer to the basic type for the female rod end.
+ A clevis pin and retaining rings are shipped together for the clevis type.
177

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



CG1Y series
Dimensions of Accessories

Single Knuckle Joint Double Knuckle Joint
——————————————
1-G02, G03 1-G04, G05, G08, G10 Y-G02, G03 Y-G04, G05, G08, G10
Material: Carbon steel Material: Cast iron Material: Carbon steel Material: Cast iron
MM ONDHo MM @NDio !
{2 =
IA MM oND hole Hio
LJ MM oND hole 1o Axis d9
hX Axis d9 =
(mm) | EI_.[ ,;][ §I§ -
Part no. A”gf‘[‘:‘mﬁ” A A |E|L| MM |Ri|Ui| NDuo | NX = k
-G02 20 [34[8.5]|016] 25 | M8x125 [103[115] 8% | 8% A [lUn 12 A1l U1
-G03 25,32 |41 [10.5]|020| 30 | MI0x1.25 | 128 | 14 | 107G 063 L L | L1
-G04 40 42 |14 | 022 | 30 | Mi4x1. 214 ] 106 8 A
- 50,63 | 56 | 18 | 028 | 40 | Mi8x 1. 620 | 148 2 A
- 80 | 712103850 | M2x15 |21 |27 | 185" | 28 (mm)
- 100 |79 |21 [044| 55 | M26x1. 4 (31| 22 32385 Part 'E!ngf Al E L | Mm | R |us|ND| NX [NZ| L Included pin
no. | (mm partno.
A Y-G02| 20 |34 |85|016|25 | M8x1.25 [10.3[115| 8 | 8:Z|16 |21 | [Y-GO2
Knuckle Pin Y-G03 | 25,32 41 [ 105]020( 30 | Wi0x125 [128] 14 | 10| 10:35 | 20 [256] IY-G03
Y-G04| 40 |42 |16 |022|30 | Mi4x15|12|14 |10 18: 6 |41.6| 1Y-G04
o2 Y- 50,63 56 | 20 |028 | 40 | M18x15 | 16 | 20 | 14 | 22:3 | 44 | 506 | IY-GO5
T | =19 Y- 80 |71]23|038|50 | M2x15|21|27|18|28:85 |56 | 64 | [Y-G08
m L _'d m Y- 100 |79 |24 [o44|55 | M26x1.5 |24 | 31|22 | 32158 | 64 [ 72 | IY-G10
L ™ * A knuckle pin and retaining rings are included.
t Nt (o)
Material: Carbon steel mm; .
Applcale o T Pivot Bracket (Order separately)
Part no. o Ddo L d | L | m t T
size (mm) retaining ring
Y-G02 20 3% [ 21 [ 7 6.2 1.5 | 0.9 |Type C8foraxis 020 to 063
Y-GO: 25,32 | 10882 [25.6] 9. 0.2 [ 1.55 [ 1. ype C10 for axis Material: Carbon steel
Y-G04 40 0582 | 41.6 | 9. 6. 55 [ 1. ype C10 for axis JY 5Td
Y-GO! 50, 63 43888 |50.6 | 134 | 44.. .05 | 1. 'ype C14 for axis TR |
Y-GO! 80 8583 | 64 | 17 | 56. .55 | 1. ype C18 for axis 0
Y-G1 100 2:8%%% | 72 | 21 | 64.: .55 | 1. ype C22 for axis N
* Retaining rings are included. 5| @)
SIF oTE*S10
. . 0 | Flz Knock pin hole
Clevis Pin —=
—— Tv
% _ mE v
[S)i=}
n |. S 280, 2100
2 N m Material: Cast iron
t S L Nt oTR oTd TN
Material: Carbon steel (mm)
Applicable bore Included
FERmE, pgize(mm) 2B Ljd ]t m]|t | ainingring &
CD-G02 20 8467 |43.4| 7.6 | 38.6 | 1.5 | 0.9 |Type C8 for axis
CD-G25 25 0887 | 48 | 9.6 | 42.6 | 1.55 | 1.15 | Type C10 for axis
CD-G 32 26633 | 59.4 | 11.5| 54 | 1.55 | 1.15 | Type C12 for axis : :
CD-Go04 4 4888 | 71.4 | 134 | 65 |2.05 | 1.15 | Type C14 for axis t +
CD-G05 668 | 86 | 15.2 | 79.6 | 2.05 | 1.15 | Type C16 for axis L TY ,l
CD-G06 6 88858 | 1054 | 17 | 97.8 | 2.45 | 1.35 | Type C18 for axis W
* Retaining rings are included. (mm)
# A clevis pin and a knuckle pin are common for the bore size 80 and 100. R b
Part no. size (mm) TB|Td |[TE|TF [TH |TN | TR | TT
_CG-020-24A 20 36 | 8 0|55]25 |(93)] 13 | 3.2
w _CG-025-24A 25 43 0 0|55 30 |(81)] 15 | 3.2
_CG-032-24A 32 50 2 0|66 | 35 |(404)] 17 | 45
Ci A 4 58 4 0 66| 40 |(492) | 21 | 45
Ci A 70 20 | 9 | 50 |(604)| 24 | 6
CG-063-24A 82 20 | 11 | 60 |(746)| 26 | 8
Ci A 73 — [ 11 [ 55 [28% | 36 | 11
CG-100-24A 100 90 | 2 13.5] 65 [ 3254 [ 50 [ 12
Material: Carbon steel (mm) Part no. e | TU | TV | TW | TX | TY | TZ Appllé:):?xl:b)le i
Partno. |ApPlicable bore d Hi | B: c D _CG-020-24A 20 [(18.1)](358)| 42 | 16 | 28 |38.3 8dsp67e
size (mm) _CG-025-24A 25 [(207)[(398)] 42 | 20 | 28 |42.1 10ds5678
_NT-02 20 8x125| 5 3 | (15) [125 CG-032-24A 32 [(236)[(494)] 48 [ 22 | 28 |53.8] 12ds3%2
-03 25, 32 10x125 | 6 7 | (19.6) [ 165 CG-040-24A 40 [(27.3)[(584)| 56 [ 30 | 30 |64.6[ 14ds5e)
-G04 40 4x15| 8 9 1(21.9 | 1 CG-050-24A 50 [(29.7)[(724)] 64 [ 36 | 36 |79.2] 16ds05)
= 50, 63 8x1.5 | 11 ] 27 [(31.2) | 2 CG-063-24A 63 [(34.3)[(904)[ 74 [ 46 | 46 [97.2] 18ds3%?
- 80 22x15 | 13 | 32 | (37.0) | 3 CG-080-24A 80 | — | — | 72|85 |45 [110| 18dss%
g 100 26x1.5 | 16 | 41 | (47.3) | 39 CG-100-24A | 100 | — | — | 93 [100] 60 | 130 | 22ds%:
178

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



CG1Y series

Mounting Brackets, Rod End Brackets, and Nut Material: Stainless Steel

Part No.

Bo(:ﬁr:i)ze Axial foot*! Flange*" Single knuckle joint Double knuckle joint*2 Rod end nut
20 — — 1-G02SUS Y-G02SUS NT-02SUS
25 — —

1-GO3SUS Y-G03SUS NT-03SUS
32 CG-L032SUS CG-F0328US
40 CG-L040SUS CG-F040SUS 1-G04SUS Y-G04SUS NT-G04SUS
50 CG-L050SUS CG-F050SUS

|- Y- NT-
63 CG-L063SUS CG-F063SUS G058US G05sUS 055US
80 CG-L080SUS CG-F080SUS 1-G08SUS Y-G08SUS NT-08SUS
100 CG-L100SUS CG-F100SUS 1-G10SUS Y-G10SUS NT-10SUS

#1 A knuckle pin and retaining rings are shipped together. Refer to the XC27 for details on stainless steel double clevis pins and double knuckle pins. The
accessories need to be ordered separately from the cylinder.

Dimensions
—

The single knuckle joint, double knuckle joint, mounting nut, and rod end nut are the same as the standard type.

Axial foot
2l
Y -
%
1]
I
- "
, X LAf
4xoLD ZZ + Stroke
(mm)
Bore size B LD LH LT LX Lz M X Y r4 74
32 44 7.2 [25] 3] [44] 60 [3.5] [16] 6 [53] [117.5(125.5)]
40 53.5 72 | [30] [3] [54] 75 | [4] [16.5] 6.5 | [63.5] [135(144)]
50 69 [10] [40] 4 [66] 90 55 215 11.5 [75.5] [157.5(169.5)]
63 81 [12] [45] 4 82 [ 110 7 215 | 115 | [75.5] 159(171)
80 995 | 12 [55] 4 [100] | 130 7 28 17 [95] 190(204)
100 125 [14] [70] [6] [120] | 160 8 [30] 15 [95] 193(207)
#1[]: Same as the standard type ( ): Denotes the dimensions for long strokes
*2 Supplied with 4 mounting screws.
Rod flange ~ -
The head flange has the same dimensions. -
S| -
m| (mm)
w Bore size B FD FT FX 4
32 50 [6.6] 6 [38] 34
H 40 60 [6.6] 6 [46] | 44
50 75 [9] [9] (58] [49]
FX r4 FT 63 90 [11] [9] [70] [49]
B 4 xoFD 80 100 | [11] 9 [82] 62
100 125 | [14] 10 [100] 61
«1[]: Same as the standard type
«2 Supplied with 4 mounting screws.
® 178-1

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



CG1Y series

Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

Solid state auto switch
D-M9C]
D-MoCIW
020 to 063
~Hs

A

22 |
(24)

( ): Dimension of the D-M9LIA

Aand B are the dimensions from the end of the head cover/rod cover to the end of the auto switch

Reed auto switch
D-A90]
020 to 063

x| N
m|m
W | =

x
m
En

A 24.5
@2) Low
('): Dimension of the D-A96 | Speed
Aand B are the dimensions from the end of the head cover/rod cover to the end of the auto switch.

D-G5, K5, G5CIW D-C7,C8 MaQ
D-K59W, D-G59F, D-G5NT 020 to 063 |:
220 to 2100 Auto switch Auto switch RHC
~Hs 12_
: — |Rza
[oim
A 33 B B
D-H70, H7OW D-C73C, C80C
D-H7NF 220 to 063
220 to ﬂGS:Hs 85 Auto switch _:Hs
—
D-H7C D-B5, B6, B59W
220 to 2100 12 Auto switch
LA [382] LB A 33 B
Auto Switch Proper Mounting Position (Detection at stroke end) (mm) Auto Switch Mounting Height (mm)
Auto switch | p-M9] Auto switch D-MoC]
model | MLV DY (DYc77s B model | pyopy(v) | B-MOW D-BS/BE D-KEOW
D-MOCW | D-A9C] g::;gi D-C80 gg:gurwmssw D850 |0 peow D-MICW (V)| BomeT " | D-C73C |D-B59W D-GSNT
D-MOOWV|D-ASCIV |7y (D-C73C |t D-B64 D-M9UA (V) | D-H7C] | D-C80C |D-GS/K5 D-G59F
D-M9JA D-H7C |D-C80C |poc D-A9C(V) Bjﬂ;‘ﬁ,‘!’ D-GSCW D-H7C
D-M9TIAV - o
Bore Bore D-C7/C8
size A[B|[A[B|A[B|A[B|[A[B|A][B|A]B ||size Hs Hs Hs Hs
20 |33 |32 |29 |28 |28.5|27.5(295(285|25 |24 |235|225|26.5(235 20 255 245 27 275
25 |325|325|285|285|28 |28 |29 |29 |245(245(23 |23 |26 |26 25 28 27 295 30
32 |34 (33 |30 |29 |20.5(28.5|30.5(295|26 |25 |24.5/23.5|27.5(265 32 31.5 305 33 335
40 |39 |36 |35 |32 |34.5(31.5|355(325(31 (28 |29.5/26.5(|32.5(/29.5 40 36 35 375 38
50 |46 |44 |42 |40 |41.5|39.5|425(405(38 |36 |36.5|34.5/39.5(37.5 50 415 405 43 435
63  |445|455|40.5|41.5(40 |41 |41 |42 |365(37.5(35 |36 |38 |39 63 485 475 50 50.5
80 — | —| =] = |—=|—=|—| — |495|445|48 |43 |51 |46 80 - — — 59
D-O1
100 | —| — | —| —| —|—|—| — |45|455|47 |44 |50 |47 100 - — - 69.5
Note) Adjust the auto switch after confirming the operating condition in the actual setting. 'XI:I
179

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



CG1Y series

Minimum Stroke for Auto Switch Mounting

(mm)
Number of auto switches
Auto switch model With 1 pc. With 2 pcs. With n pcs. (n: Number of auto switches)
> Different surfaces Same surface Different surfaces Same surface
n-2)
D-M9C] 5 15Noe ) 40N D 20+ 350252 55.4+35 (- 2)
(n=2, 4, 6--) Note 3) (n=2,3,4,5)
n-2
D-M9CIW 10 15 Note 1) 40 Note 1) 20 + 35£T) 55+ 35 (n-2)
(n=2,4,6..)Note 3) (n=2,3,4,5)
n-2 _
D-M9TA 10 25 40 Note 1) 25+3575 60 +35(n-2)
(n=2, 4, 6.-) Note 3) (n=2,3,4,5)
(n-2)
D-A9C] 5 15 30 Note 1) 15+35 50 + 35 (n—2)
(n=2, 4, 6-..) Note 3) (n=2,3,4,5)
n-2) _
D-M9CIV 5 20 - 20435 357+235 (2 2)
(=2, 4, 6-)Noed) (n=2,3,4,5+)
n-2
15+ 35 25+35(n-2)
- 5 15 25 2
. (n=2,4,6..)Noted) (n=2,3,4,5)
D-MOCIWV 10 2 35 20+ 350022 5 z 35+35(n-2)
D-M9TJAV (N=2,4,6.)Note3) (n=2,3,4,5+)
D-C70 5 15 0 15+45(”;2’ 50 + 45 (n—2)
BT (n=2,4,6..)Note 3) (n=2,3,4,5)
D-H70 (n-2) -
D-H7OW 10 15 60 15+457— 60_+24€3> (2 52)
D-H7NF (N=2, 4, 6..-) Note 3) (n=2,3,4,5-)
D-C73C 5 15 o5 15+ 5000=2) 5 2 65+ 50 (n —2)
b-csoc (n=2,4,6.)Noto3) (n=2,3,4,5-)
D-B501 _
D-B64 5 15 75 15+50§—)"22 75+55 (n—2)
s (N=2,4,6.)Noted) (n=2,3,4,5+)
D-K590] , 4,
n-2 _
D-B59W 10 20 75 20+505 75+ 55 (n—2)
(n=2,4,6.)Note 3) (n=2,3,4,5+)

Note 3) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
Note 1) Auto switch mounting

Auto switch model

With 2 auto switches

Different surfaces

Same surface

A

15

T

B

Correct auto switch mounting position is 3.5 mm from the back
face of the switch holder.

The auto switch is mounted by slightly displacing it in a
direction (cylinder tube circumferential exterior) so that the
auto switch and lead wire do not interfere with each other.

D-M9O Note 2) Note 2)
D-M9OW Less than 20 stroke Less than 55 stroke

D-M9CIA Less than 20 stroke Note 2) Less than 60 stroke Note 2)
D-A90] - Less than 50 stroke Note 2)

Note 2) Minimum stroke for auto switch mounting in types other than those mentioned in Note 1.

180

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Operating Range

Auto Switch Mounting CG1 Y Series

(mm) (mm)
Auto switch model porelEize Auto switch model Bore size
Ul Wi u WI
20 | 25 | 32 | 40 | 50 | 63 | 80 | 100 20 | 25 | 32 | 40 | 50 | 63 | 80 | 100
D-M9(V) D-H70/H7mW N
D-M9CIW(V) 45| 5 | 45|55 | 5 | 55 — | — D-H7NF 414|455 8|85
D-M9DIA(V) D-H7C 7 [85| o |10 |es|105] — | — | |REA
D-A901(V) 7 | 6|88 |89 |—|— D-G50/G5CIW/G59F
D-C7/C80 s 110l o 1010 1l —]_ D-G5BA/K59/K59W 4 | 4 |45| 5 | 6 65|65 7 REB
D-C73C/C80C D-G5NT 4 4 |45| 5 | 6 |65[65]| 7
D-B501/B64 8 10 9 10 | 10 | 11 11 11 REC
D-B59W 13 13 | 14 | 14 | 14 | 17 | 16 | 18
+ Values which include hysteresis are for guideline purposes only, they are not a guarantee (assuming approximately +30% dispersion) and may change substantially depending on the ambient environment. m
Auto Switch Mounting Brackets/Part No. E
ow
- Speed
Auto switch Bore size (mm)
model 20 25 32 40 50 63 80 100 MQ
D-moni(v) BMA3-020 BMA3-025 BMA3-032 BMA3-040 BMA3-050 BMA3-063
D-MOEW(V) | s cerofa, b, c, o) | (Asetofa, b, c, d) | (Asetofa,b,c,d) | (Asetofa, b, c,d) | (Asetofa b, c, d) | (Asetofa, b, c, d) - - RHC
D-A9CI(V) (A sef ,b,c,d)| (Asetofa,b,c, sef ,b,c,d)|(Asetofa,b,c, sef , b, ¢, d) etofa, b, c,
D-M9TIA(V) Note2)| BMA3-020S BMA3-025S8 BMA3-032S BMA3-040S BMA3-050S BMA3-063S _ _
(Asetofb, c,d, e)|(Asetofb,c, d,e) | (Asetofb,c,d e)|(Asetofb,c, d,e)| (Asetofb,c,d e)|(Asetofb,c, d,e) RzZQ
Switch bracket (Resin) Auto switch
a| Transparent (Nylon) Note 1)
e |White (PBT) 5
I, =~
+ Band (c) is mounted so that the projected part is
on the internal side (contact side with the tube).
D-C70/C80
D-C73C
D-C80C BMA2-020A BMA2-025A BMA2-032A BMA2-040A BMA2-050A BMA2-063A _ _
D-H70O (Asetof band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw)
D-H7OW
D-H7NF
D-H7BA BMA2-020AS BMA2-025AS BMA2-032AS BMA2-040AS BMA2-050AS BMA2-063AS _
(A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw)
D-B501/B64
D-B59W
D-G50/K59 BA-01 BA-02 BA-32 BA-04 BA-05 BA-06 BA-08 BA-10
D-G5CIW/K59W | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw) | (A set of band and screw)
D-G5BA/G59F
D-G5NT

Note 1) Since the switch bracket (made from nylon) are affected in an environment where alcohol, chloroform, methylamines, hydrochloric acid or sulfuric
acid is splashed over, so it cannot be used.
Please contact SMC regarding other chemicals.

Note 2) Avoid the indicator LED for mounting the switch bracket. As the indicator LED is projected from the switch unit, indicator LED may be damaged if
the switch bracket is fixed on the indicator LED.

Band Mounting Brackets Set Part No.

Set part no.

Contents

BM2-CI00IA(S)

* S Stainless steel screw

- Auto switch mounting band (c)
- Auto switch mounting screw (d)

BJ4-1

- Switch bracket (White/PBT) (e)
- Switch holder (b)

BJ5-1

- Switch bracket (Transparent/Nylon) (a)
- Switch holder (b)

[Stainl

Steel Mounting Screw]
The following stainless steel mounting screw kit is available. Use it in accordance
with the operating environment. (Since the auto switch mounting bracket is not
included, order it separately.)
BBA3: D-B5/B6/G5/K5 types
Note 3) Refer to page 1047 for details on the BBA3. When the D-G5BA type auto
switch is shipped independently, the BBA3 is attached.

bo
o
181 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



CG1Y series

Cylinder Mounting Bracket, by Stroke/Auto Switch Mounting Surfaces

Auto switch mounting surface varies depending on mounting brackets and cylinder strokes. Refer to the table below.

(mm)
Basic, Foot, Flange, Clevis Trunnion
Auto switch model With 1 pc. With 2 pcs. With 2 pcs. With 1 pc. With 2 pcs. With 2 pcs.
(Rod cover side) (Different surfaces) (Same surface) (Rod cover side) (Different surfaces) (Same surface)
Auto switch mounting
surface Port surface Port surface Port surface
P} oD
O
@ Q@
Auto switch type

D-M9LCI(V)
D-M9CIW(V)
D-MOCIA(V) 10 st or more 15 to 44 st 45 st or more 10 st or more 15 to 44 st 45 st or more
D-A9](V)
D-C7/C8 10 st or more 15 to 49 st 50 st or more 10 st or more 15 to 49 st 50 st or more
DAY 10 st or more 15 to 59 st 60 st or more 10 st or more 15 to 59 st 60 st or more
D-H7NF
D-C73C/C80C/H7C 10 st or more 15 to 64 st 65 st or more 10 st or more 15 to 64 st 65 st or more
D-B5/B6/G5/K5
D-G50]W/K59W 10 st or more 15t0 74 st 75 st or more 10 st or more 15 to 74 st 75 st or more
D-G59F/G5NT
D-B59W 15 st or more 20to 74 st 75 st or more 15 st or more 20 to 74 st 75 st or more

* Trunnion type is not available for 80 and ¢100.

I Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable. 1
I Refer to pages 941 to 1067 for the detailed specifications. 1
: Type Model Electrical entry Features Applicable bore size (mm) :
I D-H7A1/H7A2/H7B — I
1 Solid state D-H7NW/H7PW/H7BW Diagnostic indication (2-color indicator) 020 to 063 1
1 D-H7BA Water resistant (2-color indicator) 1
: D-G5NT Grommet (In-line) With timer 620 to 6100 :
D-C73/C76 —
: Reed D-C80 Without indicator light 02010 063 :
1 D-B53 — 220 to 9100 1
1 * With pre-wired connector is also available for solid state auto switches. For details, refer to pages 1014 and 1015. 1
1 « Normally closed (NC = b contact) solid state auto switches (D-F9G/F9H) are also available. For details, refer to page 959. 1
b oo o o o o e e e mm e e e R M M M R M M M M M R M M M M M e M M M M e e e e e e e mw e mm mm o o

® 182

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Smooth Cylinder

MBY Series

232, 540, 350, 363, 280, 3100

)
m
=

How to Order

B wvBYBJ40[ -[1501z-
-[M9BW)|

0 (| [
m|m
Q|| =

(e mpBY/(Bl40][ |-[150Z-

= |85
ogi

With auto switch l . l
(Built-in magnet) Accessories 1 Made to Order
BT e oo 4
Mounting [N | Pvotbracket | :
- « Only for D and T mounting types Number of auto switches
B Easu: Bore size * Pivot bracket is shipped together Nil RHC
L Axial foot 32 32 mm with the product, but not assembled. 1 2pcs.
F Rod flange i S 1 pc. RZQ
G Head flange 40 | 40mm Accessories 2 3 | 3pos.
(o] Single clevis 50 50 mm Nil None n_ |‘n”pes.
D Double clevis 63 63 mm Vv Single knuckle joint
T Center trunnion 180(:) 128 mm w Double knuckle joint L—e Auto switch
mm = A knuckle joint pin is not provided - -
with the single knuckle joint. m
= Rod end bracket is shipped together + For applicable auto switches,
o . Port thread type with the product, but not assembled. refer to the table below.
Built-in Magnet Cylinder Model Nil Re
If a built-in magnet cylinder without an TN | NPT Cylinder stroke (mm)
auto switch is required, there is no need TF G Refer to “Standard Strokes” on page 184.
to enter the symbol for the auto switch.
(Example) MDBYB40-100Z = Refer to “Ordering of Cylinder A bly” on page 185.
Applicable Auto Switches/Refer to pages 941 to 1067 for further information on auto switches.
Electrical = Wi Load voltage Auto switch model | Lead wire length (m) Pre-vired Applicabl
. " ectrical |5 iring re-ire pplicable
Type Special function 2 Tie-rod Band 0.5 1/8|5
S load
entry £ (Output) DC AC mounting | mounting | (Ni) |M)| L) | @) connector oa
3-wire (NPN) 5V12V M9N — (] [ 2K _BKe] o IC
Grommet 3-wire (PNP) | 24V | — M9P — ] ®| 0|0 O circuit
— 2-wire 12V M9B — ® (¢ 0 O o
S Terminal 3-wire (NPN) 5V,12V = G39 — === = —
E conduit 2-wire 12V = K39 - === =
] Di tic indicati 3-wire (NPN) 5V.12V MONW = ® (@ 0 O o Ic
3 ch”;’lzr'fr:glc'zfo':” 3-wire (PNP) ' M9PW — ® |@|e|O| O | cirui | Relay,
o L 2-wire 12V M9BW — e |e|le[O] O — | PLC
2 3-wire (NPN)| 24V — [MONA*|  — o [o]efo] O Ic
] .
T Water resistant Grommet 3-wire (PNP) svazv M9PA*! — O |[O|®]|O| O circuit
= (2-color indicator) > —
8 2-wire 12V M9BA*! — O |0|@|O o —
With diagnostic output (2-color indicator) 4-wire (NPN) 5V,12V F59F — ® —|0|O O |IC circuit
Magnetic field resistant 2-wire _ P3DWA = e —|eo|0 (6] _
(2-color indicator) (Non-polar) P4DW = — —\ ol @ O
v 3-uire (NPN equivalent)|  — 5V — A96 = ® |—|®|—| — |[ICcircuit] —
5 | 100V | A93 = o (o000 — —
£ Grommet [No| 100Vorlessy A90 = e —|® — [IC cireuit Rel
H [Ves| 10V,200V] A54 = o |—[ele[ — e
£ No| e ay | 12V [20Vorkes| A64 — o [—|o[—| —
: Terminal — — A33 — [ —|—=]1—] = -
o conduit — A34 — | —=]==] = PLC
o 1Ye 1
o DIN terminal| 00, 200V — Ad44 - | —|—]—] = Relay,
Diagnostic indication (2-color indicator) | Grommet — — A59W — o |—|eo|—| — PLC
#1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
A water resistant type cylinder is recommended for use in an environment which requires water resistance.
+ Lead wire length symbols: 0.5 m.. .Nil (Example) MONW 3m. L (Example) MONWL
1m. M (Example) MONWM 5m. Z (Example) MONWZ
+ Solid state auto switches marked with re produced upon receipt of order. D_I:l

+ Since there are other applicable auto switches then listed above, refer to page 197 for details.
# The D-A9L)/MOL/P3DWALI auto switches are shipped together, (but not assembled). (However, only the auto switch mounting brackets are assembled for the D-A9C/M9C]
before shipment.) 'XI:l

183 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



MBY series

Specifications
————
Bore size (mm) 32 [ 40 [ 50 | 63 | 80 | 100
Action Double acting
Piston speed 5 to 500 mm/s
Fluid Air
Proof pressure 1.05 MPa
Maximum operating pressure 0.7 MPa
Ambient and fluid Without auto switch: —10°C to 70°C .
temperature With auto switch: —10°C to 60°C (No freezing)
Cushion None
Lubrication Not required (Non-lube)
Symbol M N Basic, Axial foot, Rod flange, Head flange, Single clevis, Double clevis,
ounting )
Center trunnion
Allowable leakage rate 0.5 L/min (ANR)
Standard Strokes
————————
Minimum Operating Pressure Bﬁnﬁi)ze Standard stroke (mm) D
unit. MPa 32 | 25,50, 75, 100, 125, 150, 175, 200, 250, 300, 350, 400, 450, 500 1000
Bore size (mm) | 32 ‘ 40 | 50 ‘ 63 ‘ 80 ‘ 100 40 | 25,50, 75, 100, 125, 150, 175, 200, 250, 300, 350, 400, 450, 500 1000
Min. operating pressure|  0.02 0.01 50 | 25,50, 75, 100, 125, 150, 175, 200, 250, 300, 350, 400, 450, 500, 600 1000
63 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, 350, 400, 450, 500, 600 1000
80 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, 350, 400, 450, 500, 600, 700, 800 1000
100 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, 350, 400, 450, 500, 600, 700, 800 1000
Mglf’;eio Made to Order Note 1) ::r:ltermediate stro!(es not listed above are _also available.
Click here for details ease consult with SMC for stroke_s outside the_ above ranges. . .
- Note 2) Applicable strokes should be confirmed according to the usage. For details, refer to “Air
Symbol Specifications Cylinders Model Selection” on front matter pages of the Best Pneumatics No. 2-1. In
-XAO | Change of rod end shape addition, the products that exceed the standard stroke might not be able to fulfill the

N N N specifications due to the deflection etc.
XC7 Tie-rod, Cushion valve, Tie-rod nut, etc.

made of stainless steel Accessories/ror details, refer to page 191.
-XC14 | Change of trunnion bracket mounting position —

-XC27 | Double clevis and double knuckle joint Mountin Basic | AXial Rod Head | Single | Double | Center
pins made of stainless steel 9 foot | flange | flange | clevis | clevis |trunnion
-XC29 | Double knuckle joint with spring pin Rod end nut [ ] [ ) [ ] [ ] [ ] [ ] [ ]
Standard —
-XC30| Rod trunnion C‘Iews pin _ — — — — — ° —
XCe5 Made of stainless steel Single knuckle 1.0|.m [ ) () (] [ ) [ ) [ ] [ ]
(Combination of XC7 and XC68) Option ?Q;blsr:;ﬂuckle joint| g ° ° ° ° ° °
Wi 1l
-XC68 Made of stainless steel Rod boot ° ° ° ° ° ° °
(with hard chrome plated piston rod)
Mounting Brackets/Part No.
Replacement Parts/Seal Kit L 2 p 50 o3 %0 -
- Axial foot Note1) MB-L03 MB-L04 MB-L05 MB-L06 MB-L08 MB-L10
Bore size Kit no. Contents Flange MB-FO3 | MB-FO4 | MB-FO5 | MB-FO6 | MB-FO8 | MB-F10
() Single clevis | MB-C03 | MB-CO4 | MB-CO5 | MB-CO6 | MB-CO8 | MB-C10
32 MBY32Z-PS Double clevis | MB-DO3 | MB-DO4 | MB-DO5 | MB-DO6 | MB-DO8 | MB-D10
40 GCA2Y40Z-PS |Rod seal Tpe. Note 1) Order two foots per cylinder.
50 CA2Y50Z-PS | Piston seal 1pc. Note 2) Accessories for each mounting bracket are as follows: Axial foot, Flange, Single clevis: Body mounting bolt,
63 CA2Y63Z-PS | Cylinder tube gasket 2 pes. Double clevis: Body mounting bolt, Clevis pin, Flat washers and Split pins. — Refer to page 191 for details.
80 CA2YB0Z-PS |Grease pack (10 g) 1 pc.
100 CA2Y100Z-PS

When maintenance requires only grease, use the

following part numbers to order.

Grease pack part number: GR-L-005 (5 g)
GR-L-010 (10 g)
GR-L-150 (150 g)

® 184

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com


http://www.smcworld.com/products/en/custom.do

Ordering Example of Cylinder Assembly

Cylinder model: MDBYDA40-150Z-NW-M9BW

Double clevis

Smooth Cylinder MBY Series

Mounting D: Double clevis

Pivot bracket N: Yes

Rod end bracket W: Double knuckle joint
Auto switch D-M9BW: 2 pcs.

)
m
=

# Pivot bracket, double knuckle joint and auto
switch are shipped together with the product,
but not assembled.

(k9)

=)
m
(=~}

= |5 -]
= m
o | o

D (| ]
N ([ X
oo

Bore size (mm)

32 40 50 63 80 100

Basic

044 | 059 | 1.04 | 1.29 | 2.41 | 3.36

Axial foot

0.56 | 0.73 | 1.26 | 1.57 | 2.91 | 4.02

Flange

073 | 0.96 | 149 | 2.08 | 3.86 | 5.19

Basic weight Single clevis

069 | 0.82 | 1.38 | 1.92 | 3.52 | 4.94

Double clevis

07 | 086 | 1.47 | 2.08 | 3.81 | 5.21

Trunnion

0.73 | 0.95 | 1.52 | 2.09 | 3.96 | 5.05

Additional weight per 50 mm of stroke | All mounting brackets

0.11 | 0.16 | 0.26 | 0.27 | 0.42 | 0.56

Single knuckle joint

0.15 | 0.23 | 0.26 | 0.26 | 0.60 | 0.83

Accessorie:

Double knuckle joint (with pin)

0.22 | 0.37 | 043 | 043 | 0.87 | 1.27

Calculation Example) MBYB32-100Z (Basic, 832, 100 st)

© Basic weight---

* Additional weight: .11/50 stroke

© Cylinder stroke--- 00 stroke
0.44 + 0.11 x 100/50 = 0.66 kg

.44 (Basic, 032)

D-OJ

o
185 @

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



MBY series

Standard
—
Basic: MBYB
2xRcP L.V Port
G
Width across flats KA
— T ]
.\ 2 K
wla TTl [T
e & Il 7¥§A 1] N
/ 7_/ =f \?_1 <;
mw/ | /|Ha] E=c—
Width across AL MB N
flats Bt MA 2x4xd
A K||_F N
H S + Stroke
ZZ + Stroke
Dimensions (mm)
B"(:sr:')ze A|AL| B [Bi|C |D|E|F| G |H|H J K |KA |MA|MB MM N|P|s|vVv]|z
32 |22]195] 46|17 [325]12 |30 | 13[13 |47 | 6 | Mex1 | 6]10[16]| 4 | Ml0ox1.25 [265| 1/8 | 84| 4 [135
40 |30 |27 52[ 2238 |16 35|13 [14 |51 8 | Mex1 | 6]14[16]| 4 | M1ax15 [265] 1/4| 84| 4 [139
50 |35]32 65| 27 [46.5| 20 | 40 | 14 [155| 58 | 11 | M8x1.25 | 7|18 | 16| 4 | M18x15 [31 | 14| 94| 5 | 156
63 |53 75| 27 |56.5| 20 | 45 | 14 [165] 58 | 11 | M8x1.25 | 7[18[16] 4 | M18x15 [31 |38 | 94| 9 | 156
80 | 40 |37 95|32 |72 |25 |45 |20 |19 [ 72|13 | M10x15 [10][22]16] 5 | Me2x1.5 [37.5| 3/8 | 114 | 11.5] 190
100 |40 [37 | 114]41[89 |30 [55]|20[19 [72] 16 | Miox1.5 [10]26|16] 5 | Me6x15 [37.5] 12 [ 11417 | 190
186

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Standard/With Mounting Bracket

Axial foot: MBYL

Smooth Cylinder MBY Series

+ Refer to Basic (B) for other dimensions.

LS + Stroke
ZZ + Stroke
Axial Foot (mm)
Boresize |\ 1)yl s | LT [Lx| Ly |z |x |v|2zz
(mm)
32 7]30[128]32|32| 53 | 50|22] 9162
40 9|33 [182]32]38] 59 | 55|24 11170
50 9] 40[148]3.246| 725| 70|27 11]190
63 | 12]45]148|36 |56| 825| 80|27 14| 193
80 |12]55]174] 45|72 1025|100] 30 14230
100 | 1465|178 45|89 122 |120]32] 16234
Rod flange: MBYF
FE FT
o
w
Q
Rod Flange (mm)
Boresize | e | kp|FE|FT| FX [FY | FZ | Fd
(mm)
32 50| 7|3 10| 64]|32] 79| 245
40 55| 9] a[10] 72[36] 90[305
50 70| 9] 2|12] 90|45]110] 365
63 80| 9|2 |12[100]50][120]39.5
80 |100|12] 4 [16]126]|63 153|395
100 |120| 14| 4 |16 [150| 75 [178] 465

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

)
m
>

=)
m
(=~}

x
m
(]

g wr-
HE

=
X
(]

=)
N
o



MBY series

Standard/With Mounting Bracket + Refer to Basic (B) for other dimensions.
Head flange: MBYG

Port 4xoFD
1 Jard
ﬁ X N
{,@j ze
|_LFT FX
ZZ + Stroke Fz
Head Flange (mm)
Boresize | e | pp | FT| FX |FY | FZ | 22
(mm)
32 50| 7|10] 64|32] 79[141
40 55| 9/10| 72|36| 90| 145
50 70| 9|12| 90|45|110| 164
63 80| 9]12]100|50]120] 164
80 100 12 16126 | 63 | 153] 202
100 [120] 14|16 150] 75 | 178] 202
Single clevis: MBYC
Port
CDH10 »ﬁ
IREINE
gl
u x|
Lt
Z + Stroke RR
ZZ + Stroke
Single Clevis (mm)
Boresize | oy | cx |L|RR|U|Z | 2z
(mm)
32 10°9%8 | 1473} | 23| 10.5 |13 | 154 | 164.5

40 109%° | 1431 | 23| 11 |13 ]158| 169
50 14*397° | 2031 | 30| 15 |17 |182| 197
63 14*397° | 2033 | 80| 15 |17 |182| 197
80 22'0% | 3031 | 42| 23 |26 |228 | 251

100 | 22°0% [ 300 [42| 23 |26 ]228] 251

b X ] Py

188

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Smooth Cylinder MBY Series

Standard/With Mounting Bracket * Refer to Basic (B) for other dimensions.
Double clevis: MBYD

o
o
=

.

Hole dia.: CDH10
Shatt dia.: CDd9

REA
1 g ﬁ REB
e ? i a
— — i REC
u x|
L] ez st _
Z + Stroke RR L
ow
2Z + Strok
+ Stroke Speed
Double Clevis (mm) |:
B‘z;ﬁr:')ze CDHio | CDas | CX |CZ| L |RR|U| Z | 2z RHC
32 10709 | 1020032 | 1403 | 28 |23 | 10.5 | 13| 154 | 164.5 RZQ
40 10998 | 102093 | 14353 | 28 (23| 11 13 | 158 | 169
50 14°397° | 147388 | 20133 [ 40|30 | 15 [17]182] 197
63 1473970 | 14388 | 20:33 [ 40|30 ] 15 [17]182] 197
80 2073084 | 20088 | 30+02 | 60 | 42 | 23 | 26 | 228 | 251
100 2219084 | 0% | 30102 | 60 | 42| 23 |26|228] 251
Center trunnion: MBYT
Z + 1/2 Stroke
Ry
1 &) i
ek S 4
1 ] I
@
T X a
TZ B
i mm
Center Trunnion
B‘z;ﬁr:i)ze TDes |TT|TX|TY|TZ| 2
32 120%2 | 17| 50| 49| 74| 89
40 162905 | 22| 63| 58| 95| 93
50 16352 | 22| 75| 71]107 105
63 20959 | 28| 90| 87]130] 105
80 202353 | 34| 110|110 150 | 129
100 | 250%9 | 40| 132|136 182 129
D-O1

189

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



MBY series

Pivot Bracket/Trunnion and Double Clevis Pivot Bracket

Part No.

—_ Boresize| yigm3p | MBO40 | MBO50 | MBO63 ‘ MBS0 | MBLI100
Description
Trunnion pivot bracket Nte) | MB-S03 MB-S04 MB-S06 MB-S10
Double clevis pivot bracket MB-B03 I MB-B05 I MB-B08

Note) Order 2 trunnion pivot brackets per cylinder.

Trunnion pivot bracket TZ
Z + 1/2 Stroke T0 X T0

w|z
w o a
=
Es bl
L]
s |[[]]
TC
(mm)
Part no. B‘Eﬁrﬁi)ze B [TA|TL|TU|TC|TX |TE |TO |TR| TT | TS | TH | TF | Z** | TDHo
MB-S03 32 46| 62] 45 | 85] 62] 50| 7412 | 7 [ 13 [ 10 | 35 [ 47| 89] 1273
e 40 52| 80][ 60 [10 | 80] 63| 97[ 17 | 9 [ 17 [ 12 | 45 [ 60 93] 163°°
50 65| 80] 60 [10 | 92] 75]109[ 17 | 9 [ 17 [ 12 | 45 [ 60[ 105 | 1673°°
MB-S06 63 75]100] 70 [15 [110] 90[130] 20 |11 |22 | 14 | 60 | 80| 105 | 20%9%*
80 95100 | 70 [15 | 130|110 150 | 20 [11 | 22 | 14 | 60 | 80| 129 | 20'9%*
MB-S10 | 100 [114[120] 90 [15 [158|132[184] 26 [13.5] 24 | 17 | 75 [ 100|129 [ 25'3%
Double clevis pivot bracket B
Z + Stroke DX
4 x oDT
v
oo
4x0DR Do,
DU DL DU
DA
(mm)
Part no. B"(ﬁms')ze B |[DA|[DB|DL|DU|DC|DX|DE|DO|DR|DT|DS|DH| Z*| DD
MB-B03 32 46| 42 [ 32 [ 22 [10 [ 44 [ 14 ] 62| 9 [ 66] 15 | 7 [ 33 [ 154 ] 10°%%
40 52| 42 [ 32 [ 22 [10 [ 44 [ 14 | 62| 9 [ 66] 15 | 7 [ 33 [ 158 ] 10°3%%
B 50 65| 53 [ 43 [ 30 [11.5] 60 | 20 | 81[105] 9 [ 18 | 8 [ 45 | 182 ] 14737
63 75| 53 [ 43 [ 30 [11.5] 60 | 20 | 81[105] 9 [ 18 | 8 [ 45 | 182 1473
MB-B08 80 95| 73 | 64 | 45 [14 | 86 | 30 | 111 [125[11 [ 22 | 10 | 65 [ 228 | 22'9%
100 | 114 | 73 | 64 | 45 |14 | 86 | 30 | 111 12511 22 | 10 | 65 | 228 | 2299

Rotating Angle

Boresize | o | o | a4 B4 00°
(mm)
32,40 | 25° | 45° 160°
50,63 | 40° | 60° 190°
80,100 | 30° | 55° 175°
190

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Smooth Cylinder MBY Series

Dimensions of Accessories

Rod end nut 30 Knuckle joint pin -
(Standard) 4 Clevis pin 2xod 3
Q
0 s
m,| ‘4.13
B L
Bore size Bore size (mm) d Applicable
R (mm) g - 3 © — IFE Clevis[Knuckle WD |G ¢ || w 0l through) split pin
NT-03 32 M10x 1.25 6 17 19.6 | 16.5 CD-M03 32, 40 103567 | 44 | 36 | 4 3 23x18¢
NT-04 40 M14x1.5 8 22 25.4 21 CD-M05 50, 63 143563 | 60 | 51 |[45| 4 24 x25¢
NT-05 50, 63 Mi18x 1.5 11 27 | 312 | 26 CD-M08 80,100 |223% |82 |72| 5 | 4 04x35¢
NT-08 80 M22 x 1.5 13 32 37.0 31 Note) Split pins and flat washers are included.
NT-10 100 M26 x 1.5 16 41 47.3 39 Y type
't Double knuckle joint
ype MM_NDH10 R
Single knuckle joint = AN
i) v
Q, ) Ml XN
I w
xR ° s Zl
L1
U1
A L1
Part no. B‘z:f":')ze A|A1|E1|L1| MM |Ri|Ur|NDHo| NX Part no. B‘z;ﬁr:')ze E1|L1| MM |Ri|Ui|NDwio| NX | NZ
1-03M 32 401420 |30 |M10x1.25{12]16 | 1079°* | 1435 Y-03M 32 20|30 |M10x1.25[ 10| 16| 10%°* | 14383 | 2831
1-04M 40 501922 |40 | M14x1.5[12.5/19 | 109°* | 1433 Y-04M 40 22 40| M14x15 | 1119|1079 | 14153 | 2835
1-05M 50,63 |64 /24|28 |50 | M18x1.5(16.5| 24 | 1473°"° | 20 Y-05M 50,63 |28 |50 | M18x1.5 |14 |24 | 145" | 20:6% | 403
1-08M 80 80 /26|40 |60 | M22x 1.5 |23.5| 34 | 220 | 30 Y-08M 80 40| 65| M22x1.5 | 20 | 34| 22'¢°* | 30:6% | 60
I-10M 100 80 /2640 |60 | M26x 1.5|23.5) 34 | 220 | 30 Y-10M 100 40 65| M26x1.5 |20 | 34| 22'0° | 30:5% | 60
Note) A pin, split pins and flat washers are included.
Bracket Combinations
Bracket combination available - ---»Refer to the figure below.
Eracketiion . . Single Double Clevis
workpiece
(B(;vag;her‘\der Sngflo e el @l knuckle joint knuckle joint pivot bracket
Single clevis — ® — @ —
Double clevis ® — @ — ©
Single knuckle joint — ® — ® —
Double knuckle joint| @ — ® — @
No. Appearance No. Appearance
Single clevis + Double clevis — Single knuckle joint + Double knuckle joint —
o o é? ® Q
[l s
Single clevis + Double knuckle joint — Double knuckle joint +
Single clevis ’—[ A
[ -] —
® (= @?’ ® = @
= |V = I
Double clevis + Single clevis S Double knuckle joint + Single knuckle joint —
® Al o ® EEE I
== "= L2
Double clevis + Single knuckle joint R Double clevis + Clevis pivot bracket F’
@ T @ [©) :
T Q\@@
Single knuckle joint + Double clevis Double knuckle joint + Clevis pivot bracket e S
® : & © %
- Y
191

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



MBY Series
Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at stroke end) and lts Mounting Height

<Tie-rod mounting> <Band mounting>
D-M9CI/MoIV D-Z700/Z80 D-A30/G39/K39
D-M9CIW/MOIWV D-Y5901/Y69LI/Y7P/Y7PV

D-M9TJA/M9TIAV D-Y7OW/Y7OWV/Y7BA

D-A9L/A9CIV

Auto switch

Auto switch =Hs

[H===s=){]
[HE===={

o

D-A500/A601 D-A44
D-A59W

Auto switch Auto switch =Hs

ol

B

D-F501/J59
D-F5C0W/J59W/F5BA
D-F59F/F5NT

Auto switch =Hs

D-P3DWA

Auto switch

D-P4DW

Auto switch =Hs

® 192

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Auto Switch Mounting MBY Series

Auto Switch Proper Mounting Position (Detection at stroke end) and lts Mounting Height

Auto Switch Proper Mounting Position (mm)
Auto D-z70]
switch D-Z8[]
D-M9oC]
model D-M9LIV D-F50] D0 g-¥ggg REA
D-M9CIW D-A9C] D-A50] D-A44 X
D-MOCWV | D-A9CIV D-A6C] D-A59W D-J59 D-F5NT D-G39 D-Y7P D-P3DWA | D-P4DW
D-F59F D-Y7PV
D-M9CJA D-K39 X
D-Y7H REB
D-M9CJAV D-Y7OOW
D-Y70O0WV REC
Bore size A B A B A B A B A B A B A B A B A B A B
32 10 8 6 |4 0 0 4 2 65| 45 |11.5| 95| 0 0 35 | 15| 55|35 | 3 1 m
40 9 9 5 5 0 0 3 3 55| 65 | 105|105 | 0 0 25 | 25 45| 45 | 2 2
50 10 9 6 5 0 0 4 3 65| 55 | 115|105 | 0 0 35 | 25 55| 45 | 3 2 Low
63 |10 9 6 |5 0 0 4 3 65| 55 |11.5[105] 0 0 35 [ 25| 55[ 45 |3 2 Speed
80 145 | 115|105 | 75 4.5 1.5 8.5 55 | 11 8 16 13 4.5 1. 8 5 10 7 7.5 4.5 MQ
100 14 12 10 8 4 2 8 6 105 | 85 | 155 | 135 | 4 2 75 | 55 95| 75 |7 5
Note) Adjust the auto switch after confirming the operating conditions in the actual setting. RHC
Auto Switch Proper Mounting Height mm RZQ
Auto D-F50] X
switch | o viar D-J59 g-%;OD
model D-MICIW D-M9CIV D-A5C] | D-F59F D-A30] D-Y5907] D-Y69[]
D-M9OCIA D-M9CJWV | D-A9CIV | D-A6] | D-F5(JW | D-G39 D-A44 D-Y7P D-Y7PV | D-P3DWA| D-P4DW
D-M9JAV D-A59W | D-J59W | D-K39 D-Y7OWV
D-A9[] D-F5BA D-Y7OOW
D-F5NT D-Y7BA
Boresize\| Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht | Hs | Ht
32 245|23 |305|23 |275|23 |35 |245|325|25 67 |275| 77 |275|255|23 |26.5|23 |38 |31 38 |31
40 28.5|255|34 |255|31.5|255|385|27.5|36.5|27.5| 71.5(27.5| 81.5/275(295(26 |30 |26 |39 |255|42 |33
50 33.5| 31 38.5 | 31 36 31 435|345 | 41 34 77 — | 87 — [ 83531 34.5| 31 43 31 46.5 | 39
63 385|36 |43 |36 |405|36 |48.5|395|46 |39 835 — | 935 — |39 |36 |40 |36 |48 |36 |51.5|44
80 46.5|45 |52 |45 |49 |45 |55 |46.5|525|46.5| 925/ — |103 — | 475|45 |485|45 |565|45 |58 |515
100 54 53.5| 59.5 | 53.5 | 57 53.5 | 62 55 59.5| 55 |103 — |113.5| — | 55.5|53.5|56.5|53.5| 64.5| 53.5| 65.5 | 60.5
Operating Range
———————
(mm)
) Bore size
Auto switch model 2 20 50 53 30 100
D-M9LC/M9IV
D-M9CIW/MeIWV 4 45| 5 6 6 6
D-M9JA/MOLIAV
D-A9CV/A9LIV 7 75| 85| 95| 95| 105
D-Z701/Z80 75 8.5 7.5 9.5 9.5 | 105
D-A5C1/A6C] 9 9 10 11 11 11
D-A59W 13 13 13 14 14 15
D-A3[V/A44 9 9 10 1 11 11
D-Y59C1/Y69[]
D-Y7P/Y70IV
D-Y7OW/Y7OOWV 55 55 7 75 6.5 55
D-Y7BA
D-F501/J59
D-F5C1W/J59W
D-F5BA/F5NT 3.5 4 4 45 45 45
D-F59F
D-G39/K39 9 9 9 10 10 11
D-P3DWA 3 4.5 4.5 5 5 5.5
D-P4DW 4 4 4 4.5 4 4.5
* Values which include hysteresis are for guideline purposes only, they are D.|:|
not a guarantee (assuming approximately +30% dispersion) and may
change substantially depending on the ambient environment. X|:|
193 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



MBY series

Minimum Stroke for Auto Switch Mounting/Mounting Brackets other than Center Trunnion

n: Number of auto switches (mm)

Auto switch Number of Mounting brackets other than center trunnion
model auto switches mounted 032, 040, 050, 063 \ 280, 2100
2 (Different surfaces, same surface) 15
D-M90) !
D-M9CIW N 15+ 400
(n=2,4,6,8..)Note 1)
2 (Different surfaces, same surface) 10
D-M9CIV !
D-M9CIWV n 10;430@
(n=2,4,6,8...)Note 1)
2 (Different surfaces, same surface)
1 15
D-M9CIA ,
N 15+ 40052
(nN=2,4,6,8...)Note 1)
2 (Different surfaces, same surface) 1
1 5
D-M9JAV (
n 15+ 30
(n=2,4,6,8.)Note 1)
2 (Different surfaces, same surface)
1 15
D-A90] _
n 15+ 40052
(n=2,4,6,8...) Note 1)
2 (Different surfaces, same surface)
] 10
D-A9CIV _
n 10+30052
(n=2,4,86,8..)Note )
2 (Different surfaces) 35
2 (Same surface) 100
D-A30 ' 35+30 (n-2)
D-G39 n (Different surfaces) (=23, 4.
D-K39 100 + 100 (n - 2)
n (Same surface) (=23, 4
1 10
2 (Different surfaces) 35
2 (Same surface) 55
" 35+30(n-2)
D-A44 n (Different surfaces) (=23, 4.
55+ 50 (n-2)
n (Same surface) (n=2,3,4-)
1 10
2 (Different surfaces, same surface) 15 20
D-A50 ) )
D-A60] n-2) -2
n (Different surfaces) 1545575 20+55 5
(n=2,4,6,8...)Note 1) (n=2,4,6,8...)Note 1)
2 (Different surfaces, same surface) 20 25
(-2 (n-2)
D-A59W n (Same surface) 20 +55 =5 25+557
(n=2,4,6,8...)Note 1) (n=2,4,6,8...)Note 1)
1 15 25
D-F501 2 (Different surfaces, same surface) 15 25
D-J501 (-2 (n-2)
D-F50W n (Same surface) 15+550;2 25455052
g-\'l:gQBVAV (Nn=2,4,6,8-)Note?) | (n=2 4,6, 8..)Note1)
D-F59F 1 10 25
2 (Different surfaces, same surface) 15 25
(n-2) (n-2)
D-F5NT n (Same surface) 15+55 25+55
(nN=2,4,6,8...)Note 1) (n=2,4,6,8.)Note 1)
1 10 25
D-zZ700 2 (Different surfaces, same surface) 15
D-Z80 1
D-Y5901 (n-2)
D-Y7P n 15+40—;
D-Y7OW (N=2,4,6,8.)Note 1)
Note 1) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
194

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Minimum Stroke for Auto Switch Mounting/Mounting Brackets other than Center Trunnion

Auto Switch Mounting MB Y Series

n: Number of auto switches (mm)

Auto switch Number of Mounting brackets other than center trunnion
model auto switches mounted 032, 940, 050, 063, 080, 2100
2 (Different surfaces, same surface) 10
D-Y69(] 1 REA
D-Y7PV 10+ 30 0=2
D-Y7OOWV n * 2
(r|=2Y 4’ 6Y 8) Note 1) REB
2 (Different surfaces, same surface)
1 20
D-Y7BA o2 REC
R 20 +45 852
2 (Different surfaces, same surface) 1
5
D-P3DWA ! o
a . 15+ 50 =2 Speed
(n=2,4,6,8:...)Note 1) ma
2 (Different surfaces, same surface) 15
1
D-P4DW - RHC
n 15+ 65 122
(n=2,4,6,8...)Note 1) RZQ
Note 1) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
Minimum Stroke for Auto Switch Mounting/Center Trunnion
—
n: Number of auto switches (mm
Auto switch Number of Center trunnion
model auto switches mounted 232 240 \ 50 263 280 2100
2 (Different sunac1es, same surface) 75 80 85 90 95
D-M9O
D-M9CIW n 75+40 054 80+40 054 85+4005% | 90440059 | 954400054
(n=4,8, 12,16--) Noe2) (n=4,8,12,16--) Note2) (1=4,8,12,16.-) N2 | (14,8, 12, 16-) N2 | (1= 4,8, 12, 16.--) Noe2)
2 (Different suﬂac1es, same surface) 50 55 60 65 70
D-M9CIV
D-M9OWV n 50 +30 054 55+30 054 6043005 | 65430059 | 70430054
(n=4,8, 12,16--) Noe2) (n=4,8,12,16-.) Note2) (1=4,8,12,16:)N0e2 | (14,8, 12, 16.-) N2 | (1= 4,8, 12, 16.-.) Noe2)
2 (Different surfac1es, same surface) 80 85 90 95 100
D-M9JA _ - - _ —
n 80+40 -4 85 +40 04 90+400-49 | 95440029 | 100+ 40052
(n=4,8, 12,16--) Noe2) (n=4,8,12,16--) Note2) (n=4,8,12,16.) N2 | (1=4,8,12, 16.-) N2 | (1= 4,8, 12, 16.-.) Noe2)
2 (Different surfac1es‘ same surface) 55 60 65 70 75
D-M9JAV _ _ _ — _
n 55 +30 024 60 +30 124 65+300-8 | 704300°8 | 75,300°9
(n=4,8, 12,16--) Noe2) (n=4,8,12,16-..) Note2) (1=4,8,12,16.) N2 | (124, 8,12, 16.-) N2 | (1= 4, 8,12, 16.-.) Noe2)
2 (Different suﬂaies‘ same surface) 70 75 80 85 95
D-A90] _ N _ — N
" 70 + 40024 75+40 04 80+400-% | 54 400°8 | 954 4000°9
(n=4,8, 12, 16--) Noe2) (n=4,8,12,16-..) Note2) (1=4,8,12,16.)N0e2) | (1=4,8,12, 16.-) N2 | (1= 4,8, 12, 16...) Noe2)
2 (Different suﬁazes‘ same surface) 45 50 55 60 70
D-A9CIV _ , - Z N
" 45+30024 50 + 30 024 55430024 | 60430024 | 7043007Y
(n=4,8, 12, 16:-) Noe2) (n=4,8,12,16-..) Note2) (1=4,8,12, 16.)N0e2) | (124, 8,12, 16.-) N2 | (1= 4, 8,12, 16.-.) Noe2)
Note 2) When “n” is an odd number, a multiple of 4 that is larger than this odd number is used for the calculation.
D-OI
195 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



MBY series

Minimum Stroke for Auto Switch Mounting/Center Trunnion

n: Number of auto switches (mm)

Auto switch model Number of Center trunnion
auto switches mounted 232 240 I 250 063 080 2100
2 (Different surfaces) 60 65 75 80 85
2 (Same surface) 90 95 100 105 110
D-A30 ) 60 + 30 (n - 2) 65 + 30 (n - 2) 75+30(N-2) | 80+30(N-2) | 85+30(n-2)
D-G39 n (Different surfaces) (n=2,4,6,8-)Noe 1) (N=2, 4,6, 8-..)Note 1) (n1=2,4,6,8.-)Noe )| (12,4, 6,8-)Noe 1| (n = 2, 4, 6, 8...) Note )
D-K39 90 + 100 (n - 2) 95 + 100 (n - 2) 100 + 100 (n - 2) [105 + 100 (n - 2)[ 110 + 100 (n - 2)
n (Same surface) |5 4 g g..noe1) (=2, 4,6, 8. Note 1) (n=2, 4,6, 8N )|(n=2, 4,6, 8.-) e 1 (1= 2, 4, 6, 8. Noe 1)
1 60 65 75 80 85
2 (Different surfaces)
2 (Same surface) 0 s 80 8
) 70+30 (n-2) 75+30 (n-2) 80 +30 (n -2) 85+ 30 (n-2)
D-A44 n (Different surfaces) (n=2,4,6,8)Note 1) (n=2,4,6,8...)Note 1) (n=2,4,6,8...)Note1) (n=2,4,6,8.)Noe )
70+50 (n - 2) 75+50 (n - 2) 80 +50 (n - 2) 85+ 50 (n - 2)
n (Same surface) |, 'y’g g...Note) (n=2,4,6,8)Note 1) (n=2,4,6,8)Note ) (n=2,4,6,8-) N )
1 70 75 80 85
2 (Diferent surfaces, same surface) 60 80 105 110 115
DaeD (n-4) (n-4) ( )
D-A60 -4 -4 (-4 (-4 (-4
6 n (Same surface) 60 + 550 80 +550 105 +55 0 110+55 05 1154550
(n=4,8,12, 16...) Note2) (1=4,8,12,16.)M2) | (1=4,8,12, 16.) M2 | (1= 4, 8,12, 16--) N2 | (1= 4, 8,12, 16.-) Noe2)
2 (Different surfaces, same surface) 60 70 85 110 115 120
(n-4) (n-4) (n-4) (n-4) (n-4) (n-4)
D-A59W n (Same surface) 60 + 55-—— 70 +55-—— 85 +55—— 110 +55—— | 115+55—— | 120 +55——
(n=4,8,12,16.-)Noe2)| (n=4, 8, 12, 16.--)\oe2) | (n= 4, 8, 12, 16.--)Ne2) | (n = 4, 8, 12, 16--) Vo2 | (n =4, 8, 12, 16-..)Nole2) | (n= 4,8, 12, 16...) Nole2)
1 60 70 85 110 115 120
D-F501/J59 2 (Different surfaces, same surface) 90 95 110 115 120
D-F500W (n-4) (n-4) (n— 4) (n-4) (n-4)
D-J59W n (Same surface) 90+SST 95+SST 110 + 55 —— 115+SST 120+SST
D-F5BA (n=4,8, 12, 16...) Note2) (n=4,8,12, 16...) Note 2) (n=4,8,12, 16 )Nmez (n=4,8,12,16.-)Nole2 | (=4, 8, 12, 16...) Nele2)
D-F59F 1 90 95 110 115 120
2 |Different surfaces, same surface) 100 105 120 125 130
(n-4) (n-4) (n-4) (n-4) (n-4)
D-F5NT n (Same surface) 1OO+SST 105+SST 120+SST 125+SST 130+SST
(n=4,8, 12, 16...) Note2) (n=4,8,12, 16...) Note 2) (n=4,8,12,16--)Ne2) [ (n=4,8, 12, 16--) Nole2) | (n = 4,8, 12, 16...) Note2)
1 100 105 120 125 130
D-Z701 2 (Different surfaces, same surface)
B‘%sg 80 85 90 95 100
-Y590] _ _ Z N
D-Y7P N 80+40024 | 854400 Y 90 + 40024 95+400-% | 100+ 409
D-Y7OW (n=4,8,12,16-)49¢2)| (1= 4,8, 12, 16--) Noe2) (n=4,8,12 16 .) Note 2) (n=4,8,12,16.) N2 | (n=4, 8, 12, 16--.) Noe2)
2 (Different surfaces, same surface)
D-Y690] p 60 65 70 75 85
D-Y7PV (n-4) (n-4) (n-4) (n-4) (n-4)
D-Y7OWV R 60 +30 2% 65+30 ;% 70+30 0% | 75430079 | 8543007
(n=4,8,12, 16 Noe2) (n=4,8,12,16.)Note2) (n=4,8,12,16.-)Noe2)| (n.=4, 8 12,16-) 02 | (124,812, 1.~ Nae2)
2 (Different suﬂazes. same surface) 85 2 100 105 110
D-Y7BA
n 85+ 4504 90 + 45024 100+ 45029 | 105+ 4509 | 11044509
(n=4,8,12,16:)Noe2) (n=4,8,12,16-)Note) (n=4,8,12,16-)No2)| (n=4,8, 12,16-) 2 | (1= 4,8, 12, 16~ Noe2)
2 (Different sur{aies, same surface) 80 85 % 95
D-P3DWA N N , N
R 80+ 5004 85 +45024 90 + 45024 95+ 50 024
(n=4,8,12, 16--)Note2) (n=4,8,12,16+)Note 2) (n=4,8,12,16:-) Note 2) (n=4,8,12, 16-)Noe2)
2 (Different surfaces, same surface) 120 130 140
D-P4DW
n 120 + 650054 130 + 65 0549 140 + 65054
(n=4,8,12, 16 Note2) (n=4,8,12,16-)Note2) (n=4,8,12,16-)Note2)

Note 1) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.

Note 2) When “n” is an odd number, a multiple of 4 that is larger than this odd number is used for the calculation.

® 196

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Auto Switch Mounting MB Y Series

Auto Switch Mounting Brackets/Part No.

Auto switch model

Bore size (mm)

232 240 250

263 280

2100

D-M9CIW/MOCIWV
D-M9CIA/MOLIAV
D-M9C/MICIV
D-A9[/A9LIV

BMB5-032 BMB5-032 BA7-040

BA7-040

BA7-063

BA7-063

D-A3LV/A44
D-G39/K39

BMB2-032 | BMB2-040 | BMB1-050

BMB1-063

BMB1-080

BMB1-100

D-A5C1/A6L/A59W
D-F501/J59
D-F5C1W/J59W
D-F59F/F5BA
D-FSNT

BT-03 BT-03 BT-05

BT-05 BT-06

BT-06

D-P3DWA

BA10-032S | BA10-040S | BA10-050S

BA10-050S

BA10-063S

BA10-063S

D-P4DW

BMB3T-040 | BMB3T-040 | BMB3T-050

BMB3T-050

BMB3T-080

BMB3T-080

D-Z7(1/Z80
D-Y59C1/Y69[]
D-Y7P/Y7PV
D-Y7OIW/Y7OOWV
D-Y7BA

BMB4-032 | BMB4-032 | BMB4-050

BMB4-050

BA4-063

BA4-063

[Stainless Steel Mounting Screw]

The following stainless steel mounting screw kit (including set screws) is available. Use it in
accordance with the operating environment. (Since the auto switch mounting bracket is not included,

order it separately.)

BBAT1: For D-A5/A6/F5/J5 types

Note 1) Refer to page 1055 for details on the BBA1.
The above stainless steel screws are used when a cylinder is shipped with the D-F5BA auto
switch. When only the auto switch is shipped independently, the BBA1 is attached.

Note 2) When using the D-MOJA(V) or Y7BA, do not use the steel set screws which are included with
the auto switch mounting brackets above (BMB5-032, BA7-0J001, BMB4-01000, BA4-00000).
Order a stainless steel screw kit (BBA1) separately, and use the M4 x 6 L stainless steel set
screws included in the BBAT.

<Mounting example for 232, D-P3DWA>

®
2%
Switch mounting bolt*/G 5

&

&

- The figure shows the mounting
example for the D-A9CI(V)/MILI(V)/
MOLIW(V)/MILIA(V).

)
m
=

=)
m
(=~}

= |5 -]
= m
o | o

D (| ]
N ([ X
oo

= The switch mounting bolt is supplied with

the switch.

Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable.
Refer to pages 941 to 1067 for the detailed specifications.

1

1

1

1 Type Model Electrical entry Features

' D-A93V/A9EY Grommet (Perpendicular) —

1 D-A90V P Without indicator light

1 Reed D-B35

: D-A53/A56/273/276 Grommet (In-line)

I D-A67/280 Without indicator light

1 D-M9INV/MIPV/MOBV

1 D-Y69A/Y69B/Y7PV

1 D-MINWV/M9PWV/MIBWV . Diagnostic indication

Grommet (Perpendicular) -

1 D-Y7NWV/Y7PWV/Y7BWV (2-color indicator)

1 D-M9INAV/M9PAV/MIBAV Water resistant (2-color indicator)

: D-P4DW Magnetic field resistant (2-color indicator)
D-F59/F5P/J59

1 Solid state

1 D-Y59A/Y59B/Y7P —

1 D-Y7H

1 D-F59W/F5PW/J59W . Diagnostic indication

1 Grommet (In-line) > -
D-Y7NW/Y7PW/Y7BW (2-color indicator)

: D-F5BA/Y7BA Water resistant (2-color indicator)

1 D-F5NT With timer

1 D-P5DW Magnetic field resistant (2-color indicator)

1

1

=

* With pre-wired connector is also available for solid state auto switches. For details, refer to pages 1014 and 1015.
* Normally closed (NC = b contact) solid state auto switches (D-FOG/FOH/Y7G/Y7H) are also available. For details, refer to pages 959 and 961.

o
197 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Smooth Cylinder

CAZ2Y Series

240, 050, 063, 380, 3100

t

How to Order
CA2Y|B]40]
w CDA2Y B[40 -[M9BW|

With auto swnch _
(Built-in magnet) Accessories 1 Made to Order
Mountin m Refer to page 199 for details.
g [N [ Potbracker |
B Basic Bore size # Only for D and T mounting types Number of auto h
L Axial foot * Pivot bracket is shipped together =
F Rod flange gg gg :: with the product, but not "gl 21pcs.
. pe.
G H_ead ﬂang_e 63 | 63mm _ Accessories 2 3 3pes.
C Single cIeV|§ 80 | 80mm Nil i No bracket. i n " pos.
D Double clevis 100 | 100 mm \' Single knuckle joint
T Center trunnion w Double knuckle joint '—e Auto switch
" . Port thread type R s ] Wi ao s
Built-in Magnet Cyllnder Model Nil Re * Rod end bracket is shipped together = For applicable auto switches,
If a built-in magnet cylinder without an ™ NPT ) with the product, but not assembled. refer to the table below.
auto switch is required, there is no need TF G Cylinder stroke (mm)
to enter the symbol for the auto switch. Refer to “Standard Strokes” on page 199.
(Example) CDA2YB40-100Z « Refer to “Ordering of Cylinder A y” on page 200.

Applicable Auto Switches/Refer to pages 941 to 1067 for further information on auto switches.

3 - Load voltage Auto switch model _|Lead wire length (m)|, . .
Type Special function Elecltncal gVI:Ingt DC AC Tie-rod Band 05 | 135 A Applicable load
sntry (Output) mounting | mounting | (Nil) | ()| (L) | () [connecter
3-wire (NPN) LAY ol e e 8 S
5V, 12V WoP — e o0 O o IC circuit
Grommet 3-wire (PNP) | 24V — — G5P e — e O o
. M9B = ® /0O o
5 2-wire 12V — K5 e — e O o _
-‘g Terminal 3-wire (NPN) 12V G39C G3 = =1=1 =
H conduit 2-wire K39C K3! — |—=|=]=] =
] . MONW = ® /0 O [¢)
3 Lo e (NPR) SV 12V — | G59W | @ |- (@[O0 © iCcircut| Relay,
o Diagnostic indication © S-wire (PNP) ! MIPW — ® @ 0 O o PLC
g (2-color indicator) — G5PW ® [—|®|O o
B owre | 2av | 12v | — [MIBW [ —— e |00 0] O -
3 Grommet = K59W ® —|®|O [¢)
n . 3-wire (NPN) M9NA*! — O |[O|®@|O @) .
Water r.eS|.stant 3-wire (PNP) 5V, 12V MOPA — 6 OTe| 0 0 IC circuit
(&-color indicator) 2-wire 2V MOPA*T [ — O [olefol o [ —
With diagnostic output (2-color indicator) 4-wire (NPN) 5V,12V F59F G59F ® —0 0 o IC circuit
Magnetic field resistant 2-wire _ P3DWA e — o0 o _
(2-color indicator) (Non-polar) P4DW — | —]e|e O
3-wire -
o IYes| (NPN equivalent) | 5V — A96 = ® (—|® —| — |Ccircuitf —
[Z}
£ L] 100V | A93 — ) [0 — —
5 Grommet [No| 100Vorless| A = — | ®|— — _|IC circuit Relay,
o — [Yes| 100V, 200V A54 B54 —lele — PLC
3 No 2-wire 24V 12V |200Vorless| A64 B64 — | ®|— —
] Terminal — A33C A — == = _
@ conduit A34C A34 — | —]—=]—= — PLC
o DIN terminal' " 100V, 200V —R42¢ A44 — [ —1—=1-1 = Relay,
Diagnostic indication (2-color indicator) | Grommet — — A59W B59W o |—|o|— — PLC

=1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.
= Lead wire length symbols: 0.5 m Nil (Example) MONW = Solid state auto switches marked with “O” are produced upon receipt of order.
M (Example) MONWM
L (Example) MONWL
Z (Example) MONWZ
= Since there are other applicable auto switches then listed above, refer to page 211 for details.
= For details about auto switches with pre-wired connector, refer to pages 1014 and 1015.
# The D-A90/MIUICIC/P3DWAL auto switches are shipped together, (but not assembled). (However, only the auto switch mounting brackets are assembled for the D-A9C)/MITIOC] before shipment.)

v 198

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com




Specifications

Smooth Cylinder CA2Y Series

Bore size (mm)

40

50 63 80 100

Action

Double acting

Piston speed

5 to 500 mm/s

Fluid Air
Proof pressure 1.05 MPa REA
i perati 0.7 MPa
— REB

Ambient and fluid temperature

Without auto switch: —10°C to 70°C
With auto switch: —=10°C to 60°C

(No freezing)

Cushion None REC
Lubrication Not required (Non-lube)
Mountin Basic, Axial foot, Rod flange, Head flange
9 Single clevis, Double clevis, Center trunnion Low
A rate 0.5 L/min (ANR) Speed
Symbol Minimum Operating Pressure Ma
- . —
Without cushion Unit: MPa RHC
:SI \ Bore size (mm) [ 40 | 50 [ 63 80 100 |
‘ Minimum operating pressure ‘ 0.02 ‘ 0.01 ‘ RZQ
Standard Strokes
—————————
Made to Bore size (mm) Standard stroke (mm) Max. manufacturable stroke (mm)
order | Made to Order 25, 50, 75, 100, 125, 150, 175, 200, 250, 300,
Click here for details 40 350, 400, 450, 500 1000
Symbol Specifications 50,63 25, 50, 75, 100, 125, 150, 175, 200, 250, 300, 1000
-XAL[ | Change of rod end shape ’ 350, 400, 450, 500, 600
Tie-rod, Cushion valve, Tie-rod nut, etc. 25, 50, 75, 100, 125, 150, 175, 200, 250, 300,
-XC7 made of stainless steel G, T 350, 400, 450, 500, 600, 700 1000
-XC14 | Change of trunnion bracket mounting position Note 1) Intermediate strokes not listed above are also available.
-XC15 | Change of tie-rod length Please consult with SMC for strokes outside the above ranges.
Double clevis and double knuckle joint pins Note 2) Applicable strokes should be confirmed according to the usage. For details, refer to “Air
-Xc27 made of stainless steel Cylinders Model Selection” on front matter pages of the Best Pneumatics No. 2-1. In
addition, the products that exceed the standard stroke might not be able to fulfill the
-XC28| Compact flange made of $S400 specifications due to the deflection etc.
-XC29 | Double knuckle joint with spring pin
-XC30 | Rod trunnion Accessoriesror details, refer to page 206.
———
-XC65 Made of stainless steel
(Combination of XC7 and XC68) N
Mounting Basic Foot fIFk)d Head | Single | Double | Center
Made of stainless steel ange | flange | clevis | clevis |trunnion
-XC68 (with hard chrome plated piston rod) Rod end nut ) [ [ o ) [ [
Standard —
Clevis pin — — — — — (] —
H Single knuckle joint
Replacement Parts/Seal Kit _ [Singleknuckiejoint] @ | ® | @ | @ | ® | ® | @
Option | Double knuckle joint ° ° ° °
(with pin)
SIOEHD Kit no. Contents
(mm)
40 CA2Y40Z-PS
Rod seal 1pc.
50 CA2Y50Z-PS |
Piston seal 1pc.
63 CA2Y63Z-PS Cylinder ub et 2
80 | CA2vg0z-ps | Yinderlube gaskel 2pcs.
100 CA2Y100Z-PS Grease pack (10 g) 1 pc.
When maintenance requires only grease, use the
following part numbers to order.
Grease pack part number: GR-L-005 (5 g)
GR-L-010 (10 g)
GR-L-150 (150 g)
D-OI

199 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

o


http://www.smcworld.com/products/en/custom.do

CA2Y Series

Ordering Example of Cylinder Assembly

Cylinder model: Double clevis
CDA2YD40-150Z-NW-M9BW

Mounting D: Double clevis
Pivot bracket N: Yes
Rod end bracket W: Double knuckle joint

Auto switch D-M9BW: 2 pcs * Pivot bracket, double knuckle joint and auto switch are

shipped together with the product, but not assembled.

Weights/Aluminum Tube

(kg)
Bore size (mm) 40 50 63 80 100
Basic 0.73 1.06 1.53 2.73 3.71
Axial foot 0.91 1.25 1.83 3.40 4.64
. . Flange 1.09 1.48 2.28 418 5.57
Basic weight s -
Single clevis 0.95 1.37 212 3.84 5.43
Double clevis 0.99 1.46 2.28 413 5.95
Trunnion 1.08 1.51 2.29 4.28 5.93
Additonal weight |- ay mounting brackets | 020 | 025 | 031 046 | 058
per 50 mm of stroke
. Single knuckle joint 0.23 0.26 0.26 0.60 0.83
Accessories - p
Double knuckle joint (with pin) 0.37 0.43 0.43 0.87 1.27

Calculation (Example) CA2YL40-100Z (Axial foot, 240, 100 st)
® Basic weight---
® Additional weight:
® Cylinder stroke:--

0.91 + 0.20 x 100/50 = 1.31 kg

200

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Smooth Cylinder CA2Y Series

Basic: CA2YB

) G 2xP
Width across flats KA —— 2 x Cushion valve
MM
H
AN
w of il r
‘\_/
H1 ==
AL | WA WA
AlK N
F N
H S + Stroke M
ZZ + Stroke
(mm)
EER ek A AL B B1 c D E F G H H1 J K KA
(mm)
40 30 27 60 22 44 16 32 10 15 51 8 M8 x 1.25 6 14
50 35 32 70 27 52 20 40 10 17 58 11 M8 x 1.25 7 18
63 35 32 85 27 64 20 40 10 17 58 11 M10 x 1.25 7 18
80 40 37 102 32 78 25 52 14 21 71 13 M12x1.75 10 22
100 40 37 116 | 41 92 30 52 14 21 72 16 M12 x 1.75 10 26
SR e M MM N P s WA | zz
(mm)
20 11 M14x1.5 27 1/4 84 | 185 | 146
50 11 M18x 1.5 30 3/8 90 | 185 | 159
63 14 M18x 1.5 31 3/8 98 23 170
80 17 M22 x 1.5 37 12 | 116 | 285 | 204
100 17 M26 x 1.5 40 12 | 126 | 285 | 215
Axial Foot: CA2YL
H G
2xP
LA, K il
‘ AL F ,/, 2 x Cushion valve
MM  H: =il S ]
I = ‘Lt:7
|.u0¢ 4xoLD
e ® L :
A — I =
Width across flats KA(:Z } {1H L
N | A,y
X S + Stroke X
Y LS + Stroke Y
ZZ + Stroke
(mm)
B"(;ﬁrﬁ')ze A|A| B |B | C|D|E|F |G| H]|H J K | KA [ LD | LH | Ls | LT
40 30 | 27 | 60 | 22 | 44 | 16 | 32 | 10 | 15 | 51 | 8 | M8x125 | 6 | 14 | 9 | 40 | 138 | 3.2
50 35 | 82 | 70 | 27 | 52 | 20 | 40 | 10 | 17 | 58 | 11 | M8x125 | 7 | 18 | 9 | 45 | 144 | 32
63 35 | 32 | 85 | 27 | 64 | 20 | 40 | 10 | 17 | 58 | 11 | M10x1.25 | 7 | 18 | 115 | 50 | 166 | 3.2
80 40 | 37 [ 102 | 32 | 78 | 25 | 52 | 14 | 21 | 71 | 13 | M12x1.75 | 10 | 22 | 135 | 65 | 204 | 45
100 40 | 37 | 116 | 41 | 92 | 30 | 52 | 14 | 21 | 72 | 16 | M12x1.75 | 10 | 26 | 135 | 75 | 212 | 6
Boresize |y | 1y MM N | P | s | x| VY |z
(mm)
40 42 | 70 | M14x15 | 27 | 1/4 | 84 | 27 | 13 | 175
50 50 | 80 | M18x1.5 | 30 | /8 | 90 | 27 | 13 | 188
63 59 | 93 | M18x1.5 | 31 | /8 | 98 | 34 | 16 | 206
80 76 | 116 | M22x1.5 | 87 | 1/2 | 116 | 44 | 16 | 247
100 92 | 133 | M26x15 | 40 | 1/2 | 126 | 43 | 17 | 258

201
Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

)
m
=

=)
m
(=~}

= |5 -]
= m
o | o

=
X
(]

=)
N
o



CA2Y Series

Rod FIange: CA2YF

2xP
G G 4xoFD 4xd
2 x Cushion valve
Width across flats KA
MM = FUt B8 E= : -
= i =
9 - u ez o o
[ - f
Width across flats B1 ™ I ! (= [ e
Heheams e S i L
il Lc |
A | FI.N N B
H S + Stroke M FX
ZZ + Stroke FZ
(mm)
B‘J(ﬁ:')ze A|AL | B |Bi | C | D|E |FB|FD|FT|FV |FX|FY|FZ| G | H | H J K
40 30 | 27 | 60 | 22 | 44 | 16 | 32 | 71 | 9 | 12 | 60 | 80 | 42 | 100 | 15 | 51 | 8 |M8x1.25| 6
50 35 | 32 | 70 | 27 | 52 | 20 | 40 | 81 | 9 | 12 | 70 | 90 | 50 | 110 | 17 | 58 | 11 |M8x1.25| 7
63 35 | 32 | 85 | 27 | 64 | 20 | 40 | 101 | 11.5| 15 | 86 | 105 | 59 | 130 | 17 | 58 | 11 |M10x1.25] 7
80 40 | 87 [ 102 | 32 | 78 | 25 | 52 | 119 | 135 | 18 | 102 | 130 | 76 | 160 | 21 | 71 | 18 |[M12x1.75] 10
100 40 | 37 | 116 | 41 | 92 | 30 | 52 | 133 | 135] 18 | 116 | 150 | 92 | 180 | 21 | 72 | 16 |M12x1.75] 10
Boresize | yp | MM N| P | s |2z
(mm)
40 14 | 11 | M14x15 | 27 | 1/4 | 84 | 146
50 18 | 11 | Mi8x15 | 30 | 3/8 | 90 | 159
63 18 | 14 | M18x15 | 31 | 3/8 | 98 | 170
80 22 | 17 | M22x1.5 | 87 | 1/2 | 116 | 204
100 26 | 17 | M26x1.5 | 40 | 1/2 | 126 | 215
Head Flange: CA2YG
=
4xoFD 4 2xP
e B1 xd Width across flats KA & 2x v £
2 x Cushion valve
=z 11 TE
N
B wl ol FE v 6 |
o | =
H: = J |
=i
lLAL |
F N N
A ||K
H S + Stroke FT|
ZZ + Stroke
(mm)
B"(::r:i)ze A | A | B |B | C D E F |FB | FD | FT | FVv | FX | FY | FZ | G H | H
40 30 | 27 | 60 | 22 | 44 | 16 | 32 | 10 | 71 9 | 12 | 60 | 80 | 42 | 100 | 15 | 51 8
50 35 | 32 | 70 | 27 | 52 | 20 | 40 | 10 | 81 9 | 12 [ 70 | 90 | 50 | 110 | 17 | 58 | 11
63 35 | 32 | 85 | 27 | 64 | 20 | 40 | 10 | 101 | 115 | 15 | 8 | 105 | 59 | 180 | 17 | 58 | 11
80 40 | 37 [ 102 | 82 | 78 | 25 | 52 | 14 | 119 | 185 | 18 | 102 | 130 | 76 | 160 | 21 | 71 | 13
100 40 | 37 | 116 | 41 | 92 | 30 | 52 | 14 | 133 | 135 18 | 116 | 150 | 92 | 180 | 21 | 72 | 16
Boliies J K | KA MM N P | s |z
(mm)
40 M8x125 | 6 | 14 | M14x15 | 27 | 1/4 | 84 | 147
50 M8x125 | 7 | 18 | M18x15 | 30 | 3/8 | 90 | 160
63 M10x125 | 7 | 18 | M18x15 | 31 | /8 | 98 | 171
80 M12x1.75 | 10 | 22 | M22x15 | 37 | 1/2 | 116 | 205
100 M12x1.75 | 10 | 26 | M26x15 | 40 | 1/2 | 126 | 216
202

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Single Clevis: CA2YC

Smooth Cylinder CA2Y Series

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

2xP
Width across flats KA 2 x Cushion valve 4xd
oCDH10
um \ =A 8
AN T \%_
u Qa¢ 1 i) 7 ojm REA
/4‘/ = || = %‘—
Width across flats B+ H1 = t } e REB
AL e
A ||k N U P REC
F| LN B
H S + Stroke L
Z + Stroke RR Low
ZZ + Stroke Speed
wall ()
B‘E::rz')ze A |AL| B | B | C CDH10 cX D E F | a H | Hi J K | KA
40 30 | 27 | 60 | 22 | 44 10°9%¢ 157 16 | 32 10 15 | 51 8 [M8x125] 6 14 |RHC
50 35 | 32 [ 70 [ 27 [ &2 12°5770 182, 20 | 40 10 17 | 58 11 [ M8x125| 7 18
63 35 | 32 | 85 | 27 | 64 16°57° 25 20 | 40 10 17 | 58 11 [ M10x125 | 7 18 ‘RZQ
80 40 37 | 102 | 32 78 20°9% 31.551 25 52 14 21 71 13 | M12x1.75 | 10 22
100 40 37 | 116 | 41 92 25°9% 35.591 30 52 14 21 72 16 | M12x1.75 | 10 26
SR e L MM N P |RR| S u z | z
(mm)
40 30 M14x 1.5 27 | 1/4 | 10 | 84 | 16 | 165 | 175
50 35 M18 x 1.5 30 | 358 | 12 | 90 | 19 | 183 | 195
63 40 M18 x 1.5 31 | 38 | 16 | 98 | 23 | 196 | 212
80 48 M22 x 1.5 37 | 1/2 | 20 | 116 | 28 | 235 | 255
100 58 M26 x 1.5 40 | 1/2 | 25 | 126 | 36 | 256 | 281
Double Clevis: CA2YD
U
[ Hole diameter: 9CDH1o
Shaft diameter: 6CDds
G 2xP G
Width across flats KA 2 x Cushion valve 4xd
LN == N
AN
w of FHT olm
Hi SEIN, e |
Width across flats B1 AL Q‘
A K N
F| |LN 1 cz
H S + Stroke L C
Z + Stroke RR1 B
ZZ + Stroke
* A pin and retaining rings are shipped together with double clevis and/or double knuckle joint. (mm)
B‘z:rﬁ')ze A |AL| B | Bi | C | CDuo cX cz| Do | E| F |G| H|H J K | KA
40 30 | 27 | 60 | 22 | 44 1070%¢ 15703 295 16 | 32 [ 10 | 15 | 51 8 |M8x1.25]| 6 14
50 35 [ 32 [ 70 | 27 | 52 e 18109 38 | 20 | 40 [ 10 [ 17 [ 58 | 11 [mM8x125] 7 18
63 35 32 85 27 | 64 16'0970 25103 49 20 | 40 10 17 | 58 11 [ M10x125] 7 18
80 40 | 37 | 102 | 32 | 78 20%0% 31.593 61 25 | 52 | 14 | 2 71 13 | M12x1.75| 10 | 22
100 40 | 37 | 116 | 41 92 25%% 35.593 64 | 30 | 52 | 14 | 21 72 | 16 | M12x1.75| 10 | 26
Bockrs L MM N | P |RRi|RR2| S | U |z |2z
(mm)
40 30 | M14x15 | 27 | 1/4 | 10 | 16 | 84 | 16 | 165 | 175
50 35 | M18x1.5 | 30 | 3/8 | 12 | 19 | 90 | 19 | 183 | 195
63 40 [ M18x15 | 31 [ 3/8 | 16 | 23 [ 98 | 23 | 196 | 212 D-0I
80 48 [ M22x15 | 37 [ 1/2 | 20 | 28 [ 116 | 28 | 235 | 255
100 58 | M26x1.5 | 40 | 1/2 [ 25 [ 235 126 | 36 | 256 | 281 X0
+ A clevis pin, flat washers and split pins are included. B
203



CA2Y Series

Center Trunnion: CA2YT

Z + 1/2 Stroke

2 x Cushion valve

Width across G G
B: 4xd 2xP ™
g = =)
> i wa § )
- QK / oo a| o %r r Y
B RE
c
B K T N
TX N
TZ S + Stroke
ZZ + Stroke
(mm)
Boliies A Bi | C | D | E|F H J K MM N | P
(mm)
40 30 22 | 44 | 16 | 32 | 10 8 | M8x1.25| 6 Mi4x15 | 27 | /4
50 35 27 | 52 | 20 | 40 | 10 11 |M8x125| 7 Mi8x15 | 30 | a/8
63 35 27 | 64 | 20 | 40 | 10 11| Mi0x125] 7 Mi18x15 | 31 | 3/8
80 40 32 | 78 | 25 | 52 | 14 13| Mi2x1.75]| 10 M22x15 | 37 | 12
100 40 41 | 92 | 30 | 52 | 14 16 | M12x1.75] 10 M26x15 | 40 | 12
SOk s T | X | TY | T2 | z
(mm)
40 84 22 | 85 | 62 | 117 | 93
50 90 22 | 95 | 74 | 127 | 103
63 9 28 | 110 | 90 | 148 | 107
80 116 34 | 140 | 110 | 192 | 129
100 126 40 | 162 | 130 | 214 | 135

* Do not disassemble the trunnion type. (Refer to the standard type.)

204

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Smooth Cylinder CA2Y Series

Trunnion and Double Clevis Pivot Bracket

@ Strength is the same as cylinder brackets.

Type

Boresize|  Ca20140 | CA20050 | CA20063 | CA20180 | CA201100
Description
Trunnion pivot bracket CA2-S04 CA2-S06 MB-S10
Double clevis pivot bracket | CA2-B04 | CA2-B05 CA2-B06 CA2-B08 | CA2-B10
+ Order 2 trunnion pivot brackets per cylinder.
Trunnion pivot bracket TE
Material: Cast iron

TO X TO

[=] w
Bzl F
E
N
TU
(mm)
Part no. B‘z::ms')ze TA | TL | TUu | Tc | T™X | TE | TO | TR | TT | TS | TH | TF | TY | Z | TD-H10 (Hole)
40 80 | 60 | 10 | 102 | 85 | 119 ]| 17 | 9 | 17 | 12 | 45 | 60 | 62 | 93 1547
CA2-S04
50 80 | 60 | 10 | 112 | 95 | 129 | 17 | 9 | 17 | 12 | 45 | 60 | 74 | 103 1547
CA2-s06 | 63 | 100 | 70 | 15 | 130 [ 110 [ 150 | 20 [ 11 [ 22 [ 14 [ 55 | 73 | 90 | 107 ™
MB-510 80 | 120 | 90 | 15 | 166 | 140 | 192 | 26 [ 135 | 24 | 17 | 75 | 100 | 110 | 129 2530
100 | 120 | 90 | 15 | 188 | 162 | 214 | 26 | 185 | 24 | 17 | 75 | 100 | 130 | 135 253%
Double clevis pivot bracket
Material: Cast iron
Z + Stroke

Rotating Angle

Bore size (mm) | A° | B° A° + B° +90° /

40

to 12° | 60° 162°

100

(mm)

Part no. B°(’nfr:')ze DA | DL (DU | DC | DX | DE | DO | DR | DT | DS | DH | DF | B Z | DDH10 (Hole)
CA2-B04 40 57 | 3 | 11 65 | 15 | 85 | 10 9 17 8 40 | 52 | 60 | 165 107°
CA2-B05 50 57 35 11 65 18 85 10 9 17 8 40 52 70 | 183 1277
CA2-B06 63 67 | 40 | 135 | 80 | 25 | 105 | 125 | 11 22 | 10 | 50 | 66 | 8 | 196 16%9°
CA2-B08 80 93 | 60 | 165 | 100 | 31,5 | 130 | 15 [ 135 | 24 | 12 | 65 | 90 | 102 | 235 205
CA2-B10 100 93 60 | 165 | 100 | 855 | 130 | 15 | 135 | 24 12 65 90 | 116 | 256 2579

205

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

x| N
m|m
W | =

= |5 -]
= m
o | o

D (| =
N ([ X
oo



CA2Y Series

Dimensions of Accessories

Y Type Double Knuckle Joint

Shaft diameter sNDao Split pin Material: Cast iron (mm)
Hole diameter ND; . Applicable 5 Flat
ameter o Rlat washer: _ Part | esze |Ar|Er|Di|Li| MM |RR(| Us [ND| NX |Nz| L | SPEPIN | agner
MM 'olished roun no. (mm) size size
ey :
Y-04D 40 22|24 (10|55 | M14x1.5|13|25|12| 16157 | 38 |555| 03 x 18¢ Z‘ﬂ:‘s;:g
w 1 XN a
&[ L 212 103 Polished
] Y-05D| 50,63 [27|28|14|60| M18x 15| 15|27 |12 | 1657 | 38 [565| 03 x 18¢ e
a=an
° Y 03 Polished
A1 Ui -08D 80 37|36 (18|71|M22x1.5|19|28 (18| 2817 | 55 |765| 04 x25¢ round 18
L Polished
g +0.3 olishe
99« Y-10D| 100 |37|40|21|83 | M26x1.5(21|38|20| 3037 | 61|83 | 04x30¢ round 20
% = A knuckle pin, split pins and flat washers are included.
Clevis Pin/Knuckle Pin
Material: Carbon steel (mm)
Applicable bore size d
oxod " Partno. [ P2 DO | L [ ¢ | m | Dl '”Cllf:d?d ﬂ":d“did
a Clevis | Knuckle through|  SPitPin at washer
L e CDP-2A 40 - 102667 46 38 4 3 @3 x 18 ¢ | Polished round 10
H ‘# . _ [ CDP-3A| 50 |40,50,63 | 123033 |555|475| 4 3 | 63x18¢ |Poishedround 12
m ¢ CDP-4A 63 - 1620628 71 61 5 4 @4 x 25 ¢ | Polished round 16
L CDP-5A - 80 183%3 | 765|665 5 4 | o4x25¢ |Poishedround 18
CDP-6A 80 100 2055 83 73 5 4 @4 x 30 ¢ | Polished round 20
CDP-7A| 100 - 254% | 88 | 78 | 5 4 | o4x36¢ |Polshedround 24
+ Split pins and flat washers are included.
| Type Single Knuckle Joint Rod End Nut (Standard)
—
of d
NDH10
MM \ 45 <&
e
- 3 ( [=] i
g & 2 ©
nl 5]

Material: Free cutting sulfur steel (mm) Material: Rolled steel (mm)
Part \kgluabete p | o | B | Ly | MM | R | Us | NDWO | NX Part no, |APPicable bore d H B c D
no. | sze(mm) size (mm)

1-04A 40 69 | 22 | 24 | 55 [M14x1.5/15.5| 20 | 123" | 16X NT-04 40 M14x 1.5 8 22 25.4 21

1-05A| 50,63 | 74 | 27 | 28 | 60 |[M18x1.5[15.5] 20 | 1273°° | 16 NT-05 50, 63 M18x 1.5 11 27 31.2 26

1-08A| 80 91 [ 37 |36 | 71 [M22x1.5/22.5| 26 | 189" | 28 NT-08 80 M22 x 1.5 13 32 37.0 31

I-10A| 100 |105| 37 | 40 | 83 |M26x1.5/24.5| 28 | 2073 | 30 NT-10 100 M26 x 1.5 16 41 47.3 39

® 206

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



CA2Y Series

Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

<Tie-rod mounting>
D-M9C/M9IV
D-M9OIW/M9IWV
D-M9OA/MOCIAV

D-Z701/Z80
D-Y5901/Y69L1/Y7P/Y7TPV
D-Y7OW/Y70OWV

D-A90/A90CIV D-Y7BA
*At Auto switch =Hs
< Fi i SRR B
el [ L
i m— e SN
20l B
D-A50/A60
D-A59W Auto switcl
EgTJ"}t;l—n
Arsld (e
R e
fon = 4 =
A_|.33 _
D-A30C
D-G39C/K39C G1/2

A 49 Applicable cable O.D.: 06.8 to 09.6
36 ..B

miz R i
ETE' : @gﬁn—. T
o) il
ey e,
=5 C1H=
D-F501/J59 D-F500W/J59W
D-F5NT D-F5BA/F59F
Auto switch =Hs
s TB RO
Bl o TR ey
4 b RS
a5 m@f A I e
=} = a\\//3 MR
A_|30 B

G1/2
Applicable cabl
B

<Band mounting>
D-B501/B64/B59W

)
m
>

Auto switch ~Hs
=TT o
2 P ]

S o
Low
D-A30 Speed
D-G39/K39
£ : ma
A 49 pplicable cable O.D.: 26.8 to 9.6
B =Hs
35, I RHC
=N 2 0= — s @
Aol %ﬁ WF& Ry 1= RZQ
D-G501/K59 D-G5BAL
D-G50W/K59W D-G59F/G5NTL
Auto switch =Hs
=R TR 5
Al o PP
EERl o &l =k
=5 ==
A 33 Bl
D-A44 G1/2

Applicable cable O.D.: 06.8 to 011.5

+
" Gt

207

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



CA2Y Series

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

Auto Switch Proper Mounting Position (mm)
Auto D-Y590] D-G39
switch D-Y69C] D-G39C
model | p.por] D-Y7P D-F501 D-K39 g:ﬁ:;j
D-M9LIV D-Y7PV D-J59 D-K39C | preonr
D-M9CIW | D-A9C] |D-Y7OOW D-F59F D-A50] D-B50J
D-MOOWV | D-A9CV |D-y7wy | D-PSDWA| D-PADW | b gy | D-ASSW | D-FSNT | ppgry | D-GSW | p.ggy
D-M9LIA D-Y7BA D-J59W D-A3Cl | preoba
D-M9LJAV D-z70) D-F5BA D-A3CIC | " Ao
D-Z80 D-A44
Do D-B59W D-A44C
size AlB|A|[B|]A][B|]A][B|]A]B|]A][B|]A][B|[]A][B|A][B|A]B|A]B
40 9 9 5 5 25| 25 45| 45 2 2 55| 55 3 3 105 | 105 | O 0 1 1 0 0
50 9.5 8.5 55| 45 3 2 5 4 25| 15 6 5 35| 25|11 10 0 0 1505 | 0 0
63 125 | 115 8.5 7.5 6 5 8 7 55| 45 9 8 65| 55|14 13 25 1.5 45| 35 | 3 2
80 165 | 135 | 125 | 9.5 | 10 7 12 9 95| 65 |13 10 105 | 75|18 15 6.5 3.5 85| 55 | 7 4
100 18 16 14 12 115 | 95 | 135 | 11.5 | 11 9 145 | 125 | 12 10 195 | 175 | 8 6 10 8 8.5 6.5
Note) Adjust the auto switch after confirming the operating conditions in the actual setting.
Auto Switch Mounting Height (mm)
Auto D-B5C]
switch D-B64
model D-z70] D-B59W g'jggm
B | D-MeCV D8 - |p-vear sl | p-aso D-ASC] |D-F50W|D-A3CIC
D-MoCIa |PM9IWV|D-ASCIV| v 20~ | D-Y7PV | D-PIDWA D-PADW| "ot | D-G39 | D-A44 |D-A6L1 |D-J59W |D-G39C | D-A44C
D-AoD]  [P-MOCIAV Dy7BA |DY7OWV D-GsCw| D-K39 D-A59W g-;ig,: D-K39C
D-Y70W D-K59W T
D-G5BA
Bore D-G59F
size Hs | Ht |Hs | Ht ([Hs | Ht |Hs | Ht [ Hs | Ht | Hs | Ht | Hs | Ht Hs Hs Hs Hs | Ht |Hs | Ht | Hs | Ht | Hs | Ht
40 30 30 |34 30 |31 30 |30 (30 |30 (30 |37.5| 35 |42.5/33 37 715 81.5 |[38.5/31.5/38 |31.5| 73 69| 81 69
50 34 | 34 (38 34 |35 34 |34 |34 |34 (34 |(415| 39 |46.5|37.5| 42 76.5 86.5 (42 |35.5(42 |35.5| 785 77| 865 77
63 |41 | 41 |44 | 41 |415| 41 |41 |41 |41 |41 |50 | 41 |52 |43 49 83.5 93.5 |46.5(43 |47 |43 | 855 91| 935 91
80 49.5| 49 |52.5| 49 |50 49 |49.5/49 |49.5/49 |58 | 49 |58.5|51.5| 57.5 92 102 53.5|51 |53.5|51 94 (107 102 | 107
100 |56.5| 56 |61 56 |58.5| 56 |56.5|55.5|57.5(55.5|66 56 |66 |58.5 68 102.5 1125 |61.5(57.5|61 |57.5(104 |121 {112 |121
Operating Range
—————
(mm)
i e Bore size i N Bore size
o swiich mode 40 50 63 80 | 100 o switeh moce 40 50 63 80 | 100
D-MOL/MOCIV D-Y59(1/Y69(]
D-MOCIW/MOLIWV 45 5 55 5 6 D-Y7P/Y7LIV s 7 55 65 65
D-M9LIA/MOLIAV D-Y7OW/Y7TOWV
D-Y7BA
D-A9L/A9LIV 75 85 9.5 9.5 10.5 D-F5L/J59/F500W
D-Z7(J/Z80 8.5 75 95 9.5 105 D-J59W/F5BA 4 4 4.5 45 45
D-F5NT/F59F
D-A3[/A44
% D-G5L/K59/G5LIW
D-A3[IC/A44C
9 10 11 11 11 D-K59W/G5BA 5 6 6.5 6.5 7
D-A5LVA6L] D-G5NT/G59F
D-B5L1/B64 D-G39/K39
9 9 10 10 1
D-G39C/K39C
DRSO 18 13 1 14 15 D-P3DWA 4.5 4.5 5.5 5.5 5.5
D-B59W 14 14 17 16 18 D-P4DW a4 4 45 4 45

* Values which include hysteresis are for guideline purposes only, they are not a guarantee (assuming approximately +30% dispersion) and may change substantially
depending on the ambient environment.

® 208

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Auto Switch Mounting CA2Y Series

Minimum Stroke for Auto Switch Mounting

n: Number of auto switches (mm)

Auto switch Number of auto  |Mounting brackets other| Center trunnion
model switches mounted | than center trunnion 240 I 250 263 080 2100
2 (Different surfaces
D-M9C] and same surface) 1 1 8 & €© %
D-MOCIW N 15440052 80+40 054 85+ 40054 90+ 4054 95+ 40054
(n=2,4,6,8-)Note ) (n=4,8,12, 16.) Note2) (n=4,8, 12, 16-)N9¢2 | (14,8, 12, 16.)Nle2)| (n= 4,8, 12, 16) o2
2 (Different surfaces
10 55 60 65 70
d same surface) 1
D-MOLIV an
D-MOCIWV N 10+30052 55+30 054 60+3005% | 65430058 | 70430058
(n=2,4,6,8-)Noe1) (n=4,8, 12, 16.) Note2) (=48, 12, 16-)N02)| (124, 8, 12, 16-) N2 | (1 =4, 8, 12, 16-) \oe2)
e B B - -
D-M9[IA _ _ _ _
o N 1544002 80+40 054 95+40028 | 1004 4005%
(n=2,4,6,8.)Note1) (n=4,8,12, 16...)Note2) (n=4,8,12,16-)N2 | (n=4, 8, 12, 16-) Note2)
P ° o :
D-M9[JAV _ _ _ _
N 10+30 052 60+ 30054 70+30 5% 75+30 054
(n=2,4,6,8-)Note1) (n=4,8,12,16--)Note2) (n=4,8,12,16-)Note2 | (n = 4, 8, 12, 16.-) Note2)
e : o - B
D-A9| _ _ _ _ _
B N 15440052 75+ 40054 80+4005% | 85440058 | 00440052
(n=2,4,6,8-) Nt (n=4,8, 12, 16.) Noe2) (n=4,8,12,16.)N2) | (n=4,8, 12, 16-)Noe2)| (1 =48, 12, 16 Noe2)
R B B s o o
D-A9(CV (n-2) n-4) n -4 n -4 n-4)
n 10+3005 50 +30 "5 55+ 30 05 60+ 3005 65+30 "5
(n=2,4,6,8-)Nte (n=4,8,12, 16.) Noe2) (n=4,8,12,16-)N02) | (n=4, 8, 12, 16-) N0 | (1= 4,8, 12, 16 Ne2)
2 (Different surfaces
D-A51/A6 15 90 100 110 120
d same surface) 1
D-F51J5 an
D-F5W/J59W 15+ 5502 90 + 55 (054 100+55054 | 110455022 | 120455054
D-F5BA/F59F n (Same surface) 2 2 2 2 2
(n=2,4,6,8-)Noe1) (n=4,8,12, 16) Note2) (=48, 12, 16-) V02| (124, 8, 12, 16-) N2 | (1 =4, 8, 12, 16-) \oe2)
fnLDS;ii”;j::(;ef 20 90 100 110 120
D-A59W n (Same surtace) | 20+ 5550 90+ 55054 100+5505% | 110455054 | 120455054
(n=2,4,6,8-)Nte (n=4,8,12, 16.) Note2) (n=4,8,12,16.)\%2) | (1= 4,8, 12, 16-) 02| (1= 4, 8, 12, 16 \e2)
1 15 90 100 110 120
2 (Different surfaces 25 110 120 130 140
and same surface) 1
D-F5NT , , , , ,
n (Same surface) | 25+ 5550 110455054 120456058 | 130455058 | 140455052
(N=2,4,6,8)Note1) (n=4,8,12, 16..)Note2) (n=4,8,12,16-)N0e2) | (n= 4, 8,12, 16-) N2 | (n= 4,8, 12, 16 Note2)
el — -
D-G5[ /K59
D-G500W Different surfaces | 15+ 50052 90+50 054 100 + 50 254 110450 054
D-g59W n (n=2,4,6,8-)Note 1) (n=4,8,12,16..)Note2) (n=4,8, 12, 16.)Noe2) (n=4,8,12,16.)Note2)
D-G5BA
75 +50 (n - 2) 90 +50 (n -2) 100 + 50 (n - 2) 110+ 50 (n - 2)
g:ggaﬁ_ Same surface | (53 4.. (n=2,4,6,8.)Note 1) (n=2,4,6,8-)Noe) (n=2,4,6,8-)Ne)
1 10 90 100 110
Different surfaces 20
% 100 110
Same surface 75
(n-2 (n-4) (n-4) (n-4)
Different surfaces | 20+ 50"% 90 + 50 5 100+ 50 "5 110+ 50 05
D-B59W n (n=2,4,6,8-) Nt (n=4,8,12, 16.) Note2) (n=4,8, 12, 16.-) Nowe2) (n=4,8, 12, 16.-)Note2)
75+50 (n - 2) 90 +50 (n-2) 100 +50 (n - 2 110+50 (-2
Same surface
(n=2,3,4-) (N=2,4,6,8-)Note ) (N=2,4,6,8.)Note) (n=2, 4,6 8.)Note)
1 15 90 100 110

Note 1) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
Note 2) When “n” is an odd number, a multiple of 4 that is larger than this odd number is used for the calculation.

209

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

x|}/ |=
m|m|m
Q||| =

=1
S|E=

D (| =
N ([ X
oo



CA2Y Series

Minimum Stroke for Auto Switch Mounting

n: Number of auto switches (mm)

(n=2,4,6,8-)Nte

(n=4,8,12, 16...)Note2)

(n=4,8, 12, 16-)Noe2

Auto switch Number of auto  |Mounting brackets other| Center trunnion
model switches mounted | than center trunnion 240 I 250 263 080 [ 2100
Different surfaces 35 75 80 90
Same surface 100 100 100 100
D-A30] 35+30 (n-2) 75+30 (n-2) 80 +30 (n-2) 90 +30 (n-2)
D-G39 . Different surfaces (N=2,3,4-) (n=2,4,86,8..)Note 1) (n=2,4,6,8-)Note 1) (N=2, 4, 6, 8..)Note 1)
D-K39 Same surface 100 + 100 (n - 2) 100 + 100 (n-2)
(n=2,3,4-) (n=2,4,6,8.)Nte1)
1 10 75 80 90
Different surfaces 35
2 Same surface 55 I 8 ©
35+3(n-2) 75+30 (n-2) 80+ 30 (n-2) 90 +30 (n-2)
D-Ad4 | |t St (o 22,3,4.) (n=2,4,6,8-)Ne D (n=2,4,6,8-)%%1) (n1=2,4,6,8-)No0 1
Same surface | 55+ 50(1-2) 75+ 50 (n - 2) 80+ 50 (n-2) 90 + 50 (n - 2)
(n=2,3,4-) (n=2,4,6,8..)Note1) (N=2,4,6,8.)Ne1) (n=2,4,6,8..)Note 1)
1 10 75 80 90
> Different surfaces 20 75 80 90
Same surface 100 100 100 100
D-A30IC 20 +35 (n-2) 75+35(n-2) 80+35(n-2) 90 +35 (n-2)
D-G39C n Different surfaces n=2,3,4.) (nN=2,4,6,8-)Note 1) (n=2,4,6,8-)Note (n=2,4,6,8..)Note 1)
D-K39C Same surface 100 + 100 (n - 2) 100 + 100 (n-2)
(n=2,34,5") (N=2,4,6,8.)Nte1)
1 10 75 80 90
Different surfaces 20
2 7!
Same surface 55 5 8 ©
Different surfaces 20+35(n-2) 75+35(n-2) 80+35(n-2) 90+35(n-2)
D_A44C n (n:2Y 3. 4) (n:zv 4’ 6’ 8) Note 1) (n=214v6’ s...)NDIeT) (n=2Y 4Y 6v 8) Note 1)
Same surface 55+50(n-2) 75+50 (n-2) 80 +50(n-2) 90 +50 (n-2)
(n=2,3,4-) (N=2, 4,6, 8)Note ) (n=2,4,6,8.)Note 1) (n=2,4,6,8.)Note 1)
1 10 75 80 90
2 (Different surfaces
D-Z7(1/Z80 and same surface) 1 1’ 80 85 90 9 105
D-Y59[/Y7P - - - - _ _
D-Yggmw N 15440052 | go+a0zY | 85.4005% | 90+4005% | 95+4005% | 105440052
(1=2,4,6,8-)Ne )| (n=4,8 12, 16-) N2 | (1= 4,8, 12, 16-) N2 | (n=4,8, 12, 16-) N2 | (N =4, 8, 12, 16-) N2 | (n=4, 8, 12, 16-) Noe2)
e o 7 & R
D-Y69[/Y7PV 2 n ” 7 n
D-Y7OWV n 10430052 65+30 054 75+3005% | 80+3005% | 90430052
(n=2,4,6,8-)Note 1) (n=4,8,12, 16 Note2) (n=4,8,12,16-)N9¢2)| (n=4, 8,12, 16-) V2| (n= 4, 8, 12, 16-) Noe2)
2 (Different surfaces 20 95 100 105 110
and same surface) 1
D-Y7BA N 20+45 052 95445054 100+45 059 | 105+4505% | 110445059
(n=2,4,6,8-)Note 1) (n=4,8,12, 16 Note2) (n=4,8,12,16--)N9¢2)| (n=4, 8,12, 16-) V2| (n= 4, 8, 12, 16-) Noe2)
2 (Different surfaces 15 85
and same surface) 1
BB N 15450172 85+50 5%
(n=2,4,6,8-)Note 1) (n=4,8,12,16.-)Note2)
2 (Different surfaces 15 120 130 140
and same surface) 1
D-P4DW - - _ _
" 15465052 120 + 65 052 130 + 65 054 140+ 65 054

(n=4,8, 12, 16...) Note 2)

Note 1) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation.
Note 2) When “n” is an odd number, a multiple of 4 that is larger than this odd number is used for the calculation.

210

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Auto Switch Mounting Brackets/Part No.

<Tie-rod mounting>

Auto Switch Mounting CA2Y Series

<Band mounting>

Auto switch Bore size (mm) Auto switch Bore size (mm)
model 40 50 63 80 100 model 40 50 63 80 100
g:n%ﬁmvmgg\‘llvv g-eg%‘/é;: BDS-04M | BDS-05M | BMB1-063 | BMB1-080 | BMB1-100 REA
BA7-040 | BA7-040 | BA7-063 | BA7-080 | BA7-080 i
D-M9JA/MOLIAV
D-A9LVA9LIV D-BSLVB64
D-B59W REB
D-A5[V/A6[] D-G5[/K59
D-A59W D-G5CW/K59W BH2-040 | BA5-050 | BAF-06 BAF-08 BAF-10 REC
D-F5[1/J59 BT-04 BT-04 BT-06 BT-08 BT-08 D-G59F
D-F5(]W/J59W D-G5NT
D-F59F/F5NT m
D-A3CIC/A44C Note 1) The auto switch mounting bracket is included in the D-A30C/A44C/
D-G39C/K39C BA3-040 | BA3-050 | BA3-063 | BA3-080 | BA3-100 G39C/K39C types. Specify the part number as follows depending on Low
= the cylinder size when ordering. Speed
D-Z701/280 (Example) ©40: D-A30C-4, 650: D-A30JC-5, 063: D-A30JC-6, 080: |OPEE
D-Y59(1/Y69[] D-A30C-8, 100: D-A30JC-10 MQ
D-Y7P/Y7PV BA4-040 | BA4-040 | BA4-063 | BA4-080 | BA4-080 [Stainless Steel Mounting Screw]
D-Y7CIW/Y7CIWV X ! . . .
D-Y7BA The‘followmg stgmless steel moun!lng screw kit (‘mcludm'g set screws) is also RHC
available. Use it in accordance with the operating environment.
D-P3DWA BK7-040S | BK7-040S | BA10-063S|BA10-080S |BA10-080S (Since the auto switch mounting bracket is not included, order it separately.)
g " " " " " BBA1: For D-A5/A6/F5/J5 types
BAP2-040 | BAP2-040 | BAP2 BAP2 BAP2
DaRADW 040 040 063 080 080 BBA3: For D-B5/B6/G5/K5 types RZQ
Note 2) Refer to pages 1047 and 1055 for details on the BBA1 and BBA3.
The above stainless steel screws are used when a cylinder is shipped with
D-F5BA or G5BA auto switches. When only an auto switch is shipped
independently, the BBA1 or BBA3 is attached.
Note 3) When using the D-M9JA(V) or Y7BA, do not use the steel set screws
which are included with the auto switch mounting brackets above
(BA7-000, BA4-000). Order a stainless steel screw kit (BBA1)
separately, and use the M4 x 6L stainless steel set screws included in
the BBA1.
Note 4) There is a difference in the cylinder tube thickness depending on the
cylinder model. When a band mounting type is used as an applicable
auto switch and a cylinder model is changed, use caution.
* The figure shows the mounting example for the D-A9CI(V)/M9LI(V)/MITIW(V)/MILIA(V) types.
(P N N R R SR R R SR R GE ED NN ED NN ED EN SR NN ND ED SR SR SR ED SR BN SR SE SR SR SR SR SR G R M R R R
I Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable. !
: Refer to pages 941 to 1067 for the detailed specifications. :
1 Type Model Electrical entry Features 1
D-A93V/A96V —
! Grommet (Perpendicular) - — - !
1 Reed D-A90V Without indicator light 1
! D-A53/A56/B53/273/276 Grommet (in-ine) — 1
: D-A67/280 Without indicator light :
1 D-M9INV/MIPV/M9OBV 1
1 D-YB9A/Y69B/Y7PV 1
1 D-MONWV/M9PWV/M9BWV Grommet (Perpendicular) Diagnostic indication 1
1 D-Y7NWV/Y7PWV/Y7BWV (2-color indicator) 1
1 D-M9INAV/MIPAV/MIBAV Water resistant (2-color) 1
: Solid state D-Y59A/Y59B/Y7P :
1 D-F59/F5P/J59 1
1 D-Y7NW/Y7PW/Y7BW Diagnostic indication 1
1 D-F59W/F5PW/J59W Grommet (In-line) (2-color indicator) 1
1 D-F5BA/Y7BA Water resistant (2-color) 1
! D-F5NT/GENT With timer !
: D-P5DW Magnetic field resistant (2-color) :
| * With pre-wired connector is also available for solid state auto switches. For details, refer to pages 1014 and 1015. 1
1 *Normally closed (NC = b contact) solid state auto switches (D-FOG/FOH/Y7G/Y7H) are also available. For details, refer to pages 959 and 961. 1
B o o e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e o D-0I
211 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Smooth Cylinder

CS2Y Series

2125, 140, 160

How to Order

] C82Y|160| —|3oo| -]
I—l
wcnszv |160| —|3oo| -[M9oBW]

With auto switch Number of auto switches
(Built-in magnet) =
Nil 2 pcs.
Smooth cylinder 1pe. l—
. 3 pes. Made to Order
Mounting&———— “n” pcs. Refer to page 213 for details.

B Basic .

L Foot Bore size itch

F | Rodflange 25 125 mm [ Nil_[ Without auto switch |

G Head flange 140} 140 mm + For applicable auto switches,

C | Single clevis 160| 160 mm refer to the table below.

D Double clevis ) i

T | Center trunnion Port thread type Suffix for cylinder

Nil Rc J Nylon tarpaulin
R
TN NPT —— K Heat resistant tarpaulin

Built-in Magnet Cylinder Model TF | & A__| With double-side cushion
If a built-in magnet cylinder without an With/without | R With rod cushion
auto switch is required, there is no need Cylinder stroke (mm) cushion H With head cushion
to enter the symbol for the auto switch. Refer to “Maximum Strokes” Nil Without cushion
(Example) CDS2YL125-200 on page 213. = When more than one symbol is specified, indicate

them in alphabetical order.

Applicable Auto Switches/Refer to pages 941 to 1067 for further information on auto switches.

Eleatrical Wiri Load voltage Auto switch model | Lead wire length (m) Pro-wired
" q ectrical iring N re-wire .
Type Special function Tie-rod Band 05 [1]3]5 Applicable load
entry 2 (Output e e mounting | mounting | (Nil) [(M)] (L) |(2) e
3-wire (NPN) M9N — ® (/O] O .
Grommet | [3wire PNp)| 24v PV Y] [ mep — e |e @0 o |Comi
5 —_— 2-wire 12V M9B = ® (@ & O [¢) —
-§ Terminal 3-wire (NPN) 5V,12V — G39 — |—|—]= — |IC circuit
) conduit 2-wire 12V = K39 — |=l=1=] = —
[} -
< : . 3-wire (NPN) MINW = [ ] ® ® | O [¢] .
s D'(";gc";z‘r‘cm'g“i‘:g‘r‘;" Ves| 3-wire (PNP) sviev MOPW | — e Jele[0] o |com Roy.
® 2-wil 12V — —
@ s-wirew (I:\TPN) 24v - %%BIZ' — ; ; : 8 g
3z Wat istant Gi t - 5V, 12V ” IC circuit
Sl 2 oclor indioston 1ommet | [gwire (PNP) MOPA*T | — o [o|efo] o |-
@ 2-wire 12V M9BA*! = o |O|®|O| O —
Diagnosfic indication (2-color indicator) 4-wire (NPN) 5V,12V F59F = [ ] —| @O [e] IC circuit
Magnetic field resistant (2-color indicator) 2-wire (Non-polar) — P3DWA — e |—| o0 ) —
v Suite (NPN equivden) | — 5V — A96 — e |—|e — |ICcircuit| —
5 L 12V | 100V A93 = o (0|0 —
= Grommet |No| 5V,12V|100Vorless| A90 = e —|o — |ICircuit| Relay,
3 Yes| 100v,200V| A54 = [ ] —1 e @ — PLC
° eS|
5 N; i 24V 200Vorless|  A64 = e —| o —
g Terminal wire v [ — = A3 | — |—|—|—| — | [Pc
e conduit = A34 — === =
o
(3 DIN terminal ves 100V, 200V — Ad4 PR I — R:i%/,
Diagnostic indication (2-color indicator) | Grommet — — A59W — e |—|e —

=1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.
= Lead wire length symbols: 0.5 m Nil (Example) MONW 3m L (Example) MONWL
im M (Example) MONWM 5m Z (Example) MONWZ
= Solid state auto switches marked with “O” are produced upon receipt of order.
= Since there are other applicable auto switches than listed, refer to page 224 for details.
= For details about auto switches with pre-wired connector, refer to pages 1014 and 1015.
# The D-A9CJ/M9ILI/MITIW/MILIA/P3DWAL auto switches are shipped together, (but not assembled). (However, only the auto switch mounting brackets are assembled before shipment.)

212

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com




Designed with a low sliding

resistance of the piston, this

air cylinder is ideal for applica-

tions such as contact pressure

control, which requires smooth

movements at low pressure.

Low sliding resistance
Min. operating pressure — 0.005 MPa

Auto switch mounting
is possible.

Symbol
Double acting/Without cushion

=

t0
Mgﬁer Made to Order

Click here for details

Symbol Specifications
-XAO |Change of rod end shape
-XC3

Special port position

Smooth Cylinder CSZY Series

Application Example

Low friction cylinder is used in combination with precision regulator (IR series).

Driving roller Winding roller

£

)
m
=

Precision regulator

Precision regulator

=)
m
(-}

1

(Moving object)

= |5 -]
= m
o | o

Adjustable stroke cylinder/Adjustable

XC9 | etraction type

-XC10 | Dual stroke cylinder/Double rod type
-XC14 | Change of trunnion bracket mounting position
-XC15 | Change of tie-rod length

-XC26 With split pins for double clevis pin/double
knuckle joint pin and flat washers

Double clevis and double knuckle pins
-Xc27 made of stainless steel

-XC30 | Rod side trunnion

Made of stainless steel
-XC68 (with hard chrome plated piston rod)

-XC86 | With rod end bracket

Refer to pages 222 to 224 for cylinders with auto
switches.

*Auto switch proper mounting position (detection
at stroke end) and its mounting height

* Minimum stroke for auto switch mounting

* Operating range

* Auto switch mounting brackets/Part no.

Specifications
—————
Bore size (mm) 125 140 160
Action Double acting, Single rod RZQ
Direction of low friction Both directions
Fluid Air
Proof pressure 1.05 MPa
operating pressure 0.7 MPa
. . Without auto switch: 0°C to 70°C .
Ambient and fluid temperature With auto switch: 0°C to 60°C (No freezing)
Al Less than 0.5 L/min (ANR)
Cushion Without cushion* (manufacturable with cushion)
Lubrication Not required (Non-lube)
Mountin Basic, Foot, Rod flange, Head flange,
9 Single clevis, Double clevis, Center trunnion
= If an air cushion is not used, set the energy at the stroke end to 0.36 J or less.
Minimum Operating Pressure
Unit: MPa
\ Bore size (mm) [ 125 [ 140 160
‘ Minimum operating pressure ‘ 0.005 MPa* ‘
= |f a cushion is used, this value will not include the operating pressure within the cushion stroke.
Maximum Strokes
(mm)
Tube material Aluminum alloy Carbon steel tube
Mounting .
st Sin I?:g:g/geg%ﬂs&g;,ews E o Ccadliandc] Foot.
9 Centell AR * | Single clevis, Double clevis, Rod flar‘1 B
Bore size Rod fl Center trunnion 9
(mm) od flange
125 1000 or less 1000 or less 1600 or less
140 1000 or less 1000 or less 1600 or less
160 1200 or less 1200 or less 1600 or less
Accessories/ror details, refer to page 221.
q A Rod | Head | Single | Double | Center
Llotutig 2= ch(ccs flange | flange | clevis | clevis |trunnion|
Standard | Clevis pin — — — — — [ ] —
Rod end nut [ ] (] (] [ [ J [ J [ J
Single knuckle joint [ [ J [ J [ ] [ ] [ ] [
Option | Double knuckle joint D-J
(with knuckle pin, spitpi)| @ | ® | ® | ® | € | @ | @
Rod boot [ ] [ ] [ ] [ ] [ ] [ ] [ ] -X
213 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com


http://www.smcworld.com/products/en/custom.do

CS2Y series

Mounting Brackets/Part No. Rod Boot Material
Bore size (mm) 125 140 160 Symbol Material Max. ambient temperature
Foot* Ccs2-L12 CS2-114 CS2-116 J Nylon tarpaulin 70°C
Fllange : CS2-F12 CS2-F14 CS2-F16 K | Heat resistant tarpaulin 110°C*
Single clevis C52-C12 CS2-C14 C82-C16 # Maximum ambient temperature for the rod boot itself.
Double clevis** CS2-D12 CS2-D14 CS2-D16

# Order two foot brackets per cylinder.
When ordering the double clevis type, the clevis pin and 2 split pins are included as accessories.

Weights
——
(kg)
Bore size (mm) 125 140 160
Basic 5.46 6.50 9.07
Foot 7.49 9.50 12.45
Rod flange 8.51 12.03 15.80
Basic
" Head flange 8.51 12.03 15.80
weight
Single clevis 8.53 10.79 14.56
Double clevis 8.99 11.54 15.41
Trunnion 9.59 12.23 15.47
Additional weight with magnet
(With built-in magnet and auto switch) 007 0.07 0.08
Additional weight per 100 mm of stroke 1.55 1.67 2.23
Single knuckle 0.91 1.16 1.56
.| Double knuckle (With
Accessories Knuckle pin, Split pin) 1.37 1.81 2.48
Rod end nut 0.16 0.16 0.23
Calculation: (Example) CS2Y160-500
® Basic weight. - wevevnns 12.45 (kg)

* Additional weight 23 (kg/100 mm)
® Cylinder stroke- 500 (mm)
12.45 + 2.23 x 500/100 = 23.60 kg

Sliding Resistance

- 0125
2140

4 %//meo

0.010

0.005

Sliding resistance (MPa)
(Converted into cylinder operating pressure)
11

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7
Pressure (MPa)

214

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Smooth Cylinder CSZY Series

Relationship between Cylinder Size and Maximum Stroke

The below table shows the applicable maximum stroke (in cm units), found by calculation assuming
the case where the force generated by the cylinder itself acts as buckling force on the piston rod, or

piston rod and cylinder tube.

Therefore, it is possible to find the applicable maximum stroke for each cylinder size using the
relationship between the size of the operating pressure and the cylinder support type, regardless of

the load ratio.

[Reference] If it is stopped with the external stopper on the cylinder extension side, even with a light
load, the maximum generated force of the cylinder will act on the cylinder itself.

|| N
m|m
™| =

= |5 -]
= m
o\ o

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

(cm)
Mounting e Applicable maximum stroke according to buckling strength (cm)
Support bracket nominal symbol Nominal (MPa) 5 am -
and schematic diagram symbol
FootL | Fodfenger | Head flange: 03 103 92 113 RHC
E_m L, F 0.5 79 70 86 RZQ
“. 0.7 66 58 72
0.3 45 38 47
@ G 0.5 33 27 34
0.7 26 22 27
Clevis: C, D Centenieion: 03 96 83 106
C,D 0.5 71 61 76
0.7 59 50 62
:' 0.3 135 119 147
T 0.5 101 89 111
0.7 84 74 91
Rod flange: | Head flange: 0.3 301 267 330
F G
L, F 0.5 231 207 253
0.7 193 172 212
0.3 144 126 156
G 0.5 109 94 118
0.7 90 78 97
0.3 433 386 476
L, F 0.5 334 297 367
0.7 281 250 309
0.3 210 185 229
G 0.5 160 141 175
0.7 134 117 129
D-
-Xtd
215



CS2Y series

Construction

Component Parts

Replacement Parts/Seal Kit

No. Description Material Note Bore size (mm) Kit no. Contents
1 | Rod cover Aluminum die-cast Chromated 125 CS2Y125A-PS . .
2 | Head cover Aluminum die-cast Chromated 140 Csav1ao0a-pg | Without cushion
Consists of (8, @, 20
3 | Cylinder tube Aluminum alloy Hard anodized 160 CS2Y160A-PS
4 | Piston Aluminum alloy Chromated 125 CS2Y125AA-PS
5 | Piston rod Carbon steel Hard chrome plating = With single-side cushion
6 | Bushi — " 140 CS2Y140AA-PS Consists of (8, 17 (two), 18, @
ushing O sintered alloy 160 CS2Y160AA-PS
7 | Tie-rod Carb teel Zi hi ted
!e ro arbon steel |n.c c romé e 125 CS2Y125ARPS
8 | Tie-rod nut Rolled steel Nickel plating With single-side cushion
9 | Cushion rin Stainless steel 140 CS2Y140AR-PS | (3 ists of @), (2 (one), 18, 20
, 12 , 18, @
- 9 " " 160 CS2Y160AR-PS
10 | Cushion valve Rolled steel Nickel plating - -
- " " = Seal kit does not include a grease pack.
11 | Piston nut Carbon steel Nickel plating When only the grease is necessary, use the following part numbers to
12 | Flat washer Carbon steel Nickel plating order.
" - Grease pack part number: GR-L-005 (5 g), GR-S-010 (10 g),
13 | Wear rlr.lg Resin GR-L-150 (150 g)
14 | Magnet™ —
15 | F ining ring Spring steel Phosphate treatment
16 | Rod seal NBR
17 | Cushion seal** Urethane
18 | Piston seal NBR
19 | Valve seal NBR
20 | Tube gasket NBR
21 | Piston gasket NBR

* For types with built-in magnet or with auto switch

«# Used with cushion only

216

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Dimensions

Basic: CS2YB
With rod boot

Smooth Cylinder CSZY Series

Port
Width across flats KA ) G \TA
2xP 4xd Cushion valve
MM (R, NPT, G) N
— S
=S == t
NN T
wiaf = o
—H A
AL = — T T
A | |.F [N
e K- LN, oc
ZZ+ Stok H S + Stroke M, OB
1+ ¢+ Stroke ZZ + Stroke
(mm)
B‘z:ﬁ ms')ze A | AL | OB | OC| D E F G J v w K | KA | ™ MM
125 50 47 143 115 32 71 43 15 M14x 1.5 15 17 15 27 27 M30x 1.5
140 50 47 157 128 32 71 43 15 M14x 1.5 15 17 15 27 27 M30x 1.5
160 56 53 177 144 38 78.5 42 18 M16x 1.5 15 20 17 34 30.5 M36 x 1.5
(mm)
Bore size N P s Without rod boot With rod boot
(mm) H zz e f h ¢ Zz1
125 30.5 1/2 98 110 | 235 75 40 133 1/5 Stroke 258
140 30.5 1/2 98 110 | 235 75 40 133 1/5 Stroke 258
160 34.5 3/4 106 120 | 256.5 75 40 141 1/5 Stroke 277.5
* The minimum stroke with rod boot is 30 mm or more.
= For auto switch mounting position and its mounting height, refer to page 222.
Refer to “Minimum Stroke for Auto Switch Mounting” on page 223.
Foot: CS2YL
With rod boot H S + Stroke
K
Width across flats KA A F |G G Port wv
AL 2xP__ 4xd Cushion valve
MM -\ -+ (Re, NPT, G) —
T L] =
=5 == i
|| N N
R b g4 <] e of
veats | TS
1o e B/ e || ©
- + |-
ot AL x N N X Y x|
h+¢ LS + Stroke oc
ZZ1 + ¢ + Stroke ZZ + Stroke B
(mm)
B‘z:ﬁms')ze A | AL |DOB| B |DOC| D | E F | G J V| W /| K |K\|LD|LH|LS
125 50 47 143 143 115 32 71 43 15 M14x1.5 15 17 15 27 19 85 188
140 50 47 157 157 128 32 71 43 15 M14x 1.5 15 17 15 27 19 100 | 188
160 56 53 177 177 144 38 78.5 42 18 M16x 1.5 15 20 17 34 19 106 | 206
(mm)
Bore size Without rod boot With rod boot
LT LX LY MM N P S X Y
(mm) H 2z e f h ¢ Zz1
125 8 100 | 156.5| M30x1.5 30.5 1/2 98 45 20 110 273 75 40 133 1/5 Stroke 296
140 9 112 | 1785| M30x 1.5 30.5 1/2 98 45 30 110 283 75 40 133 1/5 Stroke 306
160 9 118 | 1945| M36x1.5 34.5 3/4 106 50 25 120 301 75 40 141 1/5 Stroke 322
he minimum stroke with rod boot is 30 mm or more.
For auto switch mounting position and its mounting height, refer to page 222.
Refer to “Minimum Stroke for Auto Switch Mounting” on page 223.
217

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

)
m
=

=)
m
(=~}

= |5 -]
= m
o | o

=
X
(]

=)
N
o



CS2Y series

Dimensions
—
Rod flange: CS2YF
Port
With rod boot
Width across flats KA P G 4xd AL AL
2x 4xoFD Cushion valve
MM (Re, NPT, G) X —
P ==k S
Lt = b i Q}
\ 1
j w gl o of oZ
‘ &
J:\ | T T
oc
LY N OB
ZZ1 + ¢ + Stroke S + Stroke M FX
ZZ + Stroke FZ
(mm)
B"(;:r:i)ze A | A | DB | B |DOC| D | E F | | FT | X | FY | FZ | & J v
125 50 47 143 145 115 32 71 43 19 14 190 100 230 15 M14x 1.5 15
140 50 47 157 160 128 32 71 43 19 20 212 112 255 15 M14x 1.5 15
160 56 53 177 180 144 38 78.5 42 19 20 236 118 275 18 M16x 1.5 15
(mm)
Bore size Without rod boot With rod boot
w K KA M MM N P S
(mm) H zz e f h ¢ f23)
125 17 15 27 13 M30x 1.5 30.5 1/2 98 110 221 75 40 133 1/5 Stroke 244
140 17 15 27 13 M30x 1.5 30.5 1/2 98 110 221 75 40 133 1/5 Stroke 244
160 20 17 34 15 M36 x 1.5 34.5 3/4 106 120 241 75 40 141 1/5 Stroke 262
* The minimum stroke with rod boot is 30 mm or more.
For auto switch mounting position and its mounting height, refer to page 222.
Refer to “Minimum Stroke for Auto Switch Mounting” on page 223.
Head flange: CS2YG
. Port
With rod boot G G
Width across flats KA — S 4xd
2xP
MM (Re, NPT, G) 4xoFD
= it i ¥
NN\
2 JHrery 4 el o ot o
I_F o
Il AL - ol o ¢
¢ | f A | I.LF N
hee R ac
;Z H S + Stroke 0B
1+ ¢ + Stroke 27 + Stroke FX
FZ
(mm)
B‘z:ﬁms')ze A | AL OB | B | OC | D E F | FD | FT | FX | FY | FZ | G J v
125 50 47 143 145 115 32 71 43 19 14 190 100 230 15 M14x 1.5 15
140 50 47 157 160 128 32 71 43 19 20 212 112 255 15 M14x 1.5 15
160 56 53 177 180 144 38 78.5 42 19 20 236 118 275 18 M16x 1.5 15
(mm)
Bore size Without rod boot With rod boot
w K KA MM N P S
(mm) H zz e f h ¢ Zz1
125 17 15 27 M30x 1.5 30.5 12 98 110 222 75 40 133 1/5 Stroke 245
140 17 15 27 M30x 1.5 30.5 1/2 98 110 228 75 40 133 1/5 Stroke 251
160 20 17 34 M36 x 1.5 34.5 3/4 106 120 246 75 40 141 1/5 Stroke 267

* The minimum stroke with rod boot is 30 mm or more.
= For auto switch mounting position and its mounting height, refer to page 222.
s Refer to “Minimum Stroke for Auto Switch Mounting” on page 223.

218

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Dimensions
—

Single clevis: CS2YC

With rod boot

Smooth Cylinder CSZY Series

Width across flats KA G Port A"
- 2xP oCDH10  4xJ Cushion valve
(Re, NPT, G) —
s H 1
SE : B
m NN
m] ué %I © © l’ ‘l
=E —E O <
LAL | v
he A N N|_JcT 12,4
Z1 + ¢ + Stroke Las oc
ZZ1 + ¢ + Stroke H S + Stroke L ocB
Z + Stroke RR
ZZ + Stroke
Double clevis: CS2YD
With rod boot
Width across flats KA .G G_ Port wv
MM 2xP____ oCDhole Ho &% J Cushion valve
(Rc, NPT, G) —
S IR !
= {2}
\ o B R I
2]
0| %I © A
_:: & 88
AL L]
hs+e A N N | cT X
Z1 + ¢ + Stroke L cz
ZZ1 + ¢ + Stroke H S + Stroke L oc
Z + Stroke RR ocB
ZZ + Stroke
(mm)
Boresize | o | Ao | og | ;o | OCB | CDwio | cr | M9eCEis| Doubledevis | E F G J v w
(mm) (2 cX cz
125 50 47 | 143 | 115 | 145 | 25%° | 17 | 3233 | 3233 | 645, | 32 | 71 43 15 M14x1.5 15 17
140 50 47 157 | 128 | 160 | 287%* 17 36355 | 3617 7235, 32 4 43 15 M14x 1.5 15 17
160 56 53 177 | 144 | 180 | 32%'™ | 20 4035 | 40383 8032 38 78.5 42 18 M16x 1.5 15 20
(mm)
Bore size Without rod boot With rod boot
K KA L MM N P S U RR
(mm) H z zz e f h ¢ Z1 | Zza
125 15 27 65 |M30x1.5| 30.5 | 1/2 98 35 29 110 | 273 | 302 75 40 133 |1/5 Stroke| 296 | 325
140 15 27 75 |M30x1.5| 30.5 | 1/2 98 40 32 110 | 283 | 315 75 40 133 |1/5 Stroke| 306 | 338
160 17 34 80 |M36x1.5| 345 | 3/4 106 45 36 120 | 306 | 342 75 40 141 |1/5 Stroke| 327 | 363
he minimum stroke with rod boot is 30 mm or more.
For auto switch mounting position and its mounting height, refer to page 222.
Refer to “Minimum Stroke for Auto Switch Mounting” on page 223.
219

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

|| N
m|m
™| =

= |5 -]
= m
o\ o

D (| =
N ([ X
oo



CS2Y series

Dimensions
—

Center trunnion: CS2YT

With rod boot

Z + 1/2 x Stroke

Width across flats KA G P G Port WV
I 2x NS 4xd [T Cushion valve
Z1 + ¢+ 1/2 x Stroke M W
5 \ @: i i F i t g
< E
|| NN\ BN s
ol | : o w I o T PN >
5] ¥ = O ’ f < -
£ T
[ = H [ |
AL
e t
hee A F_IN LT | LN oc
ZZ1 + ¢ + Stroke - 0B
H S + Stroke M TX
ZZ + Stroke TZ
(mm)
B"(;:r:i)ze A | AL | OB | DCc| D E F G J V| w /| K|[KA| M MM N
125 50 | 47 | 143 | 115 | 32 | 71 43 15 M14 x 1.5 15 17 15 | 27 13 M30 x 1.5 30.5
140 50 | 47 | 157 | 128 | 32 | 71 43 15 M14 x 1.5 15 17 15 | 27 13 M30 x 1.5 30.5
160 56 | 53 | 177 | 144 | 38 | 785 | 42 18 M16 x 1.5 15 | 20 17 | 34 15 M36 x 1.5 34.5
(mm)
Bore size Without rod boot With rod boot
P R s TD TT | TX | TY | 12
(mm) °® H|z [zz] e [ h ¢ zZ1 | zzi
125 12 | 1 98 | 32%% | 50 | 170 | 164 | 234 | 110 | 159 | 221 | 75 40 | 183 1/5 Stroke 182 | 244
140 12 | 15 98 | 363% | 55 | 190 | 184 | 262 | 110 | 159 | 221 | 75 | 40 | 133 1/5 Stroke 182 | 244
160 3/4 | 1.5 | 106 | 40388 | 60 | 212 | 204 | 292 | 120 | 173 | 241 | 75 | 40 | 141 1/5 Stroke 194 | 262

220

# The minimum stroke with rod boot is 30 mm or more for 8125, 140 and 35 mm or more for 8160.
#x For auto switch mounting position and its mounting height, refer to page 222.
Refer to “Minimum Stroke for Auto Switch Mounting” on page 223.

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



CS2Y series

Dimensions of Accessories

| Type Single Knuckle Joint*

A2
oND#io MM _ | At

o T

L1

Material: Cast iron

Knuckle Pin/Clevis Pin

9Ddg’

Material: Carbon steel

)
m
=

REB
(mm) (mm)
) ool
3 \pplicable Applicable d  |Applicable
Part no.| boresize| A1 | Az | E1 | L1 MM NDn10 NX  (RRi| Us Part no. | bore size Das Lo ke fm ol st o
(m) (mm) 7 ten ) ow
1-12A| 125 | 8 |54 |46 |100|M30x 1.5| 25°0% | 327) |27|33 IY-12| 125 | 2533% |795/695| 5 | 4 |o4x40 [Speed
I-14A| 140 | 8 |54 |48|105|M30x 1.5| 285% | 3631 |30|39 IY-14| 140 | 283%% [865/765| 5 | 4 |04 x40 MQ
I-16A| 160 | 8 |60 |55 |110/M36x 1.5| 32°3" 40733 34|39 1Y-16| 160 | 325% |945(845| 5 | 4 |04x40
+ Split pins are included.
RHC
Y Type Double Knuckle Joint* Rod End Nut Rza
oNDhole H10 MM Al
Shaft 49 f m 4 d
T_/— ] o 9
Y g; ‘8
= H 8
u Material: Cast iron
L (mm) Material: Rolled steel
Applicable|
Partno.| boresize| A1 | E1 | La | MM NDH10 NX NZ |RRi| Ut - (mm)
(m) Part no ﬁl\)%;:gcgsf d H B C D
Y-12A| 125 | 8 [46[100|M30x 1.5] 25°¢™ | 32333 | 643} |27 |42 | (om)
Y-14A| 140 | 8 |48 [105(M30x 1.5| 28°5°* | 36107 | 72355 |30 |47 NT-12 | 125,140 (M30x 1.5| 18 | 46 |53.1| 44
Y-16A| 160 | 8 |55 [110(M36x1.5| 32°¢" | 40157 | 80353 |34 |46 NT-16 | 160 |[M36x 1.5/ 21 | 55 [63.5| 53
# Use a single knuckle joint or a double knuckle joint individually.
(Screw it entirely over the rod end threads and tighten it.)
« Extend the dimensions of A, H. when using a single/double knuckle joint together with a rod end nut.
(To extend dimensions A, H, refer to the below table, and specify the product as made-to-order -XAO0.)
* A pin and split pins are included with the double knuckled joint.
@ “Made to Order” with rod end bracket (-XC86) is available when ordering cylinders and
accessories together. Refer to page 1221 for details.
Single/Double Knuckle Joint
—
H
A a
\_t T
1
@« o
K I J
—H
L = =
1
H:
A, H Dimensions when Mounting a
(mm) Single/Double Knuckle Joint together
Symbol Applicable knuckle joint part number with a Rod End Nut (mm)
Bore H A o L1 H: s =
size (mm) I type single knuckle | Y type double knuckle Bore size (mm) A H
125 110 50 3.5 100 | 156.5 I-12A Y-12A 125 65 125 D'D
140 110 50 3.5 105 161.5 I-14A Y-14A 140 65 125
160 120 56 3.5 110 170.5 I-16A Y-16A 160 76 140 'XI:l
221

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



CS2Y series

Auto Switch Mounting

Auto Switch Proper Mounting_; Position (Detection at stroke end) and Its Mounting Height

<Band mounting>

D-A30
D-G3/K3
<Applicab\e cable O,D>
A 49 G1/2\26.8 t0 ©9.6 _
2 N

Y

& &
; 5
36 e
Auto switch
D-A44 (Applicable cable 0.D>
G1/2\06.8 t0 09.6
A__ 345
1 e

a, é% am
§
}

=
==

~Hs
RE=E @/;
[= (=} F’Q‘
wdet 3

<Tie-rod mounting>

D-M9oCI/M9CIV D-Z701/280
D-M9CIW/M9TIWV D-Y5901/Y69/Y7P/Y7PV
D-M9CIA/M9IAV D-Y7OW/Y7OWV
D-A9C1/A901V D-Y7BA
A Auto switch =Hs
B == £ ﬁ
'
s

D-A501/A60]
A_33 Auto switch =Hs
S H =
T [ 3
B ————
Is

Auto switch « The indicator light faces
the inside.
D-F500/J59/D-FSNT D-P3DWA
D-F5BA/F59F
D-F500W/J59W
A, 30 Auto switch ~Hs A Auto switch =Hs_
e o L H
Eg i 1T - oo -
Jl&ms L T Jﬂg:. I
H u
T T ° A4
L %& | @
=S
*H.E LB
Auto Switch Proper Mounting Position (mm)
Auto switch| D9 D-Z701/Z80 | D-A50 D-F50W
model| p.M9CIV D-Y50/Y60 | D-A60 D-J59W
D-M9CIW D-A90] D-Y7P/Y7PV| D-A30J D-F5BA
D-MOOWV | D-A90V |D-Y7OW D-Asa | D-ASSW | ppsp DR | B
D-M9CIA D-Y7OWV D-G39 D-J59
D-MSCJAV D-Y7BA D-K39 D-F59F
Bore size A B A B A B A B A B A B A B A B
125 13 12 9 8 6.5 5.5 3 2 7 6 9.5 8.5 145 | 135 | 85 7.5
140 13 12 9 8 6.5 5.5 3 2 7 6 9.5 85 | 145 | 185 | 85 7.5
160 13 12 9 8 6.5 5.5 3 2 7 6 9.5 85 | 145 | 135 | 85 7.5
+ Provided as guidelines for auto switch proper mounting position (detection at stroke end).
Adjust the auto switch after confirming the operating condition in the actual setting.
Auto Switch Mounting Height (mm)
Auto switch D-Z701/Z80 D-F50]
model| D-M9CI D-Y501/Y6O D-J59
D-M9COW | D-M9OIV  |D-Y7P D-A30 D-A50 D-F500W
D-M9CJA | D-M9OOWV |D-Y7PV D-G39 D-A44 D-A60] D-J59W D-P3DWA
D-A90] D-M9CJAV |D-Y7OW D-K39 D-A59W D-FSBA
D-A9CV D-Y7OWV D-F59F
D-Y7BA D-F5NT
Bore size Hs Ht Hs Ht Hs Ht Hs Hs Hs Ht Hs Ht Hs Ht
125 69 69.5 | 71.5 | 69.5 69 69.5 116 126 75.5 | 69.5 | 745 | 70 76 69.5
140 76 76 775 | 76 76 76 124 134 81 76.5 | 80 76.5 82 76
160 85 85 86 85 85 85 134.5 144.5 89 87.5 | 88 87.5 91 85
222

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Auto Switch Mounting CSZY Series

Minimum Stroke for Auto Switch Mounting

n: Number of auto switches (mm)

Auto switch NS 6 e SiEES Mounting brackets other Center trunnion
model than center trunnion 2125 2140 2160
With 2 pes. (Different surfaces,
D-M9C] Same surface), With 1 pc. 5 105 1o 15
D-M9CIW With 1 pes. 15+ 40072 105 + 40 14 110+ 40 04 115+ 40 074 REA
(n=2,4,6,8-)Nt) | (n=4,8, 12, 16- )NmeZJ (n=4,8,12,16- )No'ezb (n=4,8,12, 16...) Note 2)
With 2 pes. (Different surfaces, REB
Same surface), With 1 pc. 10 80 85 90
D-M9CIV >
D-MOCIWV With n pes 10+30 052 80+30 4 85+30 "4 90+30 5% REC
(n=2,4,6,8- )No'en (n=4,8,12,16-)Note2) | (n=4, 8,12,15 JNote2) | (n=4, 8,12,16 ) Note 2)
With 2 pes. (Different surfaces, m
Same surface), With 1 pc. 20 15 120
SRR . 20+40 052 115 +40 54 120+ 40 5% Low
With n pcs. 2 2 Speed
(n=2,4,6,8-)Nte) | (n=4,8, 12, 16- )NmeZJ (n=4,8,12, 16 Note2)
With 2 pes. (Different surfaces,
D.MSEIAY Same surface), With 1 pc. 15 90 95 MQ
H (n-2) (n-4) (n-4)
With n pes. 15+30 05 90 +30 5 95 +30 5 RHC
(N=2,4,6,8-)Note!) | (n=4,8, 12, 16...)Note2) (n=4,8,12, 16 Note2)
With 2 pes. (Different surfaces,
Same surface), With 1 pc. 15 100 105 110 ‘RZQ
¥ With n pes 15+40 072 100 + 40 14 105 + 40 124 110+ 40074
(n=2,4,6,8- )Nv'eﬂ (n=4,8,12,16-)Note2) | (n=4,8, 12, 16- )No'ezb (n=4,8, 12, 16-) Note2)
With 2 pes. (Different surfaces,
D-ASCIV Same surface), With 1 pc. 10 75 80 85
ol (n-2) (n-4) (n-4) (n-4)
With n pes. 10 +30 05~ 75+30 5 80 +30 "5 85+30"5
(N=2,4,6,8- )Nt | (n1=4,812,16-)N©2 | (n=4,8,12, 16--)N9€2) | (n=4,8, 12, 16..)Note2)
D-A5LV/A6C] | i
SV With 2 pes. (Dlﬂerenf surfaces, 25 125 135
D-F5(1/J59 Same surface), With 1 pc.
F500W Z —
D-J59W With n pos. 25+ 55052 125+ 55 050 135+ 55 028
e (Same surface) (n=2,4,6,8-)NC1) | (n=4,8, 12, 16- )Nole 2) (n=4,8,12, 16.-) Note2)
With 2 pes. (Different surfaces,
DA Same surface), With 1 pc. 35 145 155
H8 With n pos. 35+55072 145 4 55 054 155455 154
(Same surface) (n=2,4,6,8-)Note1) (n=4,8,12, 16 )Nole 2) (n=4,8,12, 16--) Note 2)
£ ¢| Different surfaces 35 110
S| Same surface 100
D-A30] 21 0o _ 110+ 30 (n-2)
D-G39 g Different surfaces 35+30(n-2) (=2, 4,6, 8.) Note 1)
DR g Same surface 100 + 100 (n - 2) " 1=1g 2,12,08(2)7”3‘)8 B
With 1 pc. 15 110
< 4| Different surfaces 35 110
23| Same surface 55
al 110 +30 (- 2)
o -
D-Ad44 g Different surfaces 35+30(n-2) (n=2, 4,6, 8--) Note 1)
£ 110+ 50 (n -2
S Same surface 55+55(n-2) (=246 é) No)(s 1
With 1 pc. 15 110
D-Z7(] With 2 pes. (Different surfaces,
D-ZBOD Same surface), With 1 pc. 5 105 1o 15
D-Y59 (n-2) (n-4) 4) (n-4) (n-4)
D-Y7P With n pes. 15+40 105 + 40 110+40—— 115+40——
D-Y7OOW (n=2,4,6,8- )Nt | (n=4,8, 12, 16- )Nmez) (n=4,8,12,16--)Note2) | (n=4,8, 12, 16...)Note2)
With 2 pes. (Different surfaces,
D-Y69[] Same surface), With 1 pe. 10 %0 95 100
D-Y7PV (n-2) (n-4) (n-4) (n-4)
D-Y7ZOOWV With n pes. 10+30 90 + 305 95+30—5 100 +30°—
(N=2,4,6,8-)Nte!) | (n=4,812,16--)Ne2 | (n=4,8,12, 16--)Noe2) | (n=4,8, 12, 16..)Note2)
With 2 pes. (Different surfaces,
Same surface), With 1 pc. 20 15 120 125
AL With 1 pes 20445052 115+ 45029 120+ 45 024 125 + 45 0749
(N=2,4,6,8-)Nte) | (n=4,8, 12, 16- )No'ez) (n=4,8,12,16- )No'ezb (n=4,8,12, 16...) Note 2)
With 2 pes. (Different surfaces,
PR Same surface), With 1 pc. 20 105 110 15
H (n-2) (n-4) 4) n-4) 4)
With n pes. 20 + 50 105 + 50 110 + 50 D.D
(N=2,4,6,8-)Nte) | (n=4,8, 12, 16- )NmeZJ (n=4,8,12,16- )No'ezb (n=4,8,12, 16..) Note 2)
Note 1) When “n” is an odd number, an even number that is one larger than this odd number is used for the calculation. _X|:|

Note 2) When “n” is an odd number, a multiple of 4 that is larger than this odd number is used for the calculation.

223

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



CS2Y series

Operating Range

Auto Switch Mounting Brackets/Part No.

(mm)
Aut itch model Bore size A itch model Bore size (mm)
dloswiich mede! 425 [ 140 | 160 o switeh mode 2125 2140 0160

D-M9L/M9CIV D-M9OCI/MILIV
D-MOIW/MOCIWV 6 65 | 65 D-MOCIW/MOCIWV . . .
D-MOTIAMOTIAY D-MOTIA/MOTIAV BS5-125 BS5-125 BS5-160
D-A9L/A9LIV 12 | 125 | 115 g::gﬁzgv
D-Z7(/Z80 14 | 145 | 13 D-A5OW
D-A3[/A44 D-F501/J59
D-ASCVAGL] 10 | 10 10 D-F5NT BT-12 BT-12 BT-16

- D-F5]W/J59W
D-A59W 17 17 17 D-F3BA/F59F
D-Y59L1/Y69[]
D-Y7P/Y7PV P . g:eg‘g/'?;: BS1-125 BS1-140 BS1-160
D-Y7OW/Y7OOWV
D-Y7BA D-Z701/Z80

D-Y59C1/Y69]

D-F5C1/J59/F5C1W D-Y7P/Y7PV BS4-125 BS4-125 BS4-160
D-J59W/F5BA 5 5 55 D-Y7OW/Y7OOWV
D-F5NT/F59F D-Y7BA
D-G39/K39 IR 10 D-P3DWA BS7-125S BS7-125S BS7-160S
D-P3DWA 7 7 7 [Stainl; Steel Mounting Screw]

# Values which include hystel
purposes only, they are not

resis are for guideline
a guarantee

(assuming approximately +30% dispersion) and

may change substantially d
ambient environment.

lepending on the

The following stainless steel mounting screw kit (including set screws) is available. Use it in
accordance with the operating environment. (Since the auto switch mounting bracket is not

included, order it separately.)
BBA1: For D-A5/A6/F5/J5 types

The above stainless steel screws are used when a cylinder is shipped with the D-F5BA auto
switch. When only the auto switch is shipped independently, the BBA1 is attached.
Note) When using the D-M9CJA/MICIAV or Y7BA, do not use the steel set screws which are
included with the auto switch mounting brackets above (BS5-000, BS4-000). Order a
stainless steel screw kit (BBA1) separately, and use the M4 x 8L stainless steel set screws

included in the BBA1.

224

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

+ With pre-wired connector is also available for solid state auto switches. For details, refer to pages 1014 and 1015.
+ Normally closed (NC = b contact) solid state auto switches (D-FOG/F9H/Y7G/Y7H) are also available. For details, refer to pages 959 and 961.

1
1
1 :
1 Type Model Electrical entry Features
D-A90V . Without indicator light
1
. D-A93V/A96V Grommet (Perpendicular)
D-Z73/Z76 —
1
. Reed D-A53/A56 '
DAG7 Grommet (In-line)
: D280 Without indicator light
1 D-F59/F5P/J59 _
1 D-Y59A/Y59B/Y7P
1 D-F59W/F5PW/J59W ;" g -
. D-Y7NW/Y7PW/Y7BW Grommet (In-line) 2-color indicator
1 D-F5BA/Y7BA Water resistant (2-color indicator)
1 Solid state D-F5NT With timer
1 D-M9NV/M9PV/M9BV _
1 D-Y69A/Y69B/Y7PV
1 D-M9NWV/MIPWV/MIBWV Grommet (Perpendicular) 2-color indicator
1 D-YZNWV/Y7PWV/Y7BWV
1 D-M9NAV/M9PAV/M9BAV Water resistant (2-color indicator)
1
1
=

Note) Refer to page 1055. for details on the BBA1.

= The figure shows the mounting example for the
D-A9LI(V)/MOLI(V)/MITIW(V)/MITIA(V) types.

Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable.
Refer to pages 941 to 1067 for the detailed specifications.



B casy(B|
With auto switch) c%osv

Smooth Cylinder

CQSY series

212, 916, 520, 325

With auto switch
(Built-in magnet)

How to Order

3
20/-130,D

Mounting
B | Through-hole/Both ends tapped
L Foot Note)
LC Compact foot
F Rod flange
G Head flange
D Double clevis

= Mounting bracket is shipped together with

the product, (but not assembled).

OHO

-IM9BW|

Number of
switches

auto

Nil | 2pes.

S 1 pc.

n

" pes.

x|} |=
m|m|m
Q||| =

=13
S|E=

=
=
(]

Auto switch

=)
N
o

Nil
+ For applicable auto switches,
refer to the table below.

Without auto switch

Cylinder stroke (mm)
Refer to “Standard Strokes”
on page 226.

Bore size Rod end thread
12 | 12mm ‘ Nil ‘ Standard (Female rod end) ‘
16 | 16 mm ‘ M ‘ Male rod end ‘
20 | 20 mm
25 [ 25 mm Cushion
Action
[D [ Double acting | Built-in Magnet Cylinder Model
Body option If a bull_t-ln magne_t cylinder wlthout an
- auto switch is required, there is no need
‘ Al ‘ Standard ‘ to enter the symbol for the auto switch.
‘ F ‘ With boss on head end ‘

Applicable Auto Switches/Refer to pages 941 to 1067 for further information on auto switches.

(Example) CDQSYL25-30DC

E k=S il Load voltage Auto switch model Lead wire (m) 5 -
. 5 ectrical |5 iring re-wire 5
Type Special function £ " 0.5 1 5 Applicable load
ents g Output) DC AC | Perpendicular | In-line ; connector
v || ©uew P N || 0 |@
3-wire (NPN) MONV M9N [ ] ® e O o -
- 5V, 12V IC circuit
S — 3-wire (PNP) MOPV | MP | @ [e@[e@][O o)
H 2-wire 12V M9BV | M9B e (@@ O o —
[} . P 3-wire (NPN) MONWYV | MONW [ ] ® @ O @] -
= - 5V, 12V IC circuit
a D;:?gsz??;gfg:z:?n Grommet | 8 S-wire (PNP) 24V — IETAAY | LB e e 00 £ o
o > 2-wire 12V M9BWYV | M9BW [ ] ® e O o — PLC
s - n
- 3-wire (NPN) MONAV*' [MONA*!) O cle|O o -
2]
Water re n - 5V, 12V , IC circuit
2| oo iifj‘isc‘aam‘r) 3-wire (PNP) M9PAVF [MOPA*|_ O |O|@|O| ©
3 2-wire 12V M9BAV*' [M9BA*!| O cle|O o _
o e e (Nopoe) — — |[POWA™| e |—ele| O
] ol ppeire | — | sv | — | A%V | A%6 | ® |—|e@|—| — |icoout| —
E-55 @ | (NPN equivalent)
Q2 2
o & —_— Grommet 0]
xo L oire 24v | 12V 100V | A93V* A93 [ ] [ 2K 2K ] — — | Relay,
3 N 100V orless]  A9OV A90 e —|o | — — IC circuit] PLC
=1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.
%2 1 m type lead wire is only applicable to D-A93.
= Lead wire length symbols: 0.5 m - Nil (Example) MONW olid state auto switches marked with “O” are produced upon receipt of order.
im - M (Example) MONWM #+ The D-P3DWO is only compatible with 025.
3m -L  (Example) MONWL It is mounted away from the port side to avoid interference with fittings.
5m -Z (Example) MONWZ
= Since there are other applicable auto switches than listed, refer to page 232 for details.
= For details about auto switches with pre-wired connector, refer to pages 1014 and 1015.
= Auto switches are shipped together, (but not assembled).
Note) The D-A90IV/MOLIV/MICIWV/MILIAV auto switches may not be mounted on the port side depending on the cylinder stroke or the fitting size of piping. D'D
225 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



CQSY series

Symbol
Rubber bumper

Replacement Parts/Seal Kit

Specifications
Bore size (mm) 12 16 [ 20 [ 25
Type Pneumatic (Non-lube)
Action Double acting, Single rod
Fluid Air
Proof pressure 1.05 MPa
Maximum operating pressure 0.7 MPa

Ambient and
fluid temperature

Without auto switch: =10°C to 70°C
With auto switch: —10°C to 60°C

(No freezing)

Cushion Rubber bumper
Rod end thread Female thread
Stroke length tolerance *4:0 mm Note)

Piston speed

5 to 500 mm/s

Allowable rate

0.5 L/min (ANR) or less

Note) Stroke length tolerance does not include the amount of bumper change.

Minimum Operating Pressure

Unit: MPa
\ Bore size (mm) [ 12 [ 16 [ 20 25 \
‘ Minimum operating pressure ‘ 0.03 ‘ 0.02 ‘
Standard Strokes
————————
Bore size (mm) Standard stroke (mm)
12,16 5, 10, 15, 20, 25, 30
20, 25 5, 10, 15, 20, 25, 30, 35, 40, 45, 50
Theoretical Output
[ [ ™ yuen

Bore size o
(mm) Kit no. Contents
12 CQSY12-PS | piston seal 1 pc.
16 CQSY16-PS | Rod seal 1pc.
20 CQSY20-PS | Tube gasket 1 pc.
25 CQSY25-ps | Grease pack (10g) 1 pc.

When maintenance requires only grease, use the

following part numbers to order.

Grease pack part number: GR-L-005 (5 g)
GR-L-010 (10 g)
GR-L-150 (150 g)

Accessory
—
« For details about the single knuckle joint,

double knuckle joint, knuckle pin, and rod end
nut, refer to page 244.

226

Bore size Rod size Operating | Piston area Operating pressure (MPa)
(mm) (mm) direction (mm2) 0.3 0.5 0.7
IN 84.8 25 42 59

12 6
ouT 113 34 57 79

IN 151 4! 7! 1

16 s 5 5 5 06
ouT 201 60 101 141
20 10 IN 236 71 118 165
ouT 314 94 157 220
IN 378 113 189 264

25 12
ouT 491 147 245 344

Intermediate Stroke

Method Installation of spacer on standard stroke body.
Model no. Refer to page 225 for standard model no.
Intermediate strokes at 1 mm intervals are available by
Method . . .
using spacers with standard stroke cylinders.
SENE Bore size (mm) Stroke range (mm)
stroke 9
Stroke range 12,16 1to29
20, 25 11049
Part no.: CQSYB25-47DC
CQSYB25-50DC with 3 mm width spacer inside.
Example B dimension is 77.5 mm.

Calculation:e25, B dimension 27.5 mm (without auto switch)
27.5 (B dimension) + 50 (st) = 77.5 (mm)

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Smooth Cylinder CQSY series

For standard strokes

WelghtS/WIthOUt Auto Switch @ Calculation: (Example) CQSYD20-20DCM
Bore size Cylinder stroke (mm) « Basic weight: CQSYB20-20DC ---
(mm) 5 10 | 15 | 20 | 25 | 30 | 35 | 40 | 45 | 50  Additional weight: Male rod end
12 37 43 50 57 63 70 —_ —_ —_ —_ : Double clevis -
16 49 57 66 74 83 92 — — — —
20 75 88 101 114 127 140 153 165 178 191
25 109 125 140 156 172 188 | 204 | 220 | 236 | 252 REA
Weights/With Auto Switch (Built-in magnet) (@ REB
Bore size Cylinder stroke (mm)
(mm) 5 | 10 | 15 | 20 | 25 | 30 [ 35 | 40 | 45 | 50 REC
12 45 51 58 65 71 78 — — — —
16 59 67 76 85 94 103 - —_ —_ —_ m
20 106 119 132 145 157 170 | 183 | 195 | 208 | 221 Low
25 151 167 183 199 215 231 246 | 262 | 278 294 Speed
Additional Weights (@ MQ
Bore size (mm) 12 16 20 25
Vo rod on [Malethread | 15 3 2 RHC
[ Nut 1 2 8
With boss on head end 07 13 3 RzQ
Foot (Including mounting bolt) 55 65 159 181
Compact foot (Including mounting bolt) 32 40 97 116
Rod flange (Including mounting bolt) 58 70 143 180
Head flange (Including mounting bolt) 56 66 137 171
Double clevis (Including pin, retaining ring, mounting bolt) 34 40 92 127
Mounting Bolt for CQSYB without Auto Switch
Mounting method: Mounting bolt for through-hole Cylinder model [} D | Mounting bolt part no. Cylinder model [+ D | Mouning bolt part no.
mounting type of the CQSYB is CQsyB12-5DC 30 | CQ-M3X30L CQSYB20-25DC 50 | CQ-M5X50L
Refer o he folowing for orderng piocoriros. 1006 35 X351, =006 25 X551,
erer orowing for orcering procedures. -15DC 40 X40L -35DC 60 X60L
Order the actual number of bolts that will be used. 20DC 6.5 25 X45L ~20DC 6.5 65 X65L
Example) CQ-M3X30L 4 pcs. -25DC 50 X50L -45DC 70 X70L
-30DC 55 X55L -50DC 75 X75L
r—— CQSYB16-5DC 30 | CQ-M3X30L CQsYB25-5DC 35 | CQ-M5X35L
@ Mounting bolt -10DC 35 X35L -10DC 40 X40L
=1 /’77 -15DC 6.5 40 X40L -15DC 45 X45L
'I -20DC | 45 X45L -20DC 50 X50L
‘ c -25DC 50 X50L -25DC 85 55 X55L
i -30DC 55 X55L -30DC ) 60 X60L
D CQSYB20-5DC 30 | CQ-M5X30L -35DC 65 X65L
Note) When mounting a cylinder with -10DC 6.5 35 X35L -40DC 70 X70L
through-hole, be sure to use the -15DC : 40 X40L -45DC 75 X75L
attached plain washer. -20DC 45 X45L -50DC 80 X80L
Material: Chromium molybdenum steel
Mounting Bolt for CDQSYB with Auto Switch Surface reatment: ZinG chromated
=
Mounting method: Mounting bolt for through-hole Cylinder model C D | Mounting bolt part no. Cylinder model C D | Mounting bot part no.
mounting type of the CDQSYB CDQSYB12-5DC 35 | CQ-M3X35L CDQSYB20-25DC 60 | CQ-M5X60L
Refer to the followifgaf‘;arilti'ztriansg?:o%ﬁﬁﬁes 190G =0 A0 3006 o XG5
. iy -15DC 45 X45L -35DC 70 X70L
Order the actual number of bolts that will be used. 20DC 6.5 50 X50L 20DC 6.5 75 X750
Example) CQ-M3X35L 4 pcs. -25DC 55 X55L -45DC 80 X80L
-30DC 60 X60L -50DC 85 X85L
CDQSYB16-5DC 35 | CQ-M3X35L CDQSYB25-5DC 45 | CQ-M5X45L
E | Mounting bolt -10DC 40 X40L -10DC 50 X50L
I 1 -15DC 6.5 45 X45L -15DC 55 X55L
I ———— =200C | °° [ 50 X501 -200C 60 X60L
LC -25DC 55 X55L -25DC 85 65 X65L
-30DC 60 X60L -30DC| 70 X70L
D CDQSYB20-5DC 40 | CQ-M5X40L -35DC 75 X75L
Note) When mounting a cylinder with -10DC | . .| 45 X45L -40DC 80 X80L
through-hole, be sure to use the -15DC | ™ 50 X50L -45DC 85 x8sL |D-[]
attached plain washer. -20DC 55 X55L -50DC 90 X90L

Material: Chromium molybdenum steel _X|:|
Surface treatment: Zinc chromated

227 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



CQSY series

Dimensions: 12 to 925
Standard (Through-hole/Both ends tapped): CQSYB/CDQSYB

o012
) !ﬁe
\57
16 2% 4x20B H thread effective depth C 2xM5x0.8 Auto SV\./ilCh i
counterbore depth RB /2 x4 x OA effective depth RA Note) Lead wire min.
/ bending radius 10
<
Ei
<
£
| =z
T =
<
) - ¥
Flat washer
L B + Stroke
‘ A + Stroke
220, 025
Male rod end With boss on head end
Width across flats B1
MM I it
IS S I G=:5[7/) o
=
=
B @0 T T 3 ©
G
Male Rod End With Boss on Head End (mm)
Bore size (mm) | B1 | C1 | H1 | L1 MM X Boresize (mm)| G Th9
12 8 9 | 4 |14 | M5x0.8 |105 12 1.5 150,003
16 10 |10 | 5 |1565| M6x1.0 | 12 16 i 205,052
20 13 (12| 5 [185| M8x1.25 | 14 20 2 130,043
25 17 | 15| 6 |225|M10x1.25|17.5 25 2 150043
Note) The product with boss on head end is
applicable to only the standard stroke.
Standard
Bore size | Stroke range | Withoutauto switch | With auto switch
(mm) (mm) A B A B Cc D E F H I K L M N OA OB| Q | RA|IRB| T
12 5to 30 25.5| 22 |30.5] 27 6 6 25 | 5 |[M3x05| 32 | 5 | 35|155]| 35 |M4x0.7|65|75| 7 4 105
16 510 30 255| 22 |1305| 27 | 8 8 29 | 5 |M4x0.7| 38 | 6 | 35| 20 | 35 [M4x07|65 | 75| 7 4 105
20 51to 50 29 |24.5| 39 |345| 7 10 | 36 | 55 [M5x0.8| 47 | 8 | 45 |255]| 54 |[M6x1.0] 9 8 10| 7 1
25 5to 50 32.5(27.5/425|37.5| 12 | 12 | 40 | 55 [M6x1.0| 52 | 10 5 28 | 54 |[M6x1.0] 9 9 10| 7 1

Note) Threaded through-hole is used for the standard of 20 with 5 to 10 mm strokes and 225 with a 5 mm stroke.
® 228

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Dimensions: 212 to 025

Foot: CQSYL/CDQSYL

B + Stroke

Special cap bolt

Male rod end

SSs =
X Y| :T F:x

LG

LS + Stroke,
A + Stroke

Smooth Cylinder CQSY series

Foot
Bore size | Stroke range | Without auto switch With auto switch
(mm) (mm) A B LS A B LS
12 5 to 30 403 | 22 | 10 [ 453 ] 27 | 15
16 5t030 | 403 | 22 | 10 | 453 | 27 | 15 |REA
20 5 to 50 462 | 245 | 125 [ 562 | 345 | 225
25 5 to 50 497 | 275 | 125 | 597 | 375 | 225 |REB
B‘z’ﬂfms')ze L L |06 tH LT x|y z| x | Y [ppe
12 13524 [45[28[ 17 | 2 | 34 [295] 44 | 8 |45
16 135255/ 4.5 (28] 19| 2 |38 (335/48 | 8 | 5 m
20 145]285/ 66| 4 | 24 |32 48 |42 |62 [9.2]58
25 15 [325[6.6 [ 4 [ 26 [32] 52 | 46 | 66 [10.7] 5.8 |Low
Foot bracket material: Carbon steel |Speed

Surface treatment: Nickel plating

g

RHC
Compact foot: CQSYLC/CDQSYLC Compact Foot
A+ Stroke Bore size | Stroke range | Without auto switch With auto switch RzQ
T B st (mm) (mm) A B [ LS| A B | LS
. . 12 510 30 49.6 22 40.6 | 54.6 27 45.6
' i Special cap bolt 16 510 30 50.6 22 40.6 | 55.6 27 45.6
——— 20 51050 | 62.5 | 24.5 | 50.9 | 72.5 | 34.5 | 60.9
i 25 5to 50 65,5 | 275 | 53.9 | 75,5 | 37.5 | 63.9
B‘i’[ﬁni')ze L | L [LWD|LH|LT|LX|LY|[LZ| X | Y
LS + Stroke 12 135 24 | 45| 17 | 2 |155]295] 25 | 9.3 | 45
Male rod end 7 16 185|255| 45 | 19 2 20 [335] 29 | 93| 5
15 20 145|285| 6.6 | 24 | 3.2 |25,5| 42 | 36 |13.2| 5.8
It 25 15 |325| 6.6 | 26 | 32 | 28 | 46 | 40 [13.2]| 5.8
4 Compact foot bracket material: Carbon steel
e Surface treatment: Zinc chromated
L1
Rod flange: CQSYF/CDQSYF Rod Flange
Bore size | Stroke range | Without auto switch | With auto switch
i : = (mm) (mm) A B A B
g @ rl I 12 5t030 | 355 | 22 | 405 | 27
5 z e 16 5t030 | 355 | 22 | 405 | 27
Tl lj—I 20 5to 50 39 245 49 34.5
LFT 25 5to 50 425 | 275 | 525 | 375
FX 2xoFD L™ B+ Stroke Bore size
FZ A + Stroke (mm) FD FT FV FX FZ L L1
12 45 | 55 | 25 45 55 | 135| 24
Male rod end 16 45 | 55 | 30 45 55 | 13.5 | 25.5
20 6.6 8 39 48 60 | 145|285
i 25 66 | 8 | 42 | 52 | 64 | 15 [325
= Flange bracket material: Carbon steel
Rod end nut" u Surface treatment: Nickel plating
= For details about the rod end nut and accessory brackets,
refer to page 244.
D-1
X0

229

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



CQSY series

Dimensions: 12 to 025

Head flange: CQSYG/CDQSYG

L B + Stroke FT

A + Stroke

Male rod end

“\_Rod end nut*
L1

FV

Double clevis: CQSYD/CDQSYD

Cap bolt
Cap bolt

CT_llcy

0CD hole H10
Axis d9

L|| B+Stoke | CW.

RR

CL + Stroke

A + Stroke

Male rod end

[

L1 Rod end nut*

230

2xoFD

Head Flange
Bore size | Stroke range Without auto switch | With auto switch
(mm) (mm) A B A B
12 5to 30 31 22 36 27
16 51030 31 22 36 27
20 5to 50 37 24.5 47 34.5
25 5to 50 40.5 | 275 | 50.5 | 37.5
Bore size
(mm) FD | FT | FV | FX FZ L L1
12 45 | 55 | 25 45 55 | 35 14
16 45 | 55 30 45 55 35 [ 155
20 6.6 8 39 48 60 | 45 | 185
25 6.6 8 42 52 64 5 225

Flange bracket material: Carbon steel
Surface treatment: Nickel plating

Double Clevis

Bore size |Stroke range | Without auto switch | With auto switch
(mm) (mm) Al BJCL|A[B]|CL
12 5t030 |45.5| 22 |39.5/50.5| 27 |44.5
16 5t030 |46.5| 22 |40.5|51.5| 27 |45.5
20 5to 50 56 |24.5| 47 | 66 [34.5| 57
25 5t050 |62.5|27.5|52.5|72.5|37.5|62.5
Bore size
(mm) CB|CD|CT|CU|CW | CX|CZ| L L1 | RR
12 12 5 4 7 14 5 10 | 35| 14 6
16 14 5 4 10 | 15 | 65| 12 | 85 |155]| 6
20 20 8 5 12 | 18 8 16 | 45 [185] 9
25 24 | 10 5 14 1 20 | 10 | 20 5 |225| 10

Double clevis bracket material: Carbon steel
Surface treatment: Nickel plating

# For details about the rod end nut and accessory brackets,
refer to page 244.

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



CQSY series
Auto Switch Mounting

Minimum Stroke for Auto Switch Mounting

(mm)
Number of auto switches | D-MOCIV D-Agmy | D-MOOWV | p pgn DeMaEvg D-MOC  |D-P3DWA™Ne REA
D-M9CIAV D-M9CIA
With 1 pc. 5 5 10 10 (5) 15 (10) 15 (5) 15 REB
With 2 pes. 5 10 10 10 15 (10) 15 (5) 15 REC

Note 1) 625 is only applicable for the D-P3DWAL.

Note 2) The dimensions stated in ( ) shows the minimum stroke for the auto switch mounting when the auto switch does not project from
the end surface of the cylinder body and hinder the lead wire bending space. (Refer to the figure on the right.) ‘@
Order auto switches separately.

Auto Switch Proper Mounting Position (Detection at stroke end) and Its Mounting Height

=13
S|E=

12 216 to 925
Mounting Mounting RHC
a) b) a) b)
D-M9IV RzZQ
D-M9COWV
D-M9OIAV
D-A9CIV
~Hs A B
7 ,o\\
ZNAY
SO
w
1
W
O =
A o
D-P3DWA
2925
Auto Switch Proper Mounting Position (mm)
Auto switch -
model| D-MSCI/MOCIW 2 MQ'\Ii]Q\Iéh:%DWV D-M9CJA D-A9C] D-A9CIV D-P3DWA
Bore size A B w A B Hs A B w A B w A B Hs A B Hs
12 10 5 5 10 5 19.5 | 10 5 7 6 1 1[3.5] 6 1 17 — — —_
16 9.5 5.5 4.5 Si5) 55 | 215 9.5 55 | 6.5 55| 15 0.5 [3] 55| 15 | 19 = = =
20 13 9.5 05 | 13 95 | 25 13 95 | 25 9 5.5 -35[-1] 9 55 | 225 — — —
25 14 115 | -15 | 14 115 | 27 14 11.5 0.5 10 7.5 -5.5[-3] 10 7.5 24.5 9.5 7 33
Note 1) [ ]: Denotes the dimensions of the D-A93.
Note 2) Adjust the auto switch after confirming the operating condition in the actual setting. D-I:l
Note 3) The product is shipped out of the factory in installation state “a)”. To change the electrical entry direction of the switch on the head, refer to installation state “b)”.
)

Note 4) Negative figures for W indicate an auto switch is mounted inward from the edge of the cylinder body.

o
231 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



CQSY series

Operating Range

(mm)

Bore size
12 | 16 | 20 | 25

Auto switch model

D-M9oCI/M9OIV
D-MOCIW/MOCIWV | 3 | 35| 55| 45
D-M9CJA/MOLIAV
D-A9C/A9CIV 6 | 75|10 |10
D-P3DWA — | =] =16

* Values which include hysteresis are for guideline purposes only, they
are not a guarantee (assuming approximately +30% dispersion) and
may change substantially depending on the ambient environment.

e e e e e e e e e e e e e e e e e e e e e e e e e e =y
I Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable. 1

+ With pre-wired connector is also available for solid state auto switches. For details, refer to pages 1014 and 1015. 1
+ Normally closed (NC = b contact) solid state auto switches (D-F9G/F9H) are also available. For details, refer to page 959. 1

R |

APrecautions

et |

1 Be sure to read this before handling the products. 1
1 Refer to back page 50 for Safety Instructions and pages 3 to 12 for Actuator and Auto Switch Precautions. 1
-

o o o o o o e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e

« If the cylinder is used in an application in
which a magnetic material is placed in close
contact around the cylinder as shown in the
figure on the right (including cases in which
even one of the sides is in close contact) the
operation of auto switches could become
unstable. Therefore, please consult with SMC
for this type of application.

7 7
~=r
L /4
A @m %
( Magnetic substance
7 / / 0 (Iron plate etc.)

Magnetic substance
(Iron plate etc.)

232
Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Smooth Cylinder

CQ?2Y series

232, 040, 850, 363, 380, 3100

)
m
>

How to Order

B co2v(B32[ 30D
EEETET™ cpQ2Y(B32] -[30ID

H
IOHO
HN
Hzs

T Low
Speed
With auto switch MQ
(Built-in magnet) Number.of
auto switches
Mounting Nil ] 2 pcs. RHC
B | Through-hole (Standard) i S 1 pe.
A Both ends tapped Bore size ® n_ |“n"pes. RZQ
L Foot Note) 32 | 32mm
LC Compact foot 40 | 40mm Thread type Auto switch
F Rod flange 50 | 50 mm Nil | Ro [ Nil_[ without auto switch |
G Head flange 63 | 63mm TN NPT * For applicable auto switches,
D Double clevis 80 | 80mm TF G refer to the table below.
= Mounting bracket is shipped 100 | 100 mm
together with the product,
(but not assembled). Cylinder stroke (mm) Auto switch mounting groove
Refer to “Standard Strokes” n
on page 234.
Action Body option 2
Built-in Magnet Cylinder Model [CD T Double acting | [ Nil_[ Standard (Female rod end) |
P X N ‘ M Male rod end ‘
If a built-in magnet cylinder without an i
auto switch is required, there is no need Body option 1 .
to enter the symbol for the auto switch. Nil Standard Cushion
(Example) CDQ2YL40-50DCZ [ F [Withbossonheadend| [ C | Rubber bumper |
Applicable Auto Switches/Refer to pages 941 to 1067 for further information on auto switches.
e 5 i Load voltage Auto switch model Lead wire (m) Pro-wired Aoplicabl
Type Special function ecticayys pang - G315 hee re-wu|e p;la icable
entry 2 (Output) DC AC  |Pemendicular| In-line i [y | @ | @ [y conmeeter oad
3-wire (NPN) 5V, MONV M9N ® |0 e O — o | cireut
S — 3-wire (PNP) 12V MOPV | MoP [ @ [@]e — i
= 2-wire 12V M9BV | M9B |® @ /@ O|—| O -
o o 3-wire (NPN) 5V, MONWV | MONW | @ @/ ®@ O/ —| O -
5 Diagnostic indication [3-wire (PNP) | 12V MOPWV | MOPW IC circuit
© (2-color indicator) Grommet | & [>Wre ( ) 24V _ ® & 0/ —| O Relay,
) > 2-wire 12V MOBWV | MSBW | @ (@ @ O|—| O — PLC
E W . 3-wire (NPN) 5V, MYNAV*!| MONA*' | O |O | @ |O|—| O | cirout
B | 3-wire (PNP) 12v M9PAV* | M9PA*' | O [O|e@|O[—[ O |
2 2-wire 12V M9BAV*!'| M9BA*' | O |[O | @ |O|—| O —
Magneticfield resistant (2-color indicator) 2-wire (Non-polar) — — P3DWA | @ — @ | @ — O —
- b= @ [Bire (NPN equivlen) | — 5V — A96V A96 ® |—|®|—|—| — |[ICcircuitf —
8= > 42 — — —
&3 —_ Grommet | > | 2-wire 24V 12V | 100V | A93V: A93 [ J [ ] - Relay,
2 No 5V,12V[100Vorless| A9OV A90 ® |—|®|—|—| — [ICcircuit| PLC
=1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Please consult with SMC regarding water resistant types with the above model numbers.
*2 1 m type lead wire is only applicable to D-A93.
* Lead wire length symbols: 0.5 m - Nil (Example) MONW * Solid state auto switches marked with “O” are produced upon receipt of order.
1m - M (Example) MONWM
3m - L (Example) MONWL
5m - Z (Example) MONWZ
= Since there are other applicable auto switches than listed, refer to page 249 for details.
= For details about auto switches with pre-wired connector, refer to pages 1014 and 1015.
233 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



CQ2Y series

Symbol
Rubber bumper

Replacement Parts/Seal Kit

Specifications
Bore size (mm) 32 40 50 | 63 | 80 100
Type Pneumatic (Non-lube)
Fluid Air
Proof pressure 1.05 MPa
operating pressure 0.7 MPa

Without auto switch: =10°C to 70°C
With auto switch: —10°C to 60°C

Rubber bumper (Standard)

+1.0mm Note)
)

Ambient and

fluid temperature (No freezing)

Cushion

Stroke length tolerance
Piston speed range

Al rate

5 to 500 mm/s
0.5 L/min (ANR) or less
Note) Stroke length tolerance does not include the amount of bumper change.

Minimum Operating Pressure

Unit: MPa
\ Bore size (mm) [ 322 [ 40 [ s0 63 80 | 100
‘ Minimum operating pressure ‘ 0.02 ‘ 0.01 ‘

Standard Strokes

Bore size (mm) Standard stroke (mm)
32, 40 5,10, 15, 20, 25, 30, 35, 40, 45, 50, 75, 100
50, 63, 80, 100 10, 15, 20, 25, 30, 35, 40, 45, 50, 75, 100

Theoretical Output

100 CQ2Y100-PS

Bore size o
(mm) Kit no. Contents
32 CQ2Y32-PS
40 CQ2Y40-PS | pigion seal 1 pc.
50 CQ2Y50-PS | Rod seal 1pc.
63 CQ2Y63-PS | Tube gasket 1 pc.

80 CQ2Y80-Ps | Grease pack (10 g) 1pc.

When maintenance requires only grease, use the

following part numbers to order.

Grease pack part number: GR-L-005 (5 g)
GR-L-010 (10 g)
GR-L-150 (150 g)

Accessorz

= For details about the single knuckle joint,
double knuckle joint, knuckle pin, and rod end
nut, refer to page 244.

# Stainless steel mounting brackets and
accessories are also available.
Refer to page 244 for details.

® 234

[ —Frour[ K N unitN

Bore size Operating Operating pressure (MPa)
(mm) direction 0.3 05 07

32 IN 181 302 422
ouT 241 402 563

IN 317 528 739

a0 ouT 377 628 880
IN 495 825 1155

%0 ouT 589 982 1374
IN 841 1402 1962

& ouT 935 1559 2182
IN 1361 2268 3175

8 ouT 1508 2513 3519
100 IN 2144 3574 5003
ouT 2356 3927 5498

Intermediate Stroke

Method Installation of spacer on standard stroke body.
Model no. Refer to page 233 for standard model no.
Intermediate strokes at 1 mm intervals are available by
Method N ¥ .
Standard using spacers with standard stroke cylinders.
stroke Bore size (mm) ‘ Stroke range (mm)
Stroke range
3210 100 \ 11099
Part no.: CQ2YB50-57DCZ
CQ2YB50-75DCZ with 18 mm width spacer inside.
Example B dimension is 125.5 mm.

Calculation:e50, B dimension 50.5 mm (without switch)
50.5 (B dimension) + 75 (st) = 125.5 (mm)

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Smooth Cylinder CQ2Y series

Weights
——
Weights/Without Auto Switch )
Bore size Cylinder stroke (mm)
(mm) 5 10 15 20 25 30 35 40 45 50 75 100
32 134 154 174 193 213 233 252 272 291 311 457 556
40 211 232 254 275 297 318 340 361 383 404 577 689 R EA
50 — 369 402 435 467 500 533 566 598 632 902 1073
63 — 557 595 633 671 709 747 786 824 862 1189 1386 | |REB
80 — 983 1043 1104 1164 1224 1284 1345 1405 1465 1985 2281
100 — 1711 1792 1872 1952 2033 2113 2194 2274 2354 3086 3494 REC
Weights/With Auto Switch (Built-in magnet) (9) m
Bore size Cylinder stroke \LOL
(mm) 5 10 15 20 25 30 35 40 45 50 75 100 | [Speed
32 191 211 230 250 270 289 309 329 348 368 468 567 M 0
40 284 305 327 348 369 391 412 434 455 477 589 701
50 — 480 513 546 579 611 644 677 710 743 915 1087 RHC
63 — 710 748 787 825 863 901 939 977 1015 1211 1408
80 — 1229 1289 1350 1410 1470 1530 1591 1651 1711 2008 2305 RZQ
100 — 2070 2150 2231 2311 2391 2472 2552 2633 2713 3121 3529
Additional Weights @
Bore size (mm) 32 40 50 63 80 100
Both ends tapped 6 6 6 19 45 45
[ Male thread 26 27 53 53 120 175
Male rod end
[ Nut 17 17 32 32 49 116
With boss on head end 5 7 13 25 45 96
Foot (Including mounting bolt) 142 154 243 320 690 1057
Compact foot (Including mounting bolt) 99 114 177 241 501 770
Rod flange (Including mounting bolt) 180 214 373 559 1056 1365
Head flange (Including mounting bolt) 165 198 348 534 1017 1309
Double clevis (Including pin, retaining ring, mounting bolt) 151 196 393 554 1109 1887
Calculation (Example) CQ2YD32-20DCMZ
© Basic weight: CQ2YB32-20DCZ
* Additional weight: Both ends tapped-
Male rod end
Double clevis
Total 393 g
D-OI
-Xtd
235 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



CQ2Y series

Mounting Bolt

Mounting method: Mounting bolt for through-hole E -
mounting type of the CQ2YB is
available as an option.
Refer to the following for ordering procedures. “Hf
Order the actual number of bolts that will be used.

Example) CQ-M5X40L 2 pcs. LQ_

Mounting bolt

Mounting Bolt for CQ2YB without Auto Switch

Cylinder model Cc D | Mounting bolt part no. Cylinder model C D | Mounting bolt part no.
CQ2YB32- 5DC 40 | CQ-M5X40L CQ2YB63- 10DC 60 | CQ-M8X60L
- 10DC 45 X45L - 15DC 65 X65L
- 15DC 50 X50L - 20DC 70 X70L
- 20DC 55 X55L - 25DC 75 X75L
- 25DC 60 X60L - 30DC 80 X80L
- 30DC 9 65 X65L - 35DC |145| 85 X85L
- 35DC 70 X70L - 40DC 920 X90L
- 40DC 75 X75L - 45DC 95 X95L
- 45DC 80 X80L - 50DC 100 X100L
- 50DC 85 X85L - 75DC 135 X135L
- 75DC 120 X120L -100DC 160 X160L
-100DC 145 X145L CQ2YB80- 10DC 65 | CQ-M10X65L
CQ2YB40- 5DC 45| CQ-M5X45L - 15DC 70 X70L
- 10DC 50 X50L - 20DC 75 X75L
- 15DC 55 X55L - 25DC 80 X80L
- 20DC 60 X60L - 30DC 85 X85L
- 25DC 65 X65L - 35DC | 15 90 X90L
- 30DC 75 70 X70L - 40DC 95 X95L
- 35DC : 75 X75L - 45DC 100 X100L
- 40DC 80 X80L - 50DC 105 X105L
- 45DC 85 X85L - 75DC 140 X140L
- 50DC 90 X90L -100DC 165 X165L
- 75DC 125 X125L CQ2YB100- 10DC 75 | CQ-M10X75L
-100DC 150 X150L - 15DC 80 X80L
CQ2YB50- 10DC 55 | CQ-M6X55L - 20DC 85 X85L
- 15DC 60 X60L - 25DC 90 X90L
- 20DC 65 Xe5L - 30DC 95 X95L
- 25DC 70 X70L - 35DC |15.5| 100 X100L
- 30DC 75 X75L - 40DC 105 X105L
- 35DC|125| 80 X80L - 45DC 110 X110L
- 40DC 85 X85L - 50DC 115 X115L
- 45DC 90 X90L - 75DC 150 X150L
- 50DC 95 X95L -100DC 175 X175L
- 75DC 130 X130L Material: Chromium molybdenum steel
-100DC 155 X155L Surface treatment: Zinc chromated
236

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Mounting Bolt for CDQ2YB with Auto Switch (Built-in magnet)

Smooth Cylinder CQ2Y series

Cylinder model (o D | Mounting bolt part no. Cylinder model C D | Mounting bolt part no.
CDQ2YB32- 5 50 | CQ-M5X50L CDQ2YB63- 10 70 | CQ-M8X70L
- 10 55 X55L - 15 75 X75L

- 15 60 X60L - 20 80 X80L

- 20 65 X65L - 25 85 X85L

- 25 70 X70L - 30 90 X90L

- 30 9 75 X75L - 35 |145] 95 X95L

- 35 80 X80L - 40 100 X100L

- 40 85 X85L - 45 105 X105L

- 45 90 X90L - 50 110 X110L

- 50 95 X95L - 75 135 X135L

- 75 120 X120L -100 160 X160L

-100 145 X145L CDQ2YB80- 10 75 | CQ-M10X75L
CDQ2YB40- 5 55 | CQ-M5X55L - 15 80 X80L
- 10 60 X60L - 20 85 X85L

- 15 65 X65L - 25 90 X90L

- 20 70 X70L - 30 95 X95L

- 25 75 X75L - 35| 15 | 100 X100L

-30| .| 8 X80L - 40 105 X105L

-35| 85 X85L - 45 110 X110L

- 40 90 X90L - 50 115 X115L

- 45 95 X95L - 75 140 X140L

- 50 100 X100L -100 165 X165L

- 75 125 X125L CDQ2YB100- 10 85 | CQ-M10X85L

-100 150 X150L - 15 90 X90L
CDQ2YB50- 10 65 | CQ-M6X65L - 20 95 X95L
- 15 70 X70L - 25 100 X100L

- 20 75 X75L - 30 105 X105L

-25 80 X80L - 35 |155] 110 X110L

- 30 85 X85L - 40 115 X115L
-35|125| 90 X90L - 45 120 X120L

- 40 95 X95L - 50 125 X125L

- 45 100 X100L -75 150 X150L

- 50 105 X105L -100 175 X175L

- 75 130 X130L Material: Chromium molybdenum steel

-100 155 X155L Surface treatment: Zinc chromated

237

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

D= |LE ERIE-RE:]
I|ol|g= m|m|m
o 2 o|lwm| >

=)
N
o



CQ2Y series

Bore Size

232 to 950

Through-hole: CQ2YB/CDQ2YB

(Types with auto switch and without auto switch only differ
in the A and B dimensions. Refer to the table below.)

Both ends tapped: CQ2YA/CDQ2YA

CDQ2YA
Orthread R R Both Ends Tapped (mm)
Bore size o1 R
(mm)
32 M6 x 1.0 10
H* 40 M6x1.0 | 10
50 M8x1.25 | 14
. 2x P (Rc, NPT, G) Auto switch
H thread effective depth C (Port size) Lead wire min. bending radius 10
4 x oN through Q E
8 x 00 counterbore 1 [l
L =i 1[N (%]
7 T g =
7 K
N I
] 17
=
K, L B + Stroke
M A + Stroke
E J
w
With boss on head end
With Boss on Head End (mm)
= o mh Bczﬁmsi)ze The
o
b = = 32 213505
U Wk 40 2830,
o T 50 35 00e2
k2
) Male rod end
Width across flats B1
MM
Male Rod End (mm)
Bore size
(mm) B1 | C1 | Hi | L1 MM X
32 22 |20.5| 8 |28.5| M14x 1.5 |23.5
40 22 |20.5| 8 |28.5| M14x1.5 |23.5
C1 50 27 | 26 | 11 |33.5| M18x 1.5 |28.5
X
L1
(mm)
Bore size | Stroke range |Wiioutautoswitch| With auto switch
Cc D E F H J K L M N (o] P w z
(mm) (mm) A|B|A|B .
510 50 40 | 33
32 50 | 43 | 13 | 16 | 45 | 7.5 | M8x1.25 | 45| 14 | 7 34 | 55| 9depth7 | 1/8 | 10 |495| 14
75, 100 50 | 43
5 to 50 46.5|39.5
40 56.5(495| 13 | 16 | 52 | 7.5 | M8x1.25 | 5 14 | 7 | 40 | 55 | 9depth7 | 1/8 |125| 57 | 14
75, 100 56.5)|49.5
10 to 50 48.5|40.5
50 58.5(50.5| 15 | 20 | 64 |10.5| M10x 1.5 7 17 8 50 | 6.6 | 11depth8 | 1/4 |10.5| 71 19
75, 100 58.5|50.5
® 238

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Smooth Cylinder CQ?2Y series

Bore Size
32 t 50 (Types with auto switch and without auto switch only differ
Q o g in the A and B dimensions. Refer to the table below.)
Foot: CQ2YL/CDQ2YL Foot (mm)
L B+ Stroke Bore size | Stroke range | Without auto switch | With auto switch Llwlw
(mm) (mm) A B |[LS| A B | LS
t t 5 to 50 57.2| 33 | 17
E Specilcap bot 32 75, 100 670 43 | 27 67.2| 43 | 27 | 17 |38.5]| 6.6 REA
5 to 50 63.7|39.5|23.5
= 40 75,100 7371495335 73.7149.5|33.5| 17 |38.5| 6.6 REB
2! 4 = 10 to 50 66.7|40.5|17.5
XY‘ '_T EX LG 50 75,100 76.71505(27.5 76.7|50.5|27.5| 18 [435| 9
LS + Stroke -
Bore size | Stroke range
A -+ Stroke (mm) (mm) LG|LH |LT |LX|LY |LZ| X Y
5 to 50
32 4 |13 |82|57 |57 |71 112|538
Male rod end g 75, 100
40 Sitols0 4 | 33|32|64 |64 |78 112 7

= |5 -]
= m
o\ o

75, 100
f 10 to 50
L|q‘ 50 75, 100 5 39 (32|79 |78 | 95 |147| 8

Foot bracket material: Carbon steel RHC
Surface treatment: Nickel plating
Compact foot: CQ2YLC/CDQ2YLC Compact Foot (mm)
A + Stroke Bore size | Stroke range | Without auto switch | With auto switch L L | o
L B+ sStoke (mm) (mm) A[BJLS|A[B]LS
I 510 50 72 | 33 |60.4
: : 32 75,100 82 | 43 [70.4 82 | 43 (70.4| 17 |38.5| 6.6
. 5 to 50 80.9/39.5|66.9
Special cap bolt 40 75, 100 90.9149.5(76.9 90.949.5|76.9| 17 |38.5| 6.6
3 5 10 to 50 89.9/40.5|73.9
ki) (Ul 50 75.100 990 ]505] 830|009 |50-5(839| 18 |435| 9
X X Y B‘:'nemii)ze S"°(kn‘j"’3”99 LH| LT x|z x|y
LS + Stroke
Male rod end % 32 55"’1%% 30 |32 34 | 57 | 45 |137| 58
5 to 50
40 75,100 33 | 32| 40 | 64 | 52 |13.7| 7
7% 10 to 50
:j 50 75, 100 39 |32 |50 |78 |64 |16.7| 8
L1 Compact foot bracket material: Carbon steel
Surface treatment: Zinc chromated
Rod flange: CQ2YF/CDQ2YF Rod Flange mm)
Special cap bolt Bore size | Stroke range | Withoutauoswich | With auto switch
(mm) (mm) A B A B FD|FT |FV |FX|FZ
B ! 5 to 50 50 | 33
32 75,100 50 | 43 60 | 43 |55| 8 |48 |56 |65
5to 50 56.5|39.5
E 40 75,100 66.549.5 66.5/49.5/55| 8 |54 (62|72
FT 10t050 |58.5[40.5
LB + Stroke 50 75,100 685505 68.5/50.5(6.6| 9 |67 | 76 | 89
A + Stroke Bore size | Stroke range
) o L|iL|m
“E 5to 50
| 32 75,100 17 |38.5| 34
5 to 50
L _E 40 75, 100 17 |38.5| 40
1
10 to 50
50 75, 100 18 |43.5| 50
Flange bracket material: Carbon steel
Surface treatment: Nickel plating
+ For details about the rod end nut and accessory brackets, refer to page 244. D |:|

239

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



CQ2Y series

Bore Size
32 t 50 (Types with auto switch and without auto switch only differ
Q o g in the A and B dimensions. Refer to the table below.)
Head flange: CQ2YG/CDQ2YG Head Flange (mm)
Special cap bolt Bore size | Stroke range | Withoutauto swich | With auto switch L L1
(mm) (mm) A A
J——
t I 5to 50 48
32 75, 100 58 58 7 |285
5 to 50 54.5
- 40 75,100 645 64.5 7 |285
L || B+stoke | | FT 4 xoFD 50 Do 578 675 | 8 |335
A + Stroke Fz 3 .

Flange bracket material: Carbon steel
Surface treatment: Nickel plating
(+ Dimensions except A, L and L1 are the same as rod flange type.)

Double clevis: CQ2YD/CDQ2YD Double Clevis (mm)
o e
h%if igstr;ole H10 32 5)51,0156% ;g ig sg 80 |43 |70 | 10| 5 | 14
— s i e R P
cu 50 ;%‘jgg 190%55 gg'g ;2'2 100.550.5|865| 14 | 7 | 20
L B + Stroke |CW| | RR - = = = =

Cki z'tf:;‘:: B‘z;ﬁnﬁ')ze S""(krﬁrﬁnge cw|cx|cz| L | Lt N RR

32 75511‘)1%% 20 |18 | 36 | 7 |285| M6x1.0 | 10

40 75;"1%% 22 |18 | 36 | 7 |285| M6x1.0 | 10

50 17?‘1(‘;’00 28 [ 22| 44 | 8 |335|M8x1.25] 14

Double clevis bracket material: Cast iron
Surface treatment: Painted
= For details about the rod end nut and accessory brackets, refer to page 244.
= A double clevis pin and retaining rings are included.

240

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Smooth Cylinder CQ2Y series

Bore Size
63 t 1 00 (Types with auto switch and without auto switch only differ
Q o g in the A and B dimensions. Refer to the table below.)
Through-hole: CQ2YB/CDQ2YB Both ends tapped: CQ2YA/CDQ2YA
Oithread _ R R Both Ends Tapped (mm)
Bore size
o R
\ ] \ ] (mm) ' REA
I I I ] 63 M10x15 | 18
] 80 M12x1.75| 22 REB
W 100 M12x1.75| 22
REC
_2xP(Re, NPT, G) Lead wire min. bending radius 10 m
(Port size)
H thread effective depth € 4 x gN through Auto switch
8 x 90 counterbore Q F_ Low
Speed
Ma
B = s =]
RHC
Toa o BE a RHC_
E g RZ0
i =
L B + Stroke
A + Stroke

With boss on head end

With Boss on Head End (mm)

Bore size The
 S— — ] (mm)
63 35_0.062
Van Vs 2 80 43500
| [ 100 590,074
o T
2
Male rod end
Width across flats B1
MM
7v Male Rod End (mm)
/ N Bore size
jA \\ \ (mm) B1 | C1 | Hi | L1 MM X
63 27 |26 11 |33.5| M18x 1.5 |28.5
80 32 |32.5| 13 |435| M22x 1.5 |35.5
100 41 |325| 16 |43.5| M26x 1.5 |35.5
H1
C1
X
L1
(mm)
Bore size | Stroke range | Withoutauto switch | With auto switch
(mm) (mm) A B A B C D E F H J K L M N o P Q| w |z
10 to 50 54 | 46
63 64 | 56 | 15 | 20 | 77 (105 M10x15| 7 17| 8 | 60 | 9 |14depth105| 1/4 | 15 | 84 | 19

75,100 64 | 56

10 to 50 63.5|53.5
80 735(635| 21 | 25 | 98 |125 M16x2.0| 6 | 22 | 10 | 77 | 1
75, 100 73.5|63.5

17.5depth 135| 3/8 | 16 | 104 | 25 D-O0

100 101080 |75 1 63 | g5 | 75 | 57 | 30 | 117| 13 |M20x25| 65| 27 | 12 | 94 | 11 |175deptn135| 318 | 23 |1285| 25
75,100 | 85 | 73 S St ' -XO

241 ®

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



CQ2Y series

Bore Size

263 to o100

(Types with auto switch and without auto switch only differ
in the A and B dimensions. Refer to the table below.)

Foot: CQ2YL/CDQ2YL Foot (mm)
L B + Stroke Bore size | Stroke range | Without auto switch | With auto switch L ||
(mm) (mm) A B |[LS| A B | LS
i i 10 to 50 72.2| 46 | 20
63 75, 100 8201 56 | 30 822| 56 | 30 | 18 [43.,5]| 11
> & Special cap bolt 10t050 | 85 |53.5]235
a
) ' 80 75, 100 95 1635335 95 163.5/33.5| 20 |53.5| 13
fa= =t “'_é rtn: 100 17(:0158 19088 sg ig 108 | 73 | 39 | 22 |53.5| 13
LX \4 x LD XY-I? Y|X|| LG -
LZ LS + Stroke Bore size | Stroke range WG tH| T lwx |yl izl x Y
A + Stroke (mm) (mm)
10 to 50
63 75, 100 5 |46 | 32| 95 (915113162 9
10 to 50
80 75,100 7 | 59 | 45 118 | 114 | 140 [19.5| 11
E* 100 101050 7 71 6 |[137 (136|162 | 23 [125
= 75, 100
Foot bracket material: Carbon steel
Surface treatment: Nickel plating
Compact foot: CQ2YLC/CDQ2YLC Compact Foot (mm)
A + Stroke Bore size | Stroke range | Without auto switch | With auto switch Ll lw
B + Stroke (mm) (mm) A|BJLS|A[B]|LS
. .\ 10 to 50 100.4) 46 |82.4
i e 63 75,100 110.4] 56 |92.4 110.4| 56 |92.4| 18 [43.5| 11
X 10to 50  |120.5/53.5|98.5
Special cap bolt 80 75, 100 1305 635 108.5130'5 63.5(108.5 20 [53.5| 13
= 10 to 50 136 | 63 | 111
0 100 75, 100 146 73 | 121 146 | 73 | 121 | 22 |53.5| 13
Bore size | Stroke range
x|y ) o] LH|LT|LX|LY |LZ| X | Y
LS + Stroke 10 to 50
Wl g ; 63 75, 100 46 | 3.2 | 60 |915| 77 |18.2| 9
ale rod en T 1010 50
% 80 75,100 59 | 45| 77 |114| 98 |225| 11
10 to 50
% 100 75, 100 71| 6 | 94 (136|117 | 24 |125
.:j Compact foot bracket material: Carbon steel
L1 Surface treatment: Zinc chromated
Rod flange: CQ2YF/CDQ2YF Rod Flange mm)
Special cap bolt Bore size | Stroke range | Wihoutautoswich | With auto switch
(mm) (mm) A B A B FD | FT |FV |FX | FZ
! ! 10 to 50 64 | 46
63 75, 100 74 | 56 74 | 56 | 9 | 9 |80|92|108
10 to 50 73.5|53.5
I 80 75, 100 835635 83.5(63.5| 11 | 11|99 (116|134
FT 100 17?(:33 gg sg 95 | 73 | 11|11 |117|136|154
L B + Stroke -
A + Strok Bore size | Stroke range
+ Stroke (mm) (mm) L L1 M
10 to 50
63 75, 100 18 |43.5| 60
10 to 50
80 75, 100 20 [53.5| 77
10 to 50
100 75,100 22 |535| 94

242

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

Flange bracket material: Carbon steel
Surface treatment: Nickel plating

* For details about the rod end nut and accessory brackets, refer to page 244.



Bore Size

263 to o100

Head flange: CQ2YG/CDQ2YG

Special cap bolt

T
FV
M

TS

L || B+sStoke | | FT EX 4x0oFD
A + Stroke Fz

Double clevis: CQ2YD/CDQ2YD
4xN

Cap bolt
cT oCD hole H10

[l

¢
[

L | | B + Stroke |CW
CL + Stroke
A + Stroke

Smooth Cylinder CQ?2Y series

(Types with auto switch and without auto switch only differ
in the A and B dimensions. Refer to the table below.)

Head Flange (mm)
Bore size | Stroke range | Withoutauto switch | With auto switch Ll
(mm) (mm) A A
10 to 50 63
63 75. 100 73 73 8 [335
10 to 50 74.5
80 75, 100 845 84.5 10 | 43.5
10 to 50 86
100 75, 100 % 96 12 1435

Flange bracket material: Carbon steel
Surface treatment: Nickel plating
(+ Dimensions except A, L and L1 are the same as rod flange type.)

Double Clevis mm)
Bo(:ﬁmsgze Stro(kn?r;e;nge W:houtasutoswgtl:-h W/I\th auga swchh cpbleTlcu
63 17%}‘:38 1%88 ‘5‘2 gj 108| 56 | 94 |14 |8 |20
[ ualotg o[yl o
100 17(;’“;;8 1‘5‘2 ?2 128 152 | 73 | 130 |22 | 13 | 31
Bo(r:"zi)ze Stro(knt?r:]a)nge cwlex|ez| L | L N RR
63 17‘;"‘15’8 30 (22|44 | 8 [335M10x1.5] 14
80 17(;’"1;8 38 |28 |56 | 10 [435M12x1.75| 18
100 ;gf‘:gg 45 |32 |64 | 12 435 M12x1.75| 22

Double clevis bracket material: Cast iron

Surface treatment: Painted

+ For details about the rod end nut and accessory brackets, refer to page 244.
+ A double clevis pin and retaining rings are included.

243

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

|| N
m|m
™| =

= |5 -]
= m
o\ o

D (| =
N ([ X
oo



CQ2Y series

Dimensions of Accessories

Single Knuckle Joint

For I-G012, I-Z015A For I-G04, I-G05

1-G02, I-G03 -G08, I-G10
MM ONDH10 MM o NDH10
o

Ei

Material: Cast iron
Surface treatment: Nickel plating

Material: Carbon steel
Surface treatment: Nickel plating

Double Knuckle Joint

For Y-G012, Y-Z015A For Y-G04, Y-G05

Y-G02, Y-GO03 Y-Go08, Y-G10
oND hole H10 oND hole H10
/M MM / Axisd9 |
/ o l
“"’D# mI { N -,
Al U Al Uw} LM_
L - =
& A

Material: Cast iron
Surface treatment: Nickel plating

Material: Carbon steel
Surface treatment: Nickel plating

(mm) (mm)
Applicable Applicable Applicable

Part no. |boresize| A | Ar | Ei | L1 MM | ®Ri| Ui | NDhio NX Part no. |boresize| A | Ai[E1|Li| MM |*Ri| Ui |NDuio| NX [NZ|L| pin
(mm) (mm) part no.
1-G04 |32,40| 42 | 14 |022| 30 |M14x15| 12 | 14 | 103 | 1853 Y-GO04 |32,40|42 | 16 |022| 30 | M14x15 | 12| 14 | 10°° | 18235 |36|45| IY-GO4
1-GO5 |50,63| 56 | 18 | 28| 40 |M18x15| 16 | 20 | 14:8°° | 2243 Y-GO5 |50, 63| 56 | 20 |028| 40 | M18x 15 | 16 | 20 | 1478°™ | 22:35 |44|505| IY-GO5
-G08 | 80 | 71 | 21 |@38| 50 |M22x15]| 21 | 27 | 18%5°° | 28753 Y-GO8 | 80 |71]23o%8| 50 | M22x15 ] 21 |27 1837 | 28133 |56]64] 1V-G08
I-G10 | 100 | 79 | 21 |@44| 55 |M26x15| 24 | 31 | 22'6** | 327638 Y-G10 | 100 |79 | 24 |od4] 55 | M26x 15 | 24 | 31 ] 228™ | 32183 |64]72] IV-G10

Knuckle Pin (Common with double clevis pin)

* A knuckle pin and retaining rings are included.

Rod End Nut

o°|B
Si%

m Lt m
N
t S S W

Material: Carbon steel

H LB‘

Material: Carbon steel
Surface material: Nickel plating

(mm) (mm)
Part no. ‘E’é:?r:efilz"ee DO | L |d|L|m|t réisﬂilr?gbrliﬁg Part no. Apgi"zft’r'ﬁr:)"'e d H B c
IY-G04 | 32,40 | 10388 |415]9.6|362] 1,55 1.15| Type C 10 for axis NT-04 32,40 Miax15 | 8 22 | 254
1Y-G05 | 50,63 | 1438|506 134] 442|205 1.15| Type C 14 foraxis NT-05 50,63 MiBx1.5 | 11 27 | 312
1Y-Gos | _ 80 18338 | 64 | 17 562 255 1.35 | Type C 18 foraxis NT-08 80 M22x15 | 13 32 | 370
IY-G10 | 100 | 223% | 72 | 21 642|255 1.35| Type C22foraxis NT-10 100 M26x1.5 | 16 41 | 473

* Type C retaining rings for axis are included.

Mounting Brackets, Rod End Brackets, and Nut Material: Stainless Steel

Part No. (Dimensions: Same as standard type)

Bore size (mm) | Single knuckle joint | Double knuckle joint* Rod end nut
25 1-G04SUS Y-G04SUS NT-G04SUS
:g 1-GO5SUS Y-G05SUS NT-05SUS
80 1-G08SUS Y-G08SUS NT-08SUS
100 I-G10SUS Y-G10SUS NT-10SUS

* A knuckle pin and retaining rings are shipped together. Refer to the
XC27 for details on stainless steel double clevis pins and double knuckle
pins. The accessories need to be ordered separately from the cylinder.

® 244

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Dimensions of Accessories CQZY Series

Simple Joint: 32 to 100

Type A Mounting Bracket

U T4 2xoD
"
) 5 H { REA
\ |
| = REB
¢ el - ==
— Ry

Joint

Joint and Mounting Bracket
(Type A, Type B) Part No.

i
wt
[m

Material: Chromium molybdenum steel (Nickel plating) RHC
—[03 | — (mm)
Partno.°9®%?¢| B | D | E | F | M T T
(mm) ' *  |RzQ
Applicable air cylinder bore YA-03 | 32,40 | 18 |68 | 16 | 6 | 42 6.5 10
. 03 For 032, 040 YA-05| 50,63 | 20 | 9 | 20 | 8 | 50 6.5 12
Mounting bracket 058 For 050, 663 YA-08| 80 |26|11|25|10|62]| 85 16
YA | Type A mounting bracket 08 For 280 i .
YB | Type B mounting bracket 10 For 2100 YA-10 100 3114130 |12 |76 10.5 18
Xy Joint Bore size
Part no. (mm) u Vv W | Weight (g)
. YA-03 | 32,40 6 18 | 56 55
Allowable Eccentricity (mm) sl am@ll e @l @ s
Bore size 032 | 040 | 050 | 063 | 080 | 0100 vaos| 80 |10 28 (3| 198
Eccentricity tolerance +1 +1.5 | +2 YA-10 100 12 | 36 | 100 340
Backlash 0.5
<Ordering>
« Joints are not included with the A or B type mounting brackets.
Order them separately. Type B Mounting Bracket
(Example)
Bore size 40 Part no.
* Type A mounting bracket part ni ‘YA-03 —
* Joini -YU-03
Joint and Mounting Bracket (Type A, Type B) Part No. - T RS
- - I Lz
i Applicable mounting bracket ~ ] v
Boressize [ i part no. B0 J - > '_i Ty S &F\gﬂ}/ ==
(mm) Type A mounting bracket | Type B mounting bracket = S
32,40 YU-03 YA-03 YB-03 j \dJoint §
50, 63 YU-05 YA-05 YB-05 —
80 YU-08 YA-08 YB-08 T:a 2 x oD through
100 YU-10 YA-10 YB-10 .~ 2 x 00 counterbore |
E
=
£ & H Material: Stainless steel
§ § (With locking) (mm)
<8 -
B ~ Part no. B‘:'nfrﬁ')ze B|D|E|J|m 00
° —— - °
° EN °© YB03| 32,40 |12 | 7 | 25| 9 | 34 11.5 depth 7.5
YB-05 | 50, 63 12 9 32 | 11| 42 14.5 depth 8.5
url L vBo8| 8 |16 11|38 13]52 18 depth 12
UA |.C YB-10 100 19 | 14 | 50 | 17 | 62 21 depth 14
Material: Chromium molybdenum steel (Nickel plating) -
Anplicable b Weight Bore size q
Part no. PRI (rﬁm;”e UA|C | di |de H K|L|ur|"& Partno.| =) T T V | W | RS | Weight (g)
YU-03 32, 40 17 (11 |158| 14| M8x125| 8 | 7 | 6 | 25 YB-03 | 32,40 6.5 10 18 | 50 9 80
YU-05 50, 63 1713|198/ 18| M10x15| 10| 7 | 6 | 40 YB-05 | 50,63 6.5 12 22 | 60 | 11 120 D-|:|
YU-08 80 22|20(248|23| M16x2 | 13| 9 | 8 | 90 YB-08 80 8.5 16 28 | 75 | 14 230
YU-10 100 26|26 (298| 28| M20x25| 14 | 11 | 10 | 160 YB-10 100 10.5 18 36 | 90 | 18 455 'XI:I
245

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



CQ2Y Sseries
Auto Switch Mounting

Auto Switch Proper Mounting Position (Detection at stroke end) and lts Mounting Height

D-M9C1 232 to 0100 A B
D-M9COIW
D-M9CIA ‘ :
D-A9CV " OK\ i
D-MoCIV () G G
D-M9CIWV X % L e
D-M9UIAV : :
D-A90J
D-A70 D-F7NT 232 to 100
D-A80 D-A73C 1T
D-A70H  D-A80C @v«fﬂw@
D-A80H D-J79C VAN
D-F70] D-A79W & %
D-J79 D-F7O0WV ) Q% %9
D-F7O0W D-F700V ! T T
<0
D-J79W | A Eﬁﬁl B
D-F79F
D-P3DWA 232 to 100
=U AL aﬁﬁ
‘ |
k / =r T oo
7 ) —
S I Ay
Auto Switch Proper Mounting Position (mm)
Auto switch| D-M9CI/D-MOCIV D-A72/A7CH/A80H
model | D-MOCIW D-A9C] D-A73 D-A73C/A80C/F70]
D-M9OIWV D-ASCIV D-AS0 D-F79F/J79/F70IV D-F7NT D-A79W D-P3DWA
D-M9UIA D-J79C/F70W
D-M9JAV D-J79W/F7T0WV
Bore size A B A B A B A B A B A B A B
32 18 13 14 9 15 10 15.5 10.5 20.5 15.5 125 75 135 85
40 215 16 175 12 185 13 19 13.5 24 18.5 16 10.5 17 1.5
50 19 19.5 15 15.5 16 16.5 16.5 17 215 22 13.5 14 14.5 15
63 21.5 225 175 18.5 185 19.5 19 20 24 25 16 17 17 18
80 24.5 27 205 23 215 24 22 24.5 27 29.5 19 215 20 225
100 27.5 335 235 29.5 245 30.5 25 31 30 36 22 28 23 29
Note) Adjust the auto switch after confirming the operating condition in the actual setting.
Auto Switch Mounting Height (mm)
Auto switch D-F700J79
model D-F7TOWN79W
D-M9OV | D-A9CV |D-F7BA bWy | Dp-7sc DyAT DATSC | D-a7ow | D-P3DWA
D-F79F/F7NT | “~ - g
D-A7C1H/A80H
Bore size u u u u u u u u u
32 30 27.5 36 36.5 39.5 34 40.5 37.5 355
40 32 30 38 40 425 375 435 40.5 38
50 375 35 435 45 48 43 49 46 43
63 425 40.5 485 50.5 535 48 54.5 51.5 48
80 51 49 57 59 61.5 56.5 62.5 59.5 56.5
100 59 57 65.5 67 70 64.5 71 68 65
246

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com



Minimum Stroke for Auto Switch Mounting

Auto Switch Mounting CQZY Series

(mm)

D-A9CIV

Number of | D-MOOV | D-A70] D-MOUWV| D-MID | oo | poao DT

awo | D-F7OV | D-AB0 | D-A9C |D-M9DAV | D-F7D | DVSCW | D-ATEM | p.azew | DJ7W | p-papwa
swiches | D-J79C | D-A73C D-F7OWV | D-J79 il

D-AB0C

With 1 pc. 5 5 10 (5) 10 15 (5) 15 (10) 15 (5) 15 20 (10) 15

With 2 pes. 5 10 10 15 15 (5) 15 15 (10) 20 20 (15) 15

Note) The dimensions stated in () shows the minimum stroke for the auto switch mounting when the auto switch does not project from the end surface of the cylinder
body and hinder the lead wire bending space. (Refer to the figure below.)

Order auto switches and auto switch mounting brackets separately.

—

FarY
A

iy
<

— ]

Operating Range

(mm)
Auto switch model Borelsize
32 40 50 63 80 100

D-M9CI(V)

D-M9TIW(V) 5 5 6 6.5 7 7.5
D-M9IA(V)

D-A9C1(V) 9 9.5 95 | 11 105 | 105
D-A7C(H)(C)

D-A80C](H)(C) 10.5 115 11 13 115 11.5
D-A79W 14 15.5 145 17 15 15.5
D-F700(V)

D-J79(C)

D-F700W(V) 5 5 5 6 7 8
D-F7NT

D-F79F

D-P3DWA 6 6 7 75 7.5 7.5

* Values which include hysteresis are for guideline purposes only, they are not
a guarantee (assuming approximately +30% dispersion) and may change
substantially depending on the ambient environment.

* The auto switch mounting bracket BQ2-012 is not used for @32 or more with
the D-M9CI(V)/MOCIW(V)/MIDIA(V)/A901(V) types. The above values indicate
the operating range when mounted with the current auto switch installation

groove.

247

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

)
m
>

=)
m
(=~}

REC

= (g
S|E=

D (| =
N ([ X
oo



CQ2Y series

Auto Switch Mounting Brackets/Part No.

Applicable Cylinder Series: CDQ2

bracket part no.

D-M9C/MOCIV D-F7CYF70IV/I79/J79C/F7IW
Applicable D-M9CIW/MOCIWV J79W/F7CJWV/D-F7BA/F7BAV D-P3DWA
auto switch D-M9CJA/MSIAV F79F/F7NT/D-A7C)/A80/A7CIH
D-A9CVA9LIV A80H/A73C/A80C/A79W
Bore size (mm) 23210 0100
Auto switch mounting _ BQ5-032 _

® Auto switch fixing screw (M2.5 x 10 L)
® Auto switch mounting screw (M3 x 8 L)
® Auto switch spacer

® Auto switch mounting nut

mounting surface

Auto switch Weight: 3.5 g
mounting bracket _ _
fitting parts When requesting the enclosure of the auto
lineup/Weight switch mounting brackets (2 pcs.)
with the cylinder for shipment, add “-BQ” to
the end of the cylinder model number.
Standard model no. + BQ
Example) CDQ2B32-30DZ-BQ
Surfaces with auto switch mounting slot A/B/C side except port side Surfaces with auto switch mounting slot
Port side
Auto switch

Mounting of
auto switch

Auto switch
mounting screw

Auto switch

©® When tightening the auto switch mounting screw,
use a watchmakers' screwdriver with a handle 5 to
6 mm in diameter.

Tightening torque for auto

switch mounting screw (N-m)
Auto switch model Tightening torque

D-M9LCI(V)

D-M9CIW(V) 0.05100.15

D-M9CIA(V)

D-A9C](V) 0.10100.20

(insert the nut into the auto switch mounting
slot on the cylinder tube, and place it in the
roughly estimated setting position.

(@With the lower tapered part of the auto switch
spacer facing the outside of the cylinder tube,
line up the M2.5 through hole with the M2.5
female thread of the auto switch mounting nut.

(3Gently screw the auto switch mounting nut
fixing screw (M2.5) into the thread of the auto
switch mounting nut through the mounting hole.

(®Engage the ridge on the auto switch mounting
arm with the recess in the auto switch spacer.

(®Tighten the auto switch mounting screw (M3)
to fix the auto switch. The tightening torque of
the M3 screw must be 0.35 to 0.45 N-m.

(®Confirm where the mounting position is, and
tighten the auto switch fixing screw (M2.5) to
fix the auto switch mounting nut. The
tightening torque of the M2.5 screw must be
0.25t0 0.35 N-m.

(DThe detection position can be changed under
the conditions in step (5).

Auto switch mounting screw
(M3x05x8L)

Auto switch

Auto switch fixing screw
(M2.5x0.45x 10 L)

Auto switch spacer

/\ "\ Auto switch mounting nut

(Dinsert the mounting bracket into the mating
groove of the cylinder tube.

(2Check the detecting position of the auto switch
and fix the auto switch firmly with the hexagon
socket head cap screw (M2.5 x 12L).*

(3lf the detecting position is changed, go back to
step (0.

Note 1) Ensure that the auto switch is covered
with the mating groove to protect the
auto switch.

Note 2) The tightening torque for the hexagon

socket head cap screw (M2.5 x 12L) is

0.2t0 0.3 N-m.

Hexagon socket head cap screw
(Included with auto switch) (M2.5 x 12 L)

Note) Auto switch mounting bracket and auto switch are enclosed with the cylinder for shipment.
The auto switch mounting bracket for the D-F7BA(V) type uses the BQ5-032 with the normal specifications (iron screw).

248

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com




Auto Switch Mounting CQZY Series

Other than the applicable auto switches listed in “How to Order”, the following auto switches are mountable.
Refer to pages 941 to 1067 for the detailed specifications.

+ With pre-wired connector is also available for solid state auto switches. For details, refer to pages 1014 and 1015.
Normally closed (NC = b contact) solid state auto switches (D-F9G/F9H) are also available. For details, refer to page 959.
# Trimmer auto switch (D-F7K) and heat resistant solid state auto switch (D-F7NJ) are not available.

r

1

1

1

1 Type Model Electrical entry Features Applicable bore size

1 D-A72 —

1 D-A73 ) —

! D-A80 Grommet (Perpendicular) Without indicator light

: D-A79W Diagnostic indication (2-color indicator)
Reed D-A73C . -

: D-A80C Connector (Perpendicular) Without indicator light

1 D-A72H —

1 D-A73H/A76H Grommet (In-line) —

: D-A80H Without indicator light 232 t0 3100

1 D-F7NV/F7PV/F7BV —

1 D-F7NWV/F7BWV Grommet (Perpendicular) | Diagnostic indication (2-color indicator)

1 D-F7BAV Water resistant (2-color indicator)

1 D-J79C Connector (Perpendicular) —

1 Solid state D-F79/F7P/J79 —

! D-F79W/F7PW/J79W Diagnostic indication (2-color indicator)

: D-F7BA Grommet (In-line) Water resistant (2-color indicator)

1 D-F79F With diagnostic output (2-color indicator)

1 D-F7NT With timer

1

1

1

=

249

Courtesy of Steven Engineering, Inc - (800) 258-9200 - sales@steveneng.com - www.stevenengineering.com

)
m
>

0 (| ]
m|m
[ il

=1
S|E=

D (| =
N ([ X
oo



	Smooth/Low Speed Cylinders: C*Y/C*X Series
	Features
	Pg. 2
	Pg 3
	Pg. 4

	Smooth Cylinders
	How to Order CJ2Y Double Acting, Single Rod, Smooth Cylinder
	Specifications, Standard Strokes, Made to Order
	Precautions, Weights
	Dimensions
	Pg. 2
	Pg. 3
	Pg. 4

	Dimensions of Accessories
	Pg. 2

	Precautions
	Auto Switch Mounting
	Pg. 2
	Pg. 3
	Pg. 4
	Pg. 5
	Pg. 6


	How to Order CM2Y Smooth Cylinder
	Specifications, Standard Strokes, Made to Order
	Weights, Precautions, X1854
	Dimensions
	Pg. 2
	Pg. 3
	Pg. 4
	Pg. 5
	Pg. 6
	Pg. 7

	Dimensions of Accessories
	Pg. 2
	Pg. 3

	Auto Switch Mounting
	Pg. 2
	Pg. 3
	Pg. 4


	How to Order CG1Y Smooth Cylinder
	Specifications, Standard Strokes
	Mounting Bracket, Weights, Precautions
	Dimensions
	Pg. 2
	Pg. 3

	Dimensions of Accessories
	Pg. 2

	Auto Switch Mounting
	Pg. 2
	Pg. 3
	Pg. 4


	How to Order MBY Smooth Cylinder
	Specifications, Standard Strokes
	Ordering Example, Weights
	Dimensions
	Pg. 2
	Pg. 3
	Pg. 4
	Pg. 5
	Pg. 6

	Auto Switch Mounting
	Pg. 2
	Pg. 3
	Pg. 4
	Pg. 5
	Pg. 6


	How to Order CA2Y Smooth Cylinder
	Specifications, Standard Strokes, Made to Order
	Ordering Examples, Weight
	Dimensions
	Pg. 2
	Pg. 3
	Pg. 4
	Pg. 5

	Dimensions of Accessories
	Auto Switch Mounting
	Pg. 2
	Pg. 3
	Pg. 4
	Pg. 5


	How to Order CS2Y Smooth Cylinder
	Specifications, Max. Strokes, Accessories, Made to Order
	Rod Boot Material, Weights, Sliding Resistance
	Cylinder Size and Maximum Stroke
	Construction
	Dimensions
	Pg. 2
	Pg. 3
	Pg. 4

	Dimensions of Accessories
	Auto Switch Mounting
	Pg. 2
	Pg. 3


	How to Order CQSY Smooth Cylinder
	Specifications, Theoretical Output
	Weight, Mounting Bolt
	Dimensions
	Pg. 2
	Pg. 3

	Auto Switch Mounting
	Operating Range, Precautions

	How to Order CQ2Y Smooth Cylinder
	Specifications, Theoretical Output
	Weights
	Mounting Bolt
	Pg. 2

	Dimensions
	Pg. 2
	Pg. 3
	Pg. 4
	Pg. 5
	Pg. 6

	Dimensions of Accessories
	Pg. 2

	Auto Switch Mounting
	Pg. 2
	Pg. 3
	Pg. 4







